UNITED STATES DEPARTMENT OF AGRICULTURE
Rural Electrification Administration

PR

May 9, 1983
REA Bulletin 50-3 (D-804)

SUBJECT: Specifications and Drawings for 12.5/7.2 kV Line Construction

I. Purpose: To announce the issuance of REA Standard D-804,
Specifications and Drawings for 12.5/7.2 kV Line Construction.

11. General: REA has revised REA Form 804, Specifications and Drawings
for 7.2/12.5 kV Line Construction (August 1962), and it has been
- renamed REA Standard D-804, Specifications and Drawings for
12.5/7.2 kV Line Construction,

Changes include the addition of post insulator drawings and the
correction of minor errors. Some drawings were revised for
conformance with the latest edition of the National Electrical Safety
Code.

[
T 3dex Vam Mark

Acting Administratey

Index:
SPECIFICATIONS AND STANDARDS
Construction Specifications-and Drawings - Bul. 50-3 (Standard D-804)
Drawings - Bul. 50-3 (Standard D-804)

For sale by the Superintendent of Documents. U.K. Government Printing Office
Washingron, D.C. 20402



SPECIFICATIONS FOR CONSTRUCTION

General

All construction work shall be done in accordance with the staking
sheets, plans and specifications, and the construction drawings.

The 1981 or latest edition of the Natiomal Electrical Safety Code
(NESC), ANS1 C2, shall be followed except where local regulations

are more stringent, in which case local regulations shall govern.

Distribution of Poles

In distributing the poles, large, choice, dense poles shall be used
at transformer, dead-end, angle, and cormer locationms.

Pole Setting

The minimum depth for setting poles shall be as follows:

Length of Setting in Setting in All
Pole(Feet) Soil(Feet) Solid Rock(Feet)

20 4.0 3.0

25 5.0 3.5

30 5.5 3.5

35 6.0 4.0

40 6.0 4.0

45 6.5 4.5

50 7.0 4.5

55 7.5 5.0

60 8.0 5.0

"Setting in Soil" depths shall apply:
a. Where poles are to be set in sotl.

b. Where there is a layer of soil of more than two (2) feet in
depth over solid rock.

c. Where the hole in solid rock is not substantially vertical or
the diameter of the hole at the surface of the rock exceeds
approximately twice the diameter of the pole at the same level.

"Setting in All Solid Rock" depths shall apply where poles are to be
set in solid rock and where the hole is substantially vertical,
approximately uniform in diameter and large enough to permit the use
of tamping bars the full depth of the hole.



Where there is a layer of soil two (2) feet or less in depth over
solid rock, the depth of the hole shall be the depth of the soil

in addition to the depth specified under '"Setting in All Solid
Rock'" provided, however, that such depth shall not exceed the depth
specified under "Setting in Soil."

On sloping ground, the depth of the hole shall be measured from the
low side of the hole.

Poles shall be set so that alternate crossarm gains face in opposite
directions, except at terminals and dead ends where the gains of the
last two (2) poles shall be on the side facing the terminal or

dead end. On unusually long spans, the poles shall be set so that the
crossarm is located on the side of the pole away from the long span.
Where pole top insulator brackets or pole top pins are used, they
shall be located on the opposite side of the pole from the gain.

Poles shall be set in alignment and plumb, except at corners,
terminals, angles, junctions, or other points of strain, where they
shall be set and raked against the strain so that the conductors are
in line.

Poles shall be raked against the conductor strain not less than
1-inch for each 10 feet of pole length nor more than 2 inches for
each 10 feet of pole length after conductors are installed at the
required tension.

Pole backfill shall be thoroughly tamped in full depth. Excess dirt
shall be banked around the pole.

Poles which have been in storage for more tham 1 year from the date
of treatment shall be ground line treated when installed.

Grading of Line

When using high poles to clear obstacles such as buildings, foreign
wire crossings, railroads, etc., there shall be no upstrain on
pin-type or post-type insulators in grading the line each way to
lower poles.

Guys and Anchors

Guys shall be placed before the conductors are strung and shall be
attached to the pole as shown in the construction drawings.

All anchors and rods shall be in line with the strain and shall be
installed so that approximately 6 inches of the rod remain out of the
ground. In cultivated fields or other locations, as deemed :
necessary, the projection of the anchor rod above earth may be
increased to a maximum of 12 inches to prevent burial of the rod

eye. The backfill of all anchor holes must be thoroughly tamped the
full depth.

g

g



N

After a cone anchor has been set in place, the hole shall be
backfilled with coarse crushed rock for 2 feet above the anchor
tamping during the filling. The remainder of the hole shall be
backfilled and tamped with dirt.

Locknuts

A locknut shall be installed with each nut, eyenut or other fastener
on all bolts or threaded hardware such as insulator pins and studs,
upset bolts, double arming bolts, etc. H

Conductors

Conductors must be handled with care. Conductors shall neither be
trampled on nor run over by vehicles. Each reel shall be examined
and the wire shall be inspected for cuts, kinks, or other injuries.
Injured portions shall be cut out and the conductor spliced. The
conductors shall be pulled over suitable rollers or stringing blocks
properly mounted on the pole or crossarm if necessary to prevent
binding while stringing.

The neutral conductor should be maintained on one side of the pole
(preferably the road side) for tangent construction and for angles
not exceeding 20°

With pin-type or post-type insulators, the conductors shall be tied
in the top groove of the insulator on tangent poles and on the side
of the insulator away from the strain at angles. Pin-type and
post-type insulators shall be tight on the pins and brackets,
respectively, and the top groove must be in line with the conductor
after tying.

For line angles of 0° to 5° in locations known to be subject to
considerable conductor vibration, insulated brackets (material
item da) may be substituted for the single and double upset bolts
used for supporting the neutral and secondary conductors.

All conductors shall be cleaned thoroughly by wirebrushing before
splicing or installing connectors or clamps. A suitable inhibitor
shall be used before splicing or applying connectors over aluminum
conductor.

Splices and Dead Ends

Conductors shall be spliced and dead-ended as shown on the
construction drawings. There shall be not more than one splice per
conductor in any span and splices shall be located at least 10 feet
from the conductor support. No splices shall be located in Grade B
crossing spans and preferably not in the adjacent spans. Splices
shall be installed in accordance with the manufacturer's
recommendations.



10.

11.

12,

13.

Taps and Jumpers

Jumpers and other leads connected to line conductors shall have
sufficient slack to allow free movement of the conductors. Where
slack is not shown on the construction drawings, it will be provided
by at least two (2) bends in a vertical plane, or one (1) in a
horizontal plane, or the equivalent. In areas where aeolian
vibration occurs, special measures to minimize the effects of

jumper breaks shall be used as specified.

All leads on equipment such as transformers, reclosers, etc., shall
be a minimum of #6 copper conductivity. Where aluminum jumpers are
used, a connection to an unplated bronze terminal shall be made by
splicing a short stub of copper to the aluminum jumper using a
compression connector suitable for the bimetallic connection.

Hot-Line Clamps and Connectors

Connectors and hot-line clamps suitable for the purpose shall be
installed as shown on the guide drawings. On all hot-line clamp
installations, the clamp and jumper shall be installed so that they
are permanently bonded to the load side of the line, allowing the
jumper to be de-energized when the clamp is disconnected.

Surge Arrester Gap Settings

The external gap electrodes of surge arresters, combination
arrester cutout units, and transformer mounted arresters shall be
adjusted to the manufacturer's recommended spacing. Care shall be
taken that the adjusted gap is not disturbed when the equipment is
installed.

Conductor Ties

Hand-formed ties shall be in accordance with construction drawings.
Factory-formed ties shall be installed in accordance with the
manufacturer's recommendations.

Sagging of Conductors

Conductors shall be sagged in accordance with the conductor
manufacturer's recommendations. All conductors shall be sagged
evenly. The air temperature at the time and place of sagging shall
be determined by a certified thermometer.

The sag of all conductors after stringing shall be in accordance
with the engineer's instructions.



14,

15.

16.

Secondaries and Service Drops

Secondary conductors may be bare or covered wires or multi-conductor
service cable. The conductors shall be sagged in accordance with the
manufacturer's recommendations.

Conductors for secondary underbuild on primary lines will normally
be bare, except in those instances where prevailing conditions may
limit primary span lengths to the extent that covered wires or
service cables may be used. Service drops shall be covered wire or
service cable.

Secondaries and service drops shall be so installed as not to obstruct
climbing space. There shall not be more than one splice per conductor
in any span, and splices shall be located at least 10 feet from the
conductor support. Where the same covered conductors or service
cables are to be used for the secondary and service drop, they may

be installed in one continuous run.

Grounds

Ground rods shall be driven full length in undisturbed earth in
accordance with the construction drawings. The top shall be at

least 12 inches below the surface of the earth. The ground wire
shall be attached to the rod with a clamp and shall be secured to the
pole with staples. The staples on the ground wire shall be spaced 2
feet apart, except for a distance of 8 feet above the ground and 8
feet down from the top of the pole where they shall be 6 inches
apart.

All equipment shall have at least two (2) connections from the frame,
case or tank to the multi-grounded neutral conductor.

The equipment ground, neutral wires, and surge- protection equipment
shall be interconnected and attached to a common ground wire.

Clearing Right-of-Way

The right-of-way shall be prepared by removing trees, clearing
underbrush, and trimming trees so that the right-of-way is cleared
close to the ground and is the width specified, except that low
growing shrubs which will not interfere with the operation or
maintenance of the line shall be left undisturbed if so directed by
the owner. Slash may be chipped and blown on the right-of-way. The
landowner's written permission shall be received prior to cutting
trees outside the right-of-way. Trees fronting each side of the
right-of-way shall be trimmed symmetrically unless otherwise
specified. Dead trees beyond the right-of-way which would strike
the line in falling shall be removed. Leaning trees beyond the
right -of-way, which would strike the line in falling and which would
require topping if not removed, shall either be removed or topped,
except that shade, fruit, or ornamental trees shall be trimmed and
not removed, unless otherwise authorized.



17.

Structures Exceeding 200 Feet in Height and Structures in the

Vicinity of Airports

The Federal Aviation Administration (FAA) requires (14 CFR 77) that
in cases where structures or conductors will exceed a height of
200 feet, or are within 20,000 feet of an airport, the nearest
regional or area office of the FAA be contacted and FAA

Form 7460-1 be filed if necessary.

.



Single-Phase:

Al, AlA
Al-1, Al-lA
A2

A3

A4

A5

A5-1, A5-2, A5-2A

A5-3, A5-4
A6

A7, A7-]
A8

A9

A9-1

A22

Two-Phase:

Bl, BIA
Bl-1, Bl-1A
B2

B3, B3A
B4-1, B4-1A
B5-1, B5-1A
B7, B7-1

B8

B9

B9-1

B9-2

B9-3

B22

Three-Phase:

cl, Cla
cl-1, Cl-1A
cl-2

cl-3

Cl-4
Cc2

c2-1
Cc2-2

C3

€3-1
C4-1
c5-1

Single Primary Support
Double Primary Support
Double Primary Support

INDEX OF CONSTRUCTION DRAWINGS

Primary 1-Phase 20° to 60° Angle
Primary 1-Phase 60° to 90°

Deadend (Single)
Primary, Single Phase
Primary, Single Phase

Tap
Tap

Vertical Deadend (Double)

Crossarm Construction
Crossarm Construction
Crossarm Construction
Crossarm Construction
Crossarm Construction

Crossarm Construction
Crossarm Construction
Crossarm Construction
Vertical Construction
Vertical Construction
Vertical Construction
Crossarm Construction
Crossarm Construction
Crossarm Construction
Crossarm Construction
Crossarm Construction
Crossarm Construction
Crossarm Construction

Crossarm Construction
Crossarm Construction
Crossarm Construction
Crossarm Construction

Crossarm Construction
Crossarm Construction
Crossarm Construction
Crossarm Construction

Vertical Construction
Vertical Construction
Vertical Construction
Vertical Construction

Deadend (Single)
Deadend (Double)
Double Line Arm
Single Line Arm
Single Phase Junction

Single Primary Support
Double Primary Support
Double Primary Support

Deadend (Single)
Deadend (Single)
Deadend (Double)
Double Line Arm
Single Line Arm
Double Line Arm
Single Line Arm
Single Phase Junction

Single Primary Support
Double Primary Support
(Large Conductors)
Double Primary Support
(Large Conductors)
(Large Conductors)
Double Primary Support
Double Primary Support
Double Primary Support
(Large Conductors)

(Large Conductors)

Deadend (Single)



Three-Phase (Cont'd):

c7, C7-1
C7A
Cc7-2

c8

c8-1
c8-2

c8-3

c9

Cc9-1
Cc9-2
Cc9-3

c22
c24

Crossarm Construction Deadend (Single)
Crossarm Construction Deadend (Single)
Crossarm Construction Deadend (Single)
Crossarm Construction Deadend (Double)
Crossarm Construction Deadend (Double)
Crossarm Construction Deadend (Double)
(Large Conductors)

Crossarm Construction Deadend (Double) Large

Conductors with Unbalanced Loads
Crossarm Construction Double Line Arm
Crossarm Construction Single Line Arm
Crossarm Construction Double Line Arm
Crossarm Construction Single Line Arm

(Large Conductors)

Crossarm Construction Single-Phase Junction
Crossarm Construction Two-Phase Junction

Three-Phase, Double Circuit:

DC-C1
DC-ClA
DC-Cl-1A
DC-C2
DC-C2-1
DC-C3
DC-C4-1
DC-C8

DC-C25

Crossarm Construction Double Circuit Single
Primary Support 2 Crossarm Type

Crossarm Construction Double Circuit Single
Primary Support 3 Crossarm Type

Crossarm Construction Double Circuit Double -
Primary Support 3 Crossarm Type
Crossarm Construction Double Circuit Double Z

Primary Support 2 Crossarm Type
Double Circuit Crossarm Construction
" 2 Crossarm Type
Double Circuit, Vertical Construction
Double Circuit, Vertical Construction
Crossarm Construction Double Circuit Deadend

(Double)

Crossarm Construction Double Circuit

3-Phase Tap

Single-Phase (Post Insulator):

AlP, AlAP
Al-1P, Al-1AP
A2P

A9P

A9-1P

A22P

Single Primary Support

0° to 5° Angle, Double Primary Support
Double Primary Support

Crossarm Construction Double Support
Crossarm Construction Single Line Arm
Crossarm Construction Single-Phase Junction



Two-Phase (Post Insulator):

B1P, BIAP
Bl1-1P, Bl-l1AP

Crossarm Construction Single Primary Support
Crossarm Coustruction Double Primary Support

B2P Crossarm Construction Double Primary Support
B9P Crossarm Construction Double Line Arm

B9-1P Crossarm Construction Single Line Arm

B9-2P Crossarm Construction Double Line Arm

B9-3P Crossarm Construction Single Line Arm

B22P Crossarm Construction Single-Phase Junction at

0° to 5° Angle

Three-Phase (Post Insulator):

ClP, CIAP Crossarm Construction Single Primary Support
C1PL Crossarm Construction Single Primary Support
Cl-1P, Cl-1AP Crossarm Construction Double Primary Support
C1-3P Crossarm Construction Double Primary Support
(Large Conductors)

Cl1-4PL Crossarm Construction Double Pole Top Support
C2-2PL Crossarm Construction Double Primary Support
C9-1P Crossarm Construction Single Line Arm

C9-2PL Crossarm Construction Double Line Arm

C9-3PL Crossarm Construction Single Line Arm

Three-Phase, Double Circuit (Post Imsulator):

DC-CIPL Crossarm Construction Double Circuit Single
Primary Support
DC-C1-3PL Crossarm Construction Double Circuit Double

Primary Support

Guy Assemblies:

Ei-1, E1-2, El1-3 Single Down Guy, Through Bolt Type
E2-1, E2-2, E2-3 Single Overhead Guy, Through Bolt Type
E3-2, E3-3, E3-10 Single Down Guy, Wrapped Type

E4-2, E4-3 Single Overhead Guy, Wrapped Type
E5-1, E5-2 Crossarm Construction Deadend Guy
E6-2, E6-3 Double Down Guy

E7-2, E7-3 Three Down Guys (Large Conductors)
E8-2, E8-3 Four Down Guys (Large Conductors)

Ell, El2 Single Loop Guy, Wrapped Type

Anchor Assemblies:

Fl-1 to Fl-4 Line Anchor Assemblies
F2-1 to F2~4 Log Anchor Assembly
F4-1 Service Anchor Assembly
F5-1, F5-2, F5-3 Rock Anchor Assemblies
F6-1, F6-2, F6-3 Swamp Anchor Assembly



Transformer Assemblies:

G9-, G65-, Gl05-
G10-, G66-, Gl06-
G39-, G67-, Gl36-
G210~

G310-

G3l1-

G3l2-

Secondary Assemblies:

J5 to J12

Service Assemblies:

K10, K11, Kl4
K10C

K10L, Kl1lL, KI4L
K1l1C, K14C, KI15C
K16C, K17L, K17

Miscellaneous Assemblies:

M2-1, M2-11
M2-2, M2-12
M2-2A, M2-12A
M2-2A2, M2-12A2
M2-3, M2-13
M2-7, M2-17
M2-9

M2-15

M2-15A
M3-1A, M3-4
M3-2A, M3-3A
M3-3B

M3-10, M3-41
M3-11, M3-12
M3-11A, M3-12A
M3-15

M3-23

M3-23A
M3-24, M3-25

M3-24A, M3-25A

Single Phase Transformer at 1-Phase Tangent -

Single Phase Transformer at Deadend

Single Phase Transformer on Three-Phase Circuit

Two Transformers, Cluster Mounted Open Wye-
Open Delta for 120/240 Volt Power Loads

Three Transformers Cluster Mounted Ungrounded
Wye-Center Tap Grounded Delta for 120/240
Volt Power Loads '

Three Transformers Cluster Mounted Ungrounded
Wye~Corner Grounded Delta for 240 to 480 V
Power Loads

Three Transformers Cluster Mounted 4-Wire
Grounded Wye-Grounded Wye for 208/120 Volt
Power Loads

Secondary Assemblies

Service Assemblies

Service Assemblies, Cable

Service Assemblies (Large Conductors)
Service Assemblies, Cable

Service Assemblies (For Ranch Type House)

Grounding Assembly Ground Rod Type

Pole Protection Assembly-Plate Type

Pole Protection Assembly Wrap-Around Type

Pole Protection Assembly Plate Type

Ground Assembly Trench Type

Galvanic Anode Assembly

Pole Top Protection Assembly

Grounding Assembly Ground Rod Type for
Sectionalizing Air Break Switch

Grounding Assembly Platform Type for
Sectionalizing Air Break Switch

One Sectionalizing Fuse Cutout

2 or 3 Sectionalizing Disconnect Switches

Line.Tension Switches

One Sectionalizer or 0Oil Circuit Recloser

2 or 3-Phase, Three Sectionalizing Oil

Circuit Reclosers

2 or 3 Sectionalizing Oil Circuit Reclosers

Sectionalizing Air Break Switch

One Sectionalizing 0il Circuit Recloser with
By-Pass Switch e

One Sectionalizing 0il Circuit Recloser with
By-Pass Cutout ' e

2 or 3 Sectionalizing Oil Circuit Reclosers
with By-Pass Switch

2 or 3 Sectionalizing Oil Circuit Reclosers
with By-Pass Switches



Miscellaneous Assemblies
M3-30

M5-1 to 8

M5-9 to 16
M5-17 to 23
M5~-24 to M5-26

Voltage Regulators:

M7-11
M7-13

(Cont'd):

Three-Phase 0il Circuit Recloser with
By-Pass Switches

 Miscellaneous Primary Assemblies

Miscellaneous Primary Assemblies
Miscellaneous Primary Assemblies
Miscellaneous Assemblies

One Voltage Regulator Pole Mounted
Three Voltage Regulators Platform Mounted

Metering Assembly Guide Drawings:

M8

M8-6
M8-9
M8-10
M8-11
M8-12
M8-15

Capacitor Assemblies:

M9-11
M9-12, M9-13

Guide Drawings:

Secondary Metering Guide Single-Phase
120/240 Volts

Secondary Metering Guide Three-Phase
120/240 Volts 4-Wire Delta

Guide to Yard Pole Meter Installation (Showing
Pump Service Carried Underground)

Guide to Yard Pole Meter Installation (Showing
All Building Services Carried Underground)

Secondary Metering Guide Three-Phase,
120/208 Volts 4-Wire Grounded Wye

Secondary Metering Guide Three-Phase 240 Volts
3-Wire Corner Grounded Delta

Primary Metering Guide Three-Phase 4~Wire Wye

Single-Phase Capacitor Assembly
Two or Three-Phase Capacitor Assembly

Crossarm Drilling Guide

Pole Framing Guide

Angle Construction Guide Crossarm to Vertical
Const. - 30° to 60° Angle

Tree Trimming Guide

Tree Trimming Guide

Cable Service Assembly Guide

Open Wire Secondary or Service Assembly Guide

Assembly Guide of Service Mast for Ranch
Type House

Security Light Installation Guide (Unmetered)

Transformer Connection Guide Open Wire Services

Transformer Connection Guide Triplex Cable
Services

Detail of Alternative Transformer Connection
(Primary Tangent, Service Takeoff at
Transformer)



Guide Drawings (Cont'd):

M27-2
M28

M29-1
M29-2
M30-1
M30-2

M40-11
M41-1

M41-10

M42-3
M42-11

M42-13
M42-21

M43-4
M43-10

M52-3, M52-4
Rl

Transformer Connection Guide Secondary Underbuild

Transformer Connection and Service Take-Off
Guide from Secondary

Tap Assembly Guide

Tap Assembly Guide

Guide for Installation of Ground Wire Above
Neutral of Guyed Poles

Guide for Installation of Ground Wire Above
Neutral on Poles with Butt Wrapped or
Driven Grounds

Armor Rods A.C.S.R. Conductor

Angle Assembly Guide, Vertical Construction
20° to 60° Angle, Copper Type Conductors
with Formed Type Armor Rods

Angle Assemble Guide, Vertical Construction
20° to 60° Angle, A.C.S.R. Conductors with
Straight or Formed Type Armor Rods

Deadend Assembly Guide - Deadend Clamp Meth.
Copperweld Copper & Copper Conductors

Deadend Assembly Guide Deadend Clamp Method
A.C.S.R. Conductors

Deadend Assembly Guide (Large Conductors)

Deadend Assembly Guide-Compression Method
Copper Type Conductors

Tap Assembly Guide Copperweld-Copper and Copper
Conductors

Tap Assembly Guide A.C.S.R. Conductors

Neutral Identification and Pole Numbering Guide

Clearing Right-of-Way Guide '

—



T a
1>b
AN~

c

!
|
1
1

S

[
il
Qa

- " - o - —— o= -
x

]

Q.

N e e e s

[]

W
]
L]

ek//'i
a1~ &

1
1
I
|
_L_/Posiﬁon of Guy
(When regqd.)

Specify Al-IA for
offset neutral assembly

Max. transverse load: 500 Ibs. per

Max. line angle within load limits:5°

DESIGN LIMITS

conductor

ITEM|NO. MATERIAL ITEM(NO. MATERIAL

a | 2 linsulator, pin type bs | | [Bolt,single upset, (Al-i only)

b | 2 |Pin, pole top, 20" dl | 2 |Pipe spacer, 3/4" dia.x | /2"

¢ | 2 [Boit, machine, 5/8"x reqd. length i | 2 |Screw,lag,l/2"'x4, (AlI-1A only)

d || [Washer,21/4x 21/4x3/16,13/16 hole ec | | [Bracket,offset,neutral, {Al-1A only)
ek Locknuts, as required 12.5/72 kV PRIMARY, |-PHASE,

cm | ! ISeool insulator DOUBLE PRIMARY SUPPORT

Apr.,1983

Al-l, Al-IA



POLE TOP PIN ASSEMBLY

a
s
LI | :
s - 1
“" - _L_L/when require
- T
|1 cm
ek-d : AN d /:L( :
|
Ly || !
Pl ||
. !
I | I |
| |1 Specify AlA for | |
[ {! offset neutral assembly Pl
ki) e
IITEM| NO. MATERIAL ITEM]NO. MATERIAL
a | | |Insulator, pin type d |3 |Washer, square, 2 /4"
b | 1 |Pin, pole top, 20" bs | | |Boit, single upset, (Al only)
¢ | 2 |Bolt, machine, 5/8% req'd length ec | | |Bracket,offset, neutral, (AlA only)
) | 2 [Screw, lag. 1/2"x 4" (AlAonly)
ek Locknuts, as required
cm | Spool insulator '2.5/ 7.2 kV PR'MARY, '-PHASE.
DESIGN LIMITS _ SINGLE PRIMARY SUPPORT
Max. transverse load: 500 Ibs. per
conductor __ ‘
Max. line angle within load limits:5° Apr., 1983 A',A'A




e '
- 5 '_ :§° Alternate Pl
< y Ll b Neutral ! / /
e L ot |
; © i d. . /\Neutral
- | \ -ek /
e ' I : c-e Guy \ O I
= | £
o a1 ™ eqire—
-I _____'_ _'_ @ \\ da
o . /4: i Vo \
Positionof / , : \‘
c-d Guy: . 1 ‘\ P\ \\
- - G eeaase G S s— ]
?? [T do R
ek 1 [ '
vl
b PLAN
Vol
! i
! |
! 1
by ar,
: b b
i |
I I Al
L ATl
b — - —+
: ! : \_%lrjﬁ_//
v
L_A'C.t'
POLE TOP PIN ASSEMBLY
ITEM | 2o MATERIAL iem| NO MATERIAL
a | 2 linsulator, pin type da | | [Bracket, insulated
b | 2 |Pin, pole top,20" dl [ 2 |Pipe spacer, 34" dia. x 15"
¢ | 4 [Bolt, machine, %' x reqd length ek Locknuts, as required
d | 3 |Washer, 2%"x 214 x 3/¢" '¥¢ hole

DESIGN LIMITS

Max. transverse load: 1000 Ibs. per
conductor

Max. line angle within load limits:20°

12.5/7.2 kv |- PHASE
DOUBLE PRIMARY SUPPORTS

Apr.,1983

A2




14 0o
T eal] %@(ﬂ L /
0| ek | :l S~k cd o-d-ek bo_ cd //
] _"'J' ; E G.‘!Z:ij]’:f IQ;[{' E[P].‘_
cI>Posmon of Guy :“ I e >k \
- : | \
¥ i W \
E,E co PLAN
- .i.-. .lt.|)._/ ______
b /
: : Alternate 7 /\
e Neutral / / Neutral
R Position /'
: . : ,':I_ "f‘\ /
! )
! LA
P! \ \
L \ \\
\

SECTION X-X

Note: Items c¢d and ce are shown on assembly drawings M4I-1 and M4I1-10

1Tem |9 MATERIAL fremi 0. MATERIAL
bo | | |[Shackie, anchor
d { | |washer, 2le'x 2% x Ye. @ig. hole cd | | [Angle assembly, primary
k_| 2 |msulator, suspension ce | | [Angle assembly, neutral
o | 1 |Boit, eye, 3" x req'd length ok Locknut, as required

DESIGN LIMITS
Max. transverse loqd: 4000 Ibs. per
conductor
Angle: 20°-60°

12.5/72 kv PRIMARY I-PHASE

Apr.,1983

A3




N
.

VU e o e - = e = w— v — -

SECTION  X—X

NOTE ltems ca and cc are shown on assembly drawings M42-3,M42-11,M42-13 and M42-2i

ITEMNO. MATERIAL ITEM NG MATERIAL

d | 4 |Washer, 21/4'x21/4'%3/16, I3/16"hole ca | 2 |Deadend assembly, primary
k | 4 |insulator, suspension cc | 2 |Deadend assembly, neutrol
0 | 4 |Bolt, eye, 5/8"x reqd. length ek Locknuts, as required

p Connectors, as required

12.5/7.2 kV PRIMARY, |-PHASE
60° TO 90° ANGLE

Apr., 1983 A4




r*"|
» o-d-ek |
> @]{ﬂ —— o e —
ki T.{ Sa.
- - |
; _Jxﬁd--
i Position of Gay . o-d=ek
||| __nfinﬁtgﬂ%ﬂqu__._n.
| I Guy/ 1 Nk ca
t ] k;
X X
JL_____/L__}@_‘_( _____ PLAN
o-d-ekl : cc
I. |
n
I I o-d-=ek *
_qﬂ. +- ,:-4— _Nﬁl‘f_r.ﬂ.l__
i -~
| J SECTION X-X
L9

Note: tems ca and cc are shown on assembly drawings M42-3, M42-i1, M42-13
and M42-2|

fireEmiNo. MATERIAL ITEM|NO. MATERIAL

d |2 [Washer, square, 2 1/4" cc | | [Deadend assembly, neutral

k Insulator, suspension ek Locknuts, as required

2
o [ 2[Bolt, eye, 5/8" x req'd. length
Cd | | |Deadend assembly, primary

12.5/7.2 kV PRIMARY, |- PHASE
DEADEND (SINGLE)

Apr.,1983 A5




3l_oll

”"

and M29-2.

of Guy

Notes: AS5-l assembly may be used

with drawings such as:
Al-1, A2 .

items ca and cc are shown on
assembly drawings M42-3,M42-l|,
M42-13 and M42-21.

Al

¥
ek-o-d lf :bo e k
Y J/ Héﬂ Tap
N S M A e b o
o | l \
.t-_q-..jig, 3'_0"00 J ca
: |{ min o
© |
< [ Alternate
Location
a1 ‘/
q- N cc

Notes:

av

A5-2 assembly may be used
with drawings such as: B,
BI-l, B2, B7, Cl, CI-2, CI-3,
Ci-4, C2-l, C2-2. (See tap
assembly Guide M29-1 and M29-2)

Specify A5-2A for tap to
existing eyebolt.

ASSEMBLY UNIT

, A5 -1 A5-2 A5-2A
ITEM MATERIAL ___ NO.REQ'D. |NO_REQ'D |NO.REQ'D)
d [Washer, 2 1/4'x 2 1/4'x 3716, 13/16  hole 2 2
k | Insulator, suspension 2 2 2
o |Bolt, eye, 5/8"x reqd length 2 3 |
p |Connectors, as required
aa |Nut, eye, 5/8" | 3
av |Jumpers and leads, as required
ca | Deadend assembly, primary | ] |
cc | Deadend assembly,  neutral [ | |
bo | Shockle, anchor | |
ek |Locknuts as required

12.5/7.2 kV PRIMARY, SINGLE PHASE TAP

Apr.,1983

A5-1,A5-2,A5-2A




Dotted jumpers for use /
on tangent structures /

cu?_‘_ W

‘n,

oy —T — . c—
el

-'-“ A5-3

NOTES:
. A5-3 assembly may be used with
drawings such as: A4, B4-|

and C4- 1,

2. A5-4 assembly may be used with
A3, A5,B3, B5-l, C3, and C5-I
structures.

" -

c = _
¢ pLan PLAN }é\
a
P \
av
= o I '-34_ NE
ag-e ' © ok | ;T
| - | I S
— ! | =
< — ! o
] P
- I I !
: cc
cc Neutral tap / I ! I
1—@04{‘- ‘f’“ﬁ'—-/-o\ -L_
|

4 A5-4

e 9

3. See gquide drawings M29-| and M29-2.

4. Items ca and cc are shown on
assembly drawings M42-3, M42-I11,
M42-13 and M42-2I

ASSEMBLY UNIT

A5-3 A5-4
ITEM| MATERIAL NO NO
a |Insulator, pin type !
Pin, pole top, 20" |
¢ |Bolt, machine, 5/8" x_required length 2
d |washer, square, 2 /4" 2
k |insulator, suspension 2 2
P |Connectors as req'd. as_req'd.
aa |Nut, eye, 5/8" 2 2
av_|Jumpers as _req'd. as_req'd.
ca |Deadend assembly , primary [ |
cc |Deadend assembly, neutral | |
ek ILocknuts as required as required

12.5/7.2 kv PRIMARY, SINGLE PHASE TAP

Apr.,1983

A5-3,A5-4

e



9"

- VL s o \ghal IS /
_w-.f_pf Yt “ff\.
¥ R rm . ca N
' i -
b —S e ——
[ /‘: T "
K o-d p ! ' ]
- | v | d-ek |
- el — : : |
©| position of guy/' : ' .
! | ™ |
< . ' |‘\ l )
1y ! I {1 ! Position of Neutral
x¥ I :! : / Ix ca-ek | |t! when not deadend.
e k—0-d<— —'w———-_—"cc B S T -
] 2
4 R P e ——— iy
l . | L o-d-ek
| ! L\
RE av av /rf |
!
Lkt L4

ce o 2 ___oi/ov
BRI oo iewn Vil

SECTION X-X

NOTE:
A6 may be used with drawings such as
M3-1A, M3-10, M3- 4|, M3-23, M5-1,
M5-4, M5-2 (as shown). -
ltems ca aond cc are shown on assembly drawings M42-3, M42-1l, M42-13,

and M42-21.

NO. MATERIAL ITEM |NO. MATERIAL
ago | 2 [Nut, eye, 5/8"
4 |Waosher, 2 14'x 2 14'x 3/16", 13/6" hole av Jumpers , as required
4 linsulator, suspension ca 2 |Deadend ossembly, primory

cC 2 |Deadend assembly, neutral

2 |Bolt, eye, 5/8"x reqd. length

nnectors, os req d. ek Locknuts , as reguired

12.5/ 7.2 kV PRIMARY, |-PHASE,
VERTICAL DEADEND (DOUBLE)

Apr., 1983 A6




3.6

I:G:l‘ 3‘_ 6" o 71—I<6 I
|
' ; -
| =m[ n—d-ek r 1| Neutral ~_ ,
HOr—F=: - ——A \{a—+
H % i
"« Oy _x_l g
Pasition of Guy / \ cu

’
!

!

|

I

!
L_
N
|

!

!

|

I

Jl>

Crossarm loading limitations.

2. Designate as A7-1 for
assembly with three crossarms.
3. ltems ca

e

[ T ——< T

~d-ek Ea-ek N T n-de /:r
i ek-ao +

k |\cc
Nlt.”;:e drawing E5-1 for :\CO Neutral_\i
| I

PLAN

and M42-°£? c¢c are shown on assembly drawings M42-3, M42-11,M42-{3

TEM NO. MATERIAL flrem vo. MATERIAL

d |10 [washer, 2%4" x 2%" x ¢ Gyg" hole f n [3 [Bolt,double arming 38" x req'd I'gth
9 [ 2 {Crossarm 35g'x 454" x8 - 0" {[aa | 2 [Nut, eye, 58"

cu |4 |Brace, wood,28" " ca | | |Deodend assembly, primary

i |4 [Bolt,carriage, 3g"x 4% cc | | | Deadend ossembly, neutral

i |2 [Screw, lag, 72" x 4" || ek Locknuts, as required

k | 2 | Insulator, suspension ﬂ

12.5/7.2 kv, |-PHASE, CROSSARM CONSTRUCTION|

DEADEND (SINGLE)

Apr.,1983

ATAT-I

~



N

Nov ™

Position of Guy____/—

|
I
k Guy —a Neutral \1

ca—» / : l
N
/n-d-ek- 9\ d;:/k 1\ n- d-ek\§

L_L:J - ":; -—d—elg‘;" -1-+~r— - _é

N

cC

‘ 1
g““" ) T\n-d ek ek_ou/ji_'

I
I Guy _» I
I |

Note: l PLAN
ltems ca and cc are shown on assembly drawings M42-3,M42-1l, M42-13 and
M42-21.
FTEM [NO. MATERIAL M |NO. MATERIAL
d_[10 |washer, 214" 214" 3/16', 13/16" hole P Connectors, as req'd.
g | 2 |Crossorm, 35/8" x 4 5/8"x 8'-0" oo | 4 |Nut, eye 58"
cu | 4 |Broce, wood, 28" av - |Jumpers
i_| 4 (Balt, carriage, §/8"x4|/2" co | 2 |Deodend assembly, primary
j | 2 [Screw, log, 1/2" x 4" cc | 2 |Deadend assembly, neutral
k | 4 |lnsuigtor, suspension ek Locknuts, as required
n 3 {Bolt, double arming, 5/8"x reqd. length

12.5/7.2 kV, |-PHASE
GROSSARM GONSTRUGTION — DEADEND (DOUBLE)

Apr.,1983 A8




20°

Max. transverse ioad: 1000 Ibs. per

Max. line angle within load limits:

conductor

12.5/7.2 kV

|414 3‘-8" -
e
a - l - i—qb-‘
' B ~ ] I
®y  __ 1
Position of Guy .
When req'd. AR
]! Neutral ]
N ' \:
BN {
[ o-f
| - n-d-ek
| o 1 9 . & L A /
| { e == ——SU—
|| ot —d-ek T ~Cu41)- 1 -
| = — — — + —
| : ' ~n-d-ek 2 N M
[ | ' d-ek
| I
P! [
| |
Ly |
Iy PLAN
|
|
1y
FTEM| NO MATERIAL reMno. MATERIAL
i | 4 |Bolt. carriage, ¥g" x 4h"
a | 4 |insulotor, pin type i {2 |Screw, lag, k" x 4"
d |10 [Washer, 278" x 274" x 316", ¥16" hole n | 3 [Bolt, double arming,¥g"x reqg'd I'gth
f | 4 |[Pin, crossarm, steel. 8" x 104" ek Locknuts, as required
9 [ 2 [Crossarm, 334" x 4%/8" x 8'-0" ee | 4 |Letters 2''C", 2N, with I" nails
cu { 4 |Brace, wood, 28"
DESIGN LIMITS

I-PHASE CROSSARM CONST. -DOUBLE LINE ARM

Apr.,1983

A9




1
e A ? i
—+ 47 N\
L —t
()} ~ j.f >, @_
S AANTEEN ;
| u
147 3-8" 3-8" 4
"'l Neutral T a
[% L) Cz-ek | \CN ' f
l B w— —CN-
‘ﬁ = T . -
! [ I
]
Position of Guy
when required.
ITEM|NO. MATE RIAL remiNo. MATERIAL
cu | 2 |Brace,wood , 28"
o | 2 [Insulator, pin type i | 2 |Bolt, corringe, 3/8"x 4 1/2"
¢ | | |Bolt, mochine, 5/8"x reqg'd. length } |1 |Screw, lag, IV2"x 4"
d | 2 |Waosher, square, 2 174" ee | 4 [Letters, 2 "C" "N", with " nails
f 2 Pin, crossarm, steel, 5/8"X 10 3/4“ ek Locknuls, as required
9 | | |Crossarm, 35/8"x 458"x 8'-0"

Max. transverse load: 500 Ibs. per

Max. line angle within load limits:5°

DESIGN LIMITS

conductor

12.5/7.2 kV -1 PHASE

CROSSARM CONSTRUCTION - SINGLE LINE ARM

Apr,, 1983

A9-!




— 4 el
S S e

PLAN

e — e — et ———
\9‘>Neutrol
|

<
=w
3.

®
la"| N

g

c-d-ek ; ee

= 2( a-a-./_ -_-]_- _o
|%
—a

[ITeEMNG] MATERIAL lireMNa MATERIAL
a 3 |Insulator, pin type av Jumpers, as required
b |1 |Pin, pole top, 20" bs | | |Boit, single upset,
¢ _| 3 |Bolt, machine, 5/8"x req'd. length ee | 4 |Letters, 2"C", 2 "N", with " nails
d | 5 |washer, square, 2 1/4" ek Locknuts , as required
f | 2 |Pin, crossarm, stesl, 5/8"x 10 3/4" cu |2 |Brace, wood, 28"
g | ! |Crossarm, 358" x 4548"x 8'-0" cm | | |Spool insulator
i |2 Bolt, carriage, 3/8"x 4 1/2" p Connectors ,as required
j || [Screw, lag, /2" x 4"

Max. transverse load:500 fbs. per

Max. line angle within load limits:5°

DESIGN LIMITS

conductor

12.5/72 kv

I-PHASE CROSSARM CONSTRUCTION

SINGLE PHASE JUNCTION

Apr., 1983

A22




4ll| ‘ 3‘_ 8" 3l- 8“ ﬁ“
T |
o |
f -' | d-ek q ——
g/ _— [ 7 ,\ / ? T —C-d-ek
1" '«éa ‘9\\ -__; ﬂ’l 119)‘ - ";g" { n _+
= ) cu -
s SN N |
4 Position of Guy \ ’\
when required cu -
en require /—cm Neutral
- /---—‘Ph‘\bs r©-
d-ek
i
l I
O 23~
Specify BIA for
offset neutral assembly
ITEM|NO. MATERIAL [iTEMINO] MATERIAL
a | 2 |Insulator, pin type bs | | |[Bolt, single upset, (B} only)
c | [Bolt, machine ,5/8" x required length cu |2 |Brace, wood, 28"
d |3 |washer, square, 2 174" ec | | |Bracket offset neutrol  (BIA only)
t | 2 |Pin, crossarm, steel, 5/8"x 10 3/4" ek Locknuts , as required
9 | [crossarm, 3 5/8"x 4 58" x 8'-0" cm | | |Spool insulator
i 2 |Bolt, carriage, 3/8" x 4 /2"
j I |{Screw, lag, 172" x 4" (B! only)
i |3 !Screw, lag, 1/2"x 4" (BIA only)

Max. line

Max. transverse load: 8500 Ibs. per

DESIGN LIMITS
TWO

conductor

angle within load limits: 5°

125/7.2 kv

PHASE CROSSARM CONSTRUCTION
SINGLE PRIMARY SUPPORT

Apr.,1983

Bl, BIA




4"| 3. - 8" 1 3l- 8" !4"[
| T
B e R L 1
a2l R VAR
T <]
— : —_ oW ___ﬁr_. + + -,
= | | onl Y ! / \n-d-ek
(o] __6__‘ —-- n-d-ek j '
]
™ Position of Guy/ | N -
when required q{_ cm o[ Neutral
- / ’ T | “—bs -@-
d-ek ’ , I 4
",4."_3' :_ -’
Specify Bl-1A for
offset neutral assembly
RTEMINO. MATERIAL IITEM INO. MATERIAL
a_| 4 linsulator, pin type bs | ! |Bolt, single upset {Bi-1 only)
d |1l |Washer, square B 2 1/4" cu | 4 |Brace,  wood, 28"
t | 4 [Pin, crossarm, steel. 5/8" x 10 3/4" ec | | IBracket, offset neutral (BI-IA only)
g |2 [Crossarm, 358" x 45" x 8 -0" ek Locknuts, as required
i | 4 |Bolt, carriage, 3/8" x 4 172" cm | | |Spool insulator
i 12 [Screw, lag, 172" x 4" (BI-1 only)
j_1 4 [Screw, lag, 172" x 4" (BI-1A only)
n_| 3 |Bolt, double arming, 5/8"x req’d. length
DESIGN LIMITS 12.5/7.2 kV
Moax. transverse load: 1000 ibs. per TWO PHASE, CROSSARM CONSTRUCTION
conductor
Mox line angle within load limits: 5° DOUBLE PRIMARY SUPPORT
Apr., 1983 B|-L B'-IA




/ 1 Neutral
/ // //

n-d-ek

— — =‘D I | | n-d-ek f\ — —
L% — I glg'l/ _ : |
L - B S — %) ZI
i = ] : : -4

< ", mL__
QR Y
‘o Position of Guy” j

c-d-ek~/’T \o

|
|
]
PN

F..
ITEMI|NO. MATERIAL ITEM|NO. MATERIAL
a | 4 linsulator, pin type j 2 |Screw, lag, /2" x 4"
c | |Bolt, machine, 5/8" x required length n 3 |Bolt, double arming, 5/8"x req’d length
d |1t |Washer, square, 2 1/4" cu | 4 |Brace, wood, 28"
f | 4 |pin, crossarm, steel, 5/8" x 10 3/4" do | | |Bracket, insulated
g 2 |Crossorm, 3 5/8" X 45/8" x 8-0" ek Locknuts , as required
i | 4 |Bolt, carriage, 3/8"x 4 /2"
DESIGN LIMITS 12.5/7.2 kv, TWO PHASE

Max. trcnsverse lood:1000 Ibs. per CROSSARM CONSTRUCTION, DOUBLE PRIMARY SUPPORTS

conductor

Mox. fine angle within load limits:20°

Apr.,1983 B2




Note:

phase.

d-ek T ’1| /
:q, o-d-e ! l
A g /
© [ T bo~k cd
X o o-d-ek L~~~/

B S —- :";\%{(H
Position of Guy : | : Guy t ;o\k\\
o 1k PLAN \

A Iy
7 ]! \
SN e e —
: bl /
ki /
- |
> Posifi'o%%f@uyj" —+ //
T N
K X B X _...--_.(.,-;.(
! 1 Guy/ ~+
|
| e \
- i-J-:_t.______ \
s SECTION X-X -\
N
L-Fj

If future. conversion is likely, alliow space at top of pole for t_niddle
Designate as B3A for this construction.

ltems cd and ce are shown on assembly drawings M4I1-| and M4I1-10 .

Angle: 20°-60°

ITEM|NO. MATERIAL JiTEm|NO. MATERIAL
. ' bo ]2 |Shackie, anchor

d |2 |washer,2 174"sq. x 3/16", 13/16" hole cd |2 |Angle assembly, primary

k {4 linsulator, suspension ce || |Angle assembly neutral
2 |Bolt,eye, 5/8" x req'd. length ek Locknuts , as required

DESIGN LIMITS
Max. transverse load: 4000 Ibs.

per conductor 12.5/7.2 kv-TWO PHASE

VERTICAL CONSTRUCTION.

Apr.,

1983

B3,B3A




Toamek 1k e
G ’@Cﬂ@iﬂ—*-‘j:f———
: ek /?

o-d-

Position
of Guys

|
s | bl - i

cc\q o
1 |
e SXam AN %%)WK
0-d7 % =
I D AR
Guy\r min.

SECTION Y-Y SECTION X-X

Note:
If future conversion is likely, allow space at top of pole for middie

phase. Designate as B4-1A for this construction.
ltems ca and ¢c are shown on assembly drawings M42-3 ,M42-11, M42-13 M42-2 |
NO.

imem_|REQD MATERIAL rem MATERIAL
d 6 |[Washer, 2% x 2''x ;us", '3/|e" hole bo | 2 [Shackie, onchor
Kk 8 linsulator, suspension co 4 |Deadend assembly, primary
o :| 8 [Bolt, eye, %" x_req'd length ¢c¢ | 2 |peadend assembly, neutrol
P Connectors, as required ek Locknuis , @s required
00 | 2 |Nut,eye, %
av Jumpers

12.5/7.2 kV TWO PHASE ,VERTICAL
CONSTRUCTION

Apr.,1983 | B4-1.B4-1A

476-160 O - 85 - 2



! Guy

Guy

o-d-ek

Position of

Note:

Items ca and cc are shown on assembly drawings M42-3,M42-I1,

M42-13 and M42-21.

If future conversion is likely, allow space at top of pole
for middle phase. Designate as BS-IA for this construction.

Nl

BS - |

| TEM|NO. MATERIAL ITEM|NO. MATERIAL
d |3 [washer, square, 2 1/4" bo | | [Shackle, anchor
k 4 |Insulator, suspension ca 2 |Deadend assembly, primary
0 4 [Bolt, eye, 5/8" x required length cc { | |Deadend assembly, neutral
aa | | [Nut, eye, 5/8" ek Locknuts , as required

12.5/7.2 kV TWO PHASE

VERTICAL CON

STRUCTION, DEADEND (SINGLE)

Apr., 1983

B5-1,.B85-1A




~o-d

1

—— —— e —— e ————

(

-

Notes:

1

k:: —

ltems ca and cc are shown on assembly drawings M42-3,M42-11,

M42-13 and M42-I1I.

2. Designate as B7-1 for assembly with three crossarms.
3. See drawing E5-1 for crossarm loading limitations.
ITEM|NO. MATERIAL ITEM|NO.
d | Il |Washer, square, 2 /4" o | |Bolt, eye, 5/8" x required length
g | 2 |Crossarm, 358" x 4 5/8" x 8'- 0" 0a | 2 |Nut, eye, 5/8"
i | 4 |Bolt, carriage, 3/8"x 4 /2" cc | 2 [Deadend assembly, primory
i | 2 |screw, lag, 172" x 4" cc | | |Deadend assembly, neutral
k 4 f{insulator, suspension cu | 4 |Brace, wood 28"
n 3 |Bolt, double arming, 5/8" x reg'd. length ek Locknuts, as required

12.5/72 kv

TWO PHASE, CROSSARM CONSTRUCTION

DEADEND (SINGLE)

Apr., 1983

B7, B7-1




A

I'- 6

2l_ lo“

00\ ce
A
cc ~d
\T\o-d-ek
Us..,
SECTION X-X
Note:
Items ca and cc are shown on assembly drawings M42-3, M42-11, M42-i3
and M42-21.
rem lvo MATERIAL lirem v MATERIAL
d_ |12 [Washer, 2 14"x 2 1/4'x 36" 3/16" hole o | | [Bolt, eye, 58"x req'd length
g 2 [rossom, 3 3g'x4 px8-0 P Connectors, as required
¢ | 4 [Bolt,machitie,1/2"x reqd. length a0 | 5 |Nut, eye, /8"
' av.| 3 lJumpers as required
cu [2 |Brace,wood, 60 span co_| 4 |Deodend ossembly, primary
k18 lator, su ion cc | 2 |Degdend gssembly, neutrol
n 14 IBolt, double arming. 5/8"x reqd length ek Locknuls , as _required

12.5/7.2 kv TWO-PHASE

CROSSARM CONSTRUCTION — DEADEND (DOUBLE)

Apr.,1983

B8




I |
Neutral
I~ |
| n-d-ek |
i ~a. |
L a Cu
.’_———
PLAN
ITem|No. MATERIAL ITEM|NO. MATERIAL
cu | 4 |Brace, wood, 28"
a | 6 |insulator, pin type i | 4 |Bot, corrioge, 3/8"x 4 112"
d |10 |Washer, 2 1/4"x 2 I4'x 316, [3/16' hole j |2 |Screw, log, V2"x 4"
f | 6 |Pin, crossarm, steel, 5/8"x 10 34" n | 3 |Bolt, double arming, 5/8"x req'd. length
g | 2 |Crossarm, 3 ¥g" x 4 Yg' x_8'-0" ek Locknuts » Qs _required
ee | 4 |Letters, 2 C.2 N, with " nails (B9 only)

DESIGN LIMITS

Max. transverse load:I000Ibs. per
cenductor
Mox. line angle within load limits:209

12.5/7.2kV TWO PHASE
CROSSARM CONSTRUCTION- DOUBLE LINE ARM

Apr., 1983

B9




PR T S N
N il
| Neutral | a |
B el [TNE
o B |
- "3 B+ CNt D '
“t; = : . +— \g
R S .
Position of Guy
When Required |
! ' J
|
] | e |
o Neutral
H | | | I
]
T iy, | |
Pt | *a | |
1| | a-f 9 1N
. () - —= = () == ()}
i T
} : /' a-f i
b | d-ek | I
o ! I |
k3 I l |
PLAN
ITEM ok MATERIAL iTEM REQDl MATERIAL
0 | 3 |insulator, pin type g | 1 |Crossarm,3 5/8"x4 5/8"x8 -0"
ee | 4 |Letters, 2'C’ 2"N'; with |"nails cu | 2 [Broce, wood, 28"
¢ | | [Boit, machine, ¥ x req'd length i |2 |Boit, carriage, "215: x 4%’
d |2 |Washer, 2% x 2Vs x %g. e hole i |1 |screw,lag, %" x 4"
f | 3 |Pin,crossarm, steel, % x 10 % ek Locknuts , as required
DESIGN LIMITS
Max. transverse load: 500 lbs. per 12.5/7.2kVTWO PHASE, CROSSARM CONSTRUCTION
conductor SINGLE LINE ARM
Max. line angle within load limits 5°
Apz,1983 B9-i




|4L 4. - 8“ o ll- 7“ L , 3- Ill . 4IlI
| N
~ a
- ] -
'_% o . ; f\@ é/c-d ekm 1“f/g
v ) ~ \ ' n-d-ek
Position of guy
when reqd. | 1 P~n- ok
AR
L
N
b
b
&Jr.-'

This construction should be used where future conversion fo three phase is likely.

ITEM|NO. MATERIAL ITEM|NO. MATERIAL
a | 6 |insulator, pin type g |2 |Crossarm 3 5/8"x 4 5/8"x 0'-0"
n | 4 |Boit double arming, 5/8'x req'd iength
¢ | 4 |Bolt, machine, 1/2" x req'd. length cu | 2 |Brace, wood, 60" span
d |10 |Wosher, squore, 2 174" ee | 4 |Letters. 2"C" 2"N", with I"nails
d | 4 |Wosher, round, | 3/8" ek Locknuts, @s required
f | 6 |Pin, crossarm, steel. 5/8"x 10 3/4"

Max. line angle within load limits:20°

DESIGN LIMITS
Max. transverse load: IO00O ibs. per

conductor

12.5/72 KV, TWO PHASE
CROSSARM CONSTRUCTION-DOUBLE LINE ARM

Apr., 1983 O-




Neutral |
|

4

E—

RN

Position of Gu
when req'd.

phase is likely.

This construction should be used where future conversion to three

Max. transverse load: 500 Ibs. per
conductor

Max. line angle within load limits: 5°

ITEM| NO. MATERIAL Ml NO. MATERIAL
a | 3 |insulator, pin type t | 3 |Pin,crossarm, steel 5/8" x 10 3/4"
c_| 2 [Bolt,machine,5/8" xreq'd length g || |crossarm,3 ¥8"x 4 ¥g"x 10"-0"
¢ | 2 [Bolt, machine,1/2"x req'd length cu | 1 |Brace,wood, 60" span
d | 3 |Washer,21/4" x 21/4" x3/16",13/16"hole ee | 4 [Letters, 2"c" 2"N" with I" nails
d | 2 |Washer, round,i3/8"dia., 9/16" hole ek Locknuts , as required

DESIGN LIMITS
125/7.2 kv

TWO-PHASE CROSSARM CONSTRUCTION

SINGLE LINE ARM

Apr., 1983

B9-3




R

©
.l
"
C-d'{k‘ el
qrx-F- - -
- .. s .
e < <
AN
-
tHr eu i
‘©
l )
pP— /OV | bt
| P r
l PLAN I
ITEM|NO. MATERIAL EM|NO. MATERIAL
0 | 3 lnsulator, pin type i |4 |Bolt, corrioge, 3/8" x 4 12"
o | | linsulator, pin type i | 2 |screw, log, 112"x 4"
c | 2 |Bot, machine, 5/8"x reqd. length p Connectors, os reqd.
d | 5 Washer, 214 214" 346", B/6" hole | ov Jumpers and leads gs req'd.
f | 4 |Pin, crossarm, steel S5/8"x 10 14" bs | i |Boll, single upset,
g | 2 Icrossarm, 3 55'x 4 55'x8-0" ek Locknuts , as required
cu | 4 |Brace  wood, 28" ee | 4 [Letters,2°C,2 N, with | nails
cm | | !Spool insulator

DESIGN LIMITS

Max. transverse load: 500 Ibs. per

12.5/7.2 kV

TWO PHASE, CROSSARM CONSTRUCTION

SINGLE PHASE JUNCTION

conductor

Max. line angle within load limits:5° Apr., 1983

B22




3'.

ell 4"

\

1 -—0
b jod § T

d-ek

[owl f,_;
| L] mw[_
§ ek- c-d , -«'{‘T
g
T s a A5
_ == Pl
of ¢ T~ R |I |
. Position of Guy\ V" ™~cu
N when req'd cm

Specify CIA for

offset neutral assembly
ITEM| NO. MATERIAL ITEMNO. MATERIAL
a |3 |insulotor, pin type cu | 2 [Brace, wood, 28"
b |t |Pin, pole top, 20" i | 2 |Bolt, carrioge,3/g" x 4)2'
c |3 [Boit, machine, 9g" x req d length i [V [Screw, lag, 72" x 4" (Ci only)
d |5 [washer, 274" x2%4"x 35, '96.hole bs | | |Bolt,single upset, (ClI only)
f | 2 |Pin, crossarm, suol,gﬁ/g" x 10 3/4" ec| | racket, offset neutral (CIA oniy)
g |1 |Crossarm,3 9g"x 495" X 8-0" j | 3 [Screw,lag, I1/2"x4" (CIA only)
ek Locknyts . @8 reguired 125/7.2 kv
ecm| | |Spool insulator

DESIGN LIMITS

Max. transverse load:500 |bs. per
conductor
Max. line angle within load limits:5°

SINGLE PRIMARY SUPPORT

3-PHASE CROSSARM CONSTRUCTION

Apr, 1983

Cl,CIA

~e



Specify Cl-lA for
offsgt neyutrol assembly

TEM|NO. MATERIAL remino. MATERIAL

o | & linsulator, pin type i_| 4 |Bolt, carriage, 3/8"x 4 /2"
b | 2 |Pin, pole top, 20" j | 2 |Screw, log, /2"x 4" (Cl-| only)
¢ | 2 |Bolt, machine, 5/8" x req'd length n | 3 |Bolt, double orming, 5/8"x reqd. length
d |1l |wosher, 21/4"x 2 I&'x 3/16, 13/16" hole bs | | '|Bolt, single upset, (Ci-1 only)
f | 4 |Pin, crossarm, steel, 5/8" x 10 34" di | 2 |Pipe spacer, 34" dia. x ! 1/2"
g | 2 [Crossarm, 395"x 48" x -0 ec | | |Bracket, offset neutral (CI-iA only)
cu| 4 |Brace, wood, 28" i | 4 {Screw. log, I1/2"x 4" (Ci-1A only)

ek Locknuts , as required cm | | {Spool insulator

DESIGN LIMITS
12.5/72 kV 3- PHASE CROSSARM CONSTRUCTION
Max. transverse ioad: 1000 lbs. per

conductor DOUBLE PRIMARY SUPPORT

Max. line angle within toad limits:5°

Apr., 1983 Cl-{ Gl-




8“" 3! - 4“ JA 3. - 4“ L 8
(1} T
|6 || o | 8]
| ' | l |
| | |
l 4@ ' |
a1 & B
=== === =
| c-d-ek | =\ |
= | | "Neutral |
PLAN '
c-d-ek b ¢ -d—ek
a

2.—0“

Position of Guy
c-d-ek when required

Max. transverse load: 500 Ibs. per
conductor

Max. iine angle within load limits:2°

(LARGE CONDUCTORS)

ek-d | Note:
: | This construction required for all
l conductors having a breaking strength
: : of more than 4500 pounds.
I
Iy
(.
| |
ks
ITEM | NO. MATERIAL ITEM | NO. MATERIAL,
a 3 |insulator, pin type f 2 |Pin crossarm, clamp type
b | __IPin_pole top, 20" g [ ! Crossorm,3553"x 455" x 8'-0"
c 6 [Bolt, machine, 98" x req'd length bs | | |Boitsingle upset
c_| 2 {Bolt,machine, Yo" x req'd length cu [ 1 [Broce,wood, 60" span
d |10 |washer, 2Y4"x 2¥4 x Hie, Sig" hole ek Locknuts ., as required
d | 2 [wosher, rd. 13 diom. Yg" hole em | | [spool insulator
DESIGN LIMITS 125772 kV

3-PHASE CROSSARM CONSTRUCTION

Apr., 1983

cl-2

J



|
| LE. DETAIL OF
POLE TOP PIN
ASSEMBLY

Position of Guy

when reg'd.
c-d-ek —” ~——do
Note:
This construction required for all conductors
having o breaking strength of more than
4,500 pounds.
EM [NO. MATERIAL (TEM | NO. MATERIAL
o | 6 linsylotor . pin type g | 2 |crossarm, 3 Yg'x4 Y% B8-0"
b | 2 |Pin, pole top, 20" n_| 4 |Bolt, double orming, 5/8'x req'd. length
¢_| 4 |Bolt, machine, 5/8"x regd. length cu | 2 |Brace, wood, 60" spon
c | 4 |Bolt, machine, 1/2" x reqd. length do | | [Bracket, insulated
d |13 |Wosher, 21/4"x 2 1/4'x 3/16, 13/16" hole dl | 2 |Pipe spacer, 3/4"dia. x I 1/2"
d | 4 |Wwasher, rd., | 3/8"diom, 9/16"' hole ek Locknuts , as required
f | 4 !Pn, crossarm, steel, clomp iype
DESIGN LIMITS 12.5/7.2 kV

Max. line angle within load limits:5°

conductor

DOUBLE PRIMARY SUPPORT, (LARGE CONDUCTORS)

Apr., 1983 Cl—-3




S

| c-d—ek

PLAN /ol

POLE TOP PIN
ASSEMBLY

Position of Guy
when required

H

Note:
This construction required for all
conductors having a breaking strength
of more than 4500 pounds.

[

S U
TeM Edeh MATERIAL TeM |pPRo MATERIAL _
0 4 linsulator, pin type g | |Crossorm,3 5/8"x 4 5/8" x 8'- 0"
b | 2 IPin, pole top, 20" cu | | |Brace, wood, 60" span
c | 8_|Bolt,machine, Ya X req'd length da | | [Bracket, insulated
¢ | 2 [Bolt,machine, %" x req'd length dl | 2 |Pipe spacer, ¥ dia. x 12
d |10 |washer, 2Y4 x 2% x¥g. 'He hole ek Locknuts , as required
d 2 [Washer, rd., 1% diom., e hol
f 2 |Pin, crossarm, clamp type
DESIGN LIMITS 12.5/7.2 kV 3-PHASE
Max. transverse load: 1000 Ibs. per CROSSARM CONSTRUCTION
conductor (LARGE CONDUCTORS)
Max. line angle within load limits:5°
Apr., 1983 cl-4




POLE TOP PIN ,, /dl
ASSEMBLY

P

4]
—| ~a
o
?O | F’\b
-I . k f - : C I W)
= 5 "
f.l};% f
‘ ' —~ e
I.O' L- : rﬂ-d*&k
: ﬁ
da 1]
S~ Neutral
il o 1!
' | | | ‘
Pl 111
P o
I | Pl
| ]
Iy I] ]
oK byl
by bl
k,f_i t:;-J
NOTE: When the transverse load is more than 1000 pounds,
substitute C2-1 or C2-2 as required.
ITEM NO. MATERIAL ITEM] NO. MATERIAL
a | 6 [Insulator, pin type i | 4 |Bolt,carriage, ¥g" x 4%"
b |2 |{Pin _pole top, 20" i |2 [Screw, lag, " x 4"
¢ |4 |Bolt,machine,Sg" x req'd iength n | 3 |Bolt, double arming Sg"x req'd I'gth
d | 13 [washer, 2V5" x 2Y4"x 36", 196" hole da | | |Bracket, insulated
f | 4 [Pin,crossarm, steel, 98" x 1033" d! |2 |Ppipe, spacer, 3" dia. x 1%5"
9 | 2 |crossarm,35/8"x45/8" x8' - 0" - ek Locknuts, as required
cu | 4 |Brace, wood, 28"
DESIGN LIMITS 12.5/7.2 kV -3 PHASE
Max. tronsverse lood:l000 Ibs. per CROSSARM CONSTR. DOUBLE PRIMARY SUPPORT
conductor

Max. line angle within load limits:2

Apr., 1983 C?2




T T 1]
c-d-ek a
—— === ~ —
=l | n-d-ek o n-a-ek\L f \§3+
=B - ] " - 5
] T. = '@7 T J\g
o
Position of Guy i ~cu
=‘,” 1L~ n-ek
|
|
—do. |
_ cd-ek T
b da
v L
i |
| |
_t-
// // //
n-d-ek /- Neutral
/ L .é. / ,
- - m
Guy _’—'-'— -—-4:1-;I$: n-d-ek
e
/' v
g | c-d \ adiek )\ 90 \\
\ \ \ \
PLAN
Notes: Center phase wire or neutral wire may be located on the opposite side of
the pole where necessary to avoid crossing of wires in midspan.
When the transverse load is more than 1000 pounds per conductor install a
2¥a'x 2% x %6’ washer on the top of the crossarm for each pin. If the load
is more than 1500 pounds, use the construction shown on C2-2.
‘ ' -
ITEM lrpan MATERIAL ITEM [REGD MATERIAL
Q 6 |linsulator, pin type g | 2 [Crossorm3 5/8"x4 5/8"x 10'-0"
c_| | [Boit, machine, ¥ x req’d length n |4 [Bolt, double arming, 78 X req'd length
¢ | 4 PBolt, machine, )" x req'd length cu | 2 PBroce, wood, 60" span
d_| 1l |washer, 2% x24'x¥g. g hole da | | |Bracket, insulated
d | 4 [Wosher, rd., | ¥ diam., %g hole ek |Locknuts . as required
f | 6 [Pin, crossarm, steel, ¥a x 10 ¥4 {

DESIGN LIMITS

12.5/7.2 kV 3- PHASE

Mox. transverse load: 1500 Ibs. per | CROSSARM CONSTR. DOUBLE PRIMARY SUPPORT

conductor

Max. line angle within load limits:20°

Apr., 1983

c2-1

v




Position of Guy
when reqd.

3|-9"

Notes:

than 4,500 pounds.

L

M—.—%-j-

| N da
J

. Side groove of insulator must always be larger thon the overall diometer of conductor
including ormor rods when required.

2. Center phase wire or neutral wire may be located on the opposite side of the pole
where necessary to avoid crossing of wires in midspan.

3. This construction required for all conductcs having o breaking strength of more

4. If transverse load exceeds 2000 pounds per conductor, use vertical construction.

ITEM | NO. MATERIAL ITEM |NO. MATERIAL
a | 6 |insuator, pin type } 2 |Screw,log, 2% 4,
c | 2 |Bolt, machine, 5/8"x req'd. length n | 6 [Boit, double arming, 5/8"x reqd. length
c | 4 |Bolt, machine, 1/2"x reqd. length da | ‘I |Bracket, neutral, insulated
d | 21 |washer, 2 14"x 2 4% 3/16", 13/16" hole
d| a4 |wosher, rd., | 3/8" diom. 9/16" hole cu | 2 |[Brace, wood, 60" spon
f | 6 |Pin, crossorm, steel, clamp type ek Locknuts , gs required
g | 2 |Crossam, 3 5/g"x4 5g'x 10'-0"

DESIGN LIMITS

Max. transverse 100d:2000 Ibs. per
conductor

Max. line angle within load limits:20°

12.5/7.2 kV 3-PHASE

CROSSARM CONSTR. DOUBLE PRIMARY SUPPORT

(LARGE CONDUGCTORS)

Apr., 1983

G2-2




. iR

a  o-deek ||| _cd /
- q'l- CHEED CENDD SIS

\ z A

i : T~ bo~k ek cd /
B ENL > ii‘.\@(ﬂa*.

=. Position of Gu} : Guy/ 4 4l\"\ \

; Y PLAN “bo K

,
1
_A__

4
’
| . S

L — \
=° b.‘.‘s.‘
. (M /
[ | cd ’
- q =~ e — ce /
L1
Ao || R s 1
.z Posltlonf_fﬁy'_:_- -'L. Guy ¥ \
| j“,’ | } . SECTION X-X \
‘“ [ )

2
’
-

I
(2 JEniiasi S
—
1

—————- A\

NOTE: [tems cd and ce are shown on assembly drawings M4!-l and M4I-10

ITEMNO. MATERIAL ITEMNO, MATERIAL
: bo | 3 |Shackle, anchor
d |3 |washer, 2 1/4"x2 1/4,x 3/16,1316"hple cd | 3 [Angle assembly, primary
k | 6 |Insulator, suspension ce | | |Angle assembly, neutral
o |3 [Bolt,eye, 5/8" x reqd. length ek Locknuts , as required

DESIGN LIMITS

Max. transverse load:4000 ibs. per
conductor

12.5/7.2 kv - THREE PHASE
VERTICAL CONSTRUCTION

Angle; 20°- 60°

Apr,, 1983

CJ3

ko



]
3
ol | ‘| sition
R f f aqu
I |
B A .._q-_-- \
= N\
N | I
- I ) bo
_q -[ /m
'
< N
-~ \
A7y N
| l I \
i ‘ \
S L S
ELEVATION
ITEM NO. MATERIAL ITEM| NO. MATERIAL
d | 8 \washer, 2%a" x 2%" x ¥i6", 16’ hote bo | 4 | Shackle, anchor
k | 6 |Insulator, suspension cr | 4 |Brocket, ongle, 58"
m | 4 |Clomp, suspension ef | 8 |Bolt, clevis,5/g" x req'd length
ek Locknuts , as required

DESIGN LIMITS

Max. transverse load: 4000 Ibs.
per conductor

Angle : 10°- 20°

12.5/72 kv,
VERTICAL CONSTRUCTION 3 - PHASE
(LARGE CONDUCTORS)

Apr., 1983

c3-l|




it B & ——
30 l \l o-d- OKJO"
- _t
el l‘ Position
.; ol __ T of Guys
k- J
0-d- ek l' -1 aa- ek ca

41. 0 "
T —

j"‘—

w

o:

min.
B T as
~ K\
™ %\L
0 e e
y osition
A B S— "2 of Guys
+ b.J
SECTION Y=Y SECTION X-X
NOTE: Items ca and cc are shown on assembly drawings M42-3, M42-11, M42-13,
and M42-21.
ITEMINO. MATERIAL “lTEM|NO. MATERIAL
| d | 8 [Washer, square, 2 74" [ av Jumpers . as required
k |12 |insulator, suspcnsion " bo |4 |Shackie, anchor
o |12 |Bolt, eys, 5/8" x required length [ ca | 6 |Deadend assembly primary
p Connectors , as required Jdcc 2 |Deadend assembly neutral
aa | 4 [Nut, eye, 5/8" ek Locknuts , as required

DESIGN LIMITS
Angle: 60°-90°
12.5/7/7.2 kV, 3 -PHASE

VERTICAL CONSTRUCTION

Apr, 1983 C4-l




4| _ oll

Position
of Guy

Position
of Guy

o-d-ek

L4

NOTE: Items co and cc are shown on assembly drawings M42-3, M42-I11,

M42-13, and M42-21.

TEM FoY MATERIAL

4 |Washer, 2% x 2/ x ¢, '%¢ hole

ca

TEW REdD MATERIAL

3 |Deadend ossembly, primory

6 ﬁnsulotor. suspension cc | Deadend assembly, neutral
6 |Bolt, eye, ¥ x req'd length ek Locknuts , as required
a0 | 2 Nut,eye, 7
bo { 2 [Shockle, anchor

3-PHASE, VERTICAL CONSTRUCTION

12.5/72 kV ,

DEADEND (SINGLE)

Apr.,1983

C5-|




A Y

|
Lt
AN

/
' N
\o-d—ek
: kcc
o 1
| .
.q'_ Guy ! j |\ Neutral
|
k-
X ¥ .u: ¥ x SECTION X-X
— '- -
L T\O-d—el(
o Syl
Uy ~a
: { Y™ ek
NOTES A ‘/ e
: P! B &
o ; B
. See dwg. E5-1 for ! | | A —— : i—,
crossarm loading : In-d-ek <J ~ 1 v ﬁ
limitations. . g = ‘T —=
] \ t ' <r <
2.Designate as C7-I N £ é‘oa n-d-ek ~—gq \i -
for assembly with- k -
three crossarms. \+ %
— +
3. ltems ca and cc are ca | | +
shown on assembly drawings I l I
M42-3, M42-11, M42-13, and |
M42-21, PLAN
ITEM|NO. MATERIAL ITEM NO. MATERIAL
d | 11 |washer.2%a"x 244" x F16".'+6" hole n |3 [Bolt, double arming,5g" x req'd I'gth
g |2 |Crossarm, 35/8" x 4 5/8"x 8'- 0" o [ ! |Bolteye, 58" x req'd length
cu | 4 |Brace, wood, 28" aa | 3 [Nut, eye, Sg"
i | 4 |Bolt, carriage, 3g" x 4¥>" €a | 3 |peadend assembly, Primary
i | 2|screw, lag, V" x 4" cc | | [Deadend assembly, Neutral
k | 6 | Insulator, suspension ek Locknuts | as required

125/7.2 kv,

3-PHASE CROSSARM CONSTRUCTION

DEAD END (SINGLE)

Apr, 1983

C7.C7-l




5" 3-7"(8'arm) . 3-7"(8'arm) |5
4-7"(10'arm) 1_ 4'-7" (lOarm) l
L a0 e |
= ' H
| T
= :
¥ IF Y \
] i )
| ’ | gi k
| |
el
. '
< I 1
x r = x
|
N '
!
-
; ': -d-ek :'*“}
Vol =L
Y o-d-ek
- O
I ~cc
NOTE : |
ltems ca and cc are I~ Neutral
shown on assembly drawing SECTION X-X
M42-1t, M42-13, and M42-2I.
- ® - -
=
a
' H |
I
PLAN
ITeMNO) MATERIAL [hTEMN MATERIAL
| d_| I | Wosher,21/4x21/4'x3/16, 13/i6" hole gj | ! |Crossarm assembly

k | 6] Insulator, suspension

o |! Bon,eye,S/Bl req'd length
ca |3 |Deadend assembly, Primary
cc || [Deodend assembly, Neutral

ek Locknuts, as required

125/7.2 kV,

3- PHASE CROSSARM CONSTRUCTION

DEAD END (SINGLE)

Apr.,1983

C7A



- r NOTE:
i - Use this assembly when
X oy A ‘ future conversion to C8
o () | is likely .
| ._' : . C"d'ek I
o 9 ~ P
) 4 - — - & '
‘o ' 'd' k/
RN -
[=} ? ' av
ol
o~ Position of Guy -
when req'd. a ek
F—— [ ﬁ
X N X
g |
i ) ' dh'*‘\ o-d-ek
.
(e
jg /o-d-ek
n-d-ek \“‘::? 0- - _,j? —
d-ek {___I o 2 \ ' —
d ‘/ [ b
0-d_ - . °
el _?.s' aa
cc'/"' mE
]
SECTION X-X
H PLAN
NOTE

Items ca and cc are shown on assembly drawings M42-3, M42-11, M42-13 and
M42-2].

[TEMNO. MATERIAL _ ITEM | NO. MATERIAL
"o |3 |got, eye, 5/8' x reqd. length
p Connectors, as reqd.
¢ | 4 [Boit, machine, 1/2"x reqd. length 00 |3 |Nut, eye, 5/8"
d |14 |washer, 2 1A'k 2 14"'x 3/6" 13/16" hole a Jumpers ond leads as req'd.
d | 4 |Wosher, round, | 3/8" diam.. 9/16" hole bo_| | _|Shackle, onchor .
: ca | 3 |Deadend ossembly, primary
g | 2 |Crossorm, 35/8x 45/8x8-0" cc | | [Deodend assembly. neutral
k_| 6 [insulotors, suspension o cu | 2 |Brace, wood, 60" span
n | 4 [Bolt, double arming, 5/8"x req'd. length [ ek Locknuts, as required

12.5/7.2 kV 3-PHASE
CROSSARM CONSTRUCTION, DEADEND (SINGLE)

Apr., 1983 Cc7-2




/',\v\
I

cc —

ao ﬂ%
/TN
0 {

—( -}

e ¢ ~ oy

t

|
|
SECTION X-X

-
-
>
z

NOTE
iftems ca and cc are shown on assembly drawings M42-3, M42-ii, M42-13 and M42-2!
JTEM |NO. MATERIAL M |NO. MATERIAL
o |4 |Bolt, eye, 5/8' x reqd. length
, P Connectors, as_reqd.
¢ | 4 |Bolt, machine, 172" x reqd. length cgo | 8 |Nut, eye, 5/8"
14_|Woasher, 2 14'x 2 1/4"x 3/, 13/16" hole | av Jumpers and leads as req'd
d | 4 |Wosher, round. | 3/8" diom., 9/16" hole ! bo | 2 [Shackie, anchor
!I ca | 6 [Deodend ossembly, primary
g | 2 |crossarm,35/8" x4 5/8"x8'-0" i cc | 2 |Deadend assembly, neutral
12 |insulators, suspension I cu | 2 IBroce, wood, 60" spon
n | 4 [Bolt, double arming, 5/8"x req'd. length | ek Locknuts , as required

12.5/7.2 kV,3-PHASE

CROSSARM CONSTRUCTION, DEADEND (DOUBLE)
i |

T

. C8

Apr.,1983




‘6”‘.4|I-4| N '1-4 I/znl‘ I'- 911 9 |I— 9" J—4 l/qu [—4'/2;6"
! r 1 T i T

* \ |
: ? |c-d-ek T !
L T |
e — l| —
i \f \ov
Position of Guy
when req'd. | n-ek
l [
|
l |
1
4
| I/Neufrol
NOTE: |

Items ca and cc are
shown on assembly
drawings M42-3,M42-11,

M42-13 and M42-2i

M| NO. MATERIAL lTEM NO. MATERIAL
p Connectors, os reqd
a |4 [mnsulator, pin type o | 2 |Bot, eye, 5/8"x req'd. length
i aa |10 |Nut eye 5/8"

c_| 4 |Bolt, machine, 1/2"x reqd. length av Jumpers ond leads os req'd.
d_|i8 |washer, 2 1M'x 2 1/4'x3/6", 316" hole bo | 2 |Shackle, anchor

d | 4 [Washer round, | 3/8"dia, 9/16" hole co | 6 |Deadend assembty, primary

f | 4 |Pin, crossorm, steel, 5/8"x 10 34" cc | 2 |Deadend assembly. neutral
g |2 |crossom, 3 S48k 4 Yg'xi0-0" cu | 2 |Brace, wood, 60" spon

k {12 linsulator, suspension ek Locknuts , as required
.n_| 6_[Boit, double arming, 5/8"'x reqd. length

12.5/7.2 kY. 3~ PHASE
CROSSARM CONSTRUCTION-DEADEND (DOUBLE)

Apr.,1983 C 8-|




Note:

item ca is shown on assembly drawings

ELEVATION M42-3, M42-13, and M42-2I.
NO. MATERIAL ’J NO. MATERIAL
o | 3 [Bolt, eye, 5/8'x reqd. length

¢ | | |Bolt, machine, 5/8"x req'd. length p Connectors, os_reqd.
c |4 [Bolt, machine, /2" x reqd. length u [1i/2 |Clamp, quy, 6- heavy duty
d |13 |wosher, 2 14"x 2 14"x /16, 13/16" hole aa | 7 [Nut, eye 5/8'
d | 4 |wosher, rd.. | 3/8' dio., 916" hole av Jumpers
. bo | 6 |Shackle, onchor
g | 2 [Crosserm 3 Yg'x4 9g"x 8-0" co | 6 |Deadend assembly, primary
i |2 |Screw, log, 1/2"x 4' cc | 2 |Deodend assembly, neutrol
k | 12 |insulotor, suspension cu | 2 |Brace, wood, 60" spon
n |4 |Bolt, double arming, 5/8"x reqd. length ek Locknuts

12.5/7.2 kv, 3- PHASE

(LARGE CONDUCTORS)

CROSSARM CONSTRUCTION- DEADEND (DOUBLE)

Apr., 1983

C8-2




Spud

'oll

2

]
Q
]
]
.3
]

%}gé
"“3":._"_-_
UI A

LB
MR-

j———

-y -

mine.

|

ELEVATION
NOTE.:
ltems ca and cc are shown on assembly drawings M42-3, M42-1|, M42-i3, and M42-2I,
frem [ No. MATERIAL TEM | NO. MATERIA!
o 3 |Bot, eye, 5/8"x reqd length
¢ | Bolt, machine, 5/8" x reqd. length Connectors, as _reqd.
¢ _| 4 Boit, machine, 12" x reqd. length u_ 1172 [Clomp, quy, 6" heavy duty
d |20 [wosher 2 14"'x2 K8'x 316, BA6" hole aa | 7 |Nut, eye, 5/8"
d 4  |wosher, rd.. | 3/8' diom., 9/6" hole av Jumpers, as required
bo | 6 [Shackie, anchor
g | 3 |Crossorm,35/8"x4 5/8"x8'-0" ca | 6 |Deodend assembly, primary
j 2 |Screw, log, V2'x 4" cc | 2 |Deodend assembly, neutral
k{12 |nsulotor, suspension cu | 2 |Broce, wood, 60" span
n_| 6 |Boit. double arming, 5/B'x req'd. length ek Locknuts , as required

I25/72 kV~ 3 PHASE
CROSSARM CONSTRUCTION, DEADEND (DOUBLE)
LARGE CONDUCTORS WITH UNBALANCED LOADS

Apr.,1983

C8-3




Position of
Guy when req'd

I 4|:‘ 3I- Ill ;L 'I- 7" L 'l-7ll L 3I- 'Il 1‘4:;
1 T T 1l |
I ' a
! Neutrol
b % M g edw g
=t — T ——
o \\ﬁ? § n-d-ek

- i -d-
n-d-ek | —‘-f—}- { n-d-ek
| | ok: . _Guy = |
PLAN
g
NO., NO.
ITEMREQ MATERIAL ITEMREQD MATERIAL

a | 8 |insulator, pin type f 8 |Pin, crossarm, steel, % x10%

g | 2 |Crossarm, 3% x 4% x10'-0"

n 4 {Bolt, double orming, Y% xreqd length
¢ | 4 |Bolt, machine, Y2 x req'd length cu | 2 [Broce, wood, 60" spon
d |10 |Washer, 274 x 2% x ¥, %6 hole ek Locknuts , as required
d | 4 |Washer,rd., |7 dia., %e hole ee | 4 |Letters, 2C.2N. with I" nails

DESIGN  LIMITS

Max. transverse load:1000 |bs. per
conductor

12.5/7.2 kV,3-PHASE

CROSSARM CONSTRUCTION-DOUBLE LINE ARM

Max. line angle within load limits:20°

Apr, 1983

C9




Ha- ‘—irb‘

fer

Position of
Guy when req’

‘o

Neutral

g A
S l £
Fﬁ — @
a
c-d-ek d-ek/I Pl

l I
u |
PLAN
-x
ITEM| NO. MATERIAL HITEM NO. MATERIAL
a | 4 |Insulator, pin type d | 2 |washer round, 138" dia, 916 hole
' f | 4 |Pin crossarm,steel, 3" x 1034"
c | 2 [Bolt,machine, 3" x req'd length 9 | | |crossarm, 33g"x 43" x 10'-0"
¢ | 2 |Bolt,machine, ¥2" x req'd length cu | 1 [Brace, wood, 60" span
d | 3 [washer, 244" x 273" x¥6" 16" hote ek Locknuts, as required
ee | 4 |Letters, 2C,2 N, with I" noils 2.5/72 KV
DESIGN LIMITS s
3-PHASE CROSSARM CONSTR.
Max. transverse load:500 Ibs. per
Max. line angle within load limits:5°

Apr., 1983

Co-l




NOTE:

This construction required for all
conductors having a breaking strength of
more than 4,500 pounds.

ITEM NO. MATERIAL ITEM{ NO. MATERIAL
a | 8 |Insulator, pin type f |6 |Pin, crossarm, steel clomp type
g | 2 |Crossarm, 335" x 49" x 10'-0"
¢ [ | [Boit,machine,5/8 xreq'd length n | 6 |Bolt double arming S5/g" x reqd I'gth
¢ | 4 |Bolt,mochine, ¥>" x req'd length cu | 2 |Brace,wood, 60" span
d_j20|wosher, 24" x2Y4" x ¥g", 6" hole ek Locknuts , as required
d | 4 |washer,rd. 138" diam. Jg" hole ee | 4 |Letters 2C, 2N, with " nails
f {2 |Pin, crossarm, steel,5g"x 109"
DESIGN LIMITS
Max. transverse load: 2000 Ibs. per 12.5/7.2 kv
conductor 3-PHASE CROSSARM CONSTR.-DOUBLE LINE ARM
Max. line angle within load limits:5° ANGLE (LARGE CONDUCTORS)
Apr., 1983 Co-2




I Neutral l
PLAN
! ! a_ | < ¢
c-d c-deek T . t
_%igéf = A%;? . B
: — e Eai—
7 \{
ee g
' \Posiiion of Guy
]
c-d-ek——" | 1
t \
] ]
(O
Clg
ol
! i Note:
t
R This construction required for all
t ]
Vo conductors having a breaking strength
: E of more than 4,500 pounds.
H '
-
] []
' [}
! |
L Less
ELEVATION
iTem }% MATERIAL _ Trevpc: MATERIAL
Q_| 4 jnsulator, pin type f |3 Pin, crossorm. steel, clomp type
g | | [Crossarm, 3% x 4% x10"-0"
¢ | 6 Bolt,machine, 5/a"xreq'd length f || [pin, crossorm,steel, ¥ x 10 V4"
¢ | 2 Bolt,machine, %" xreqd length cu |! |Bracse,wood, 60"span
d |1l [Washer, 2 2V x 2Yy x3,{ '3/|e hole ek Locknuts , as required
d |2 [Washer,rd., | %" alom,iLhou ee | 4 |Letters, 2 C,2 N with I nails

DESIGN LIMITS

Max. transverse 10ad:l000 lbs. per
conductor

Max. line angle within load limits:5°

12.5/7.2 kv 3-PHASE
CROSSARM CONSTRUCTION - SINGLE LINE ARM
(LARGE CONDUCTORS)

Apr., 1983

C9-3




Max. line angle within load limits:5°

conductor

3-PHASE, CROSSARM CONSTRUGTION
SINGLE - PHASE JUNCTION

i ' -
hatt 1L | ‘©
‘/ p I _I
| «— Neutral "
' |
a-f |
T i
PLAN
NO. NO.
e br MATERIAL iTem ntop MATERIAL
a | 5 [insuiator, pin type i 4 |Bolt, carriage, Yo x 4%
' j 2 |Screw,log, 2" x 4"
b ! |Pin, pole top, 20" p Connectors, as required
c 4  Bolt,machine, % x reqg'd length av Jumpers and leads as req'd
d | 7 |washer, 2% x 2%"x¥¢", /e hole bs | | [Bolt, single upset,
f 4 |Pin, crossarm, steel, %a' x 107/4" ek Locknuts , as required
g | 2 |crossarm,398"x4 58" x 8'-0" ee | 4 |Letters, 2"C" 2"N", with |I" nails
cu | 4 [Broce, wood, 28" cm | | [spool insulator
DESIGN LIMITS
Mox. transverse load: 500 Ibs. per 12.5/7.2 kv

Apr., (983 Q&L

476-160 O - 85 - 3




Alternate

cation —

a-f

Max. line angle within load limits:5°

TWO PHASE JUNCTION

L WA
Fremino.|  maTERIAL rEm{no | MATERAL
o | 5 |insulator, pin type i_| 4 |Bolt, corioge, 3/8'x 4 1/2'
b | | [Pin, pole top, 20" j | 2 |screw, log, /2'x &'
¢ | 4 Bolt, machine, 5/8' x_req'd length p Connectors, os reqd.
d | 8 |washer, 214" x2 I4'x 36, 316" hole av Jumpers
f |4 [Pin, crossarm, steel, 5/8"x 10 34’ bs | 2 [Bolt, single upset
g | 2 |Crossarm,35/8" x 4 5/8"x 8'-0" ek Locknuts , as regquired
cu | 4 |{Brace, wood, 28" i cm| 2 |spool insulator
DESIGN LIMITS 12.8/7.2 kV
Max. transverse load:500 Ibs, per 3-PHASE , CROSSARM CONSTRUCTION
conductor

Apr,1983

c24




s

¢I 3l- ‘Il |l_ 7" 'I_ 7"

7 N®
L)

<Position of Gﬁy
when require

iz |4:1—;= 33- " "l

i S

9

¥ i
e
] LINE i %
Q
w d-ek |~

\..7

krem i¥So MATERIAL TEM Rt 6| MATERIAL
o | 6 linsulator, pin type 9 | Icrossorm 3 ¥' x4 5" x 8'-0"
¢ | 3 [Bolt, machine, ¥g x req'd length cu | 2 |Brace, wood, 28"
¢ 2 Bolt, machine, /2" x req'd length i 2 [Bolt, carriage, %" x 4'%6"
da | 6 Washer,2% x 2/ x 3/._Q". ]ﬁiholo j | |Screw, lag, %3 x 4"
d | 2 [Washer,rd., 1% diom., %e hole bs | | _|Bolt, single upset
f | 6 |Pin,crossarm, steel, ¥g x 103%" cu | |Broce,wood, 60" span
9 | [Crossorm, 3% x4% x10-0" ek ocknuts , @s required
cm | |Spool insuiator
DESIGN LIMITS 12.5/72 kV. 3-PHASE

. CROSSARM GONSTRUCTION-DOUBLE CIRCUIT
Max. transverse '°°d":’f&;:f"”"" SINGLE PRIMARY SUPPORT, 2 CROSSARM TYPE

Max. line ongle within lood limits:5° o

Apr., 1983 DC-CI




hrem{no. MATERIAL IremMno. MATERIAL
a | 6 |insulator. pin type Q | 2 |Crossorm, 35/a'x 478'x 8-0
c | 4 [Bolt, machine, 5/8" x req'd. length cu | 4 |Brace, wood, 28" |
¢ | 2 |Bolt, machine, 1/2" x reqd length i |4 |Boit, carriage, 3/8" x 4 1/2"
d | 8 [washer, 2'14'x214"'x 36, 13/16° hole j | 2 [Screw, lag. 1/2"x 4"
d | 2 |Wosher, round, |13/8" diom. 9/I6" hole bs | | |Bolt,_single upset
f | 6 |Pin, crossarm, steel, 5/8"x 10 34" cu | | [Brace, wood, 60" span
g | | |Crossorm, 6 3 5/8x 4 58'x 10-0" ek Locknuts , s required
cm| | |Spool insulator

DESIGN LIMITS

Max. transverse load: 500 Ibs. per
conductor

Max. line angle within load limits:5°

12.6/7.2 kv 3-PHASE

CROSSARM CONSTRUCTION-DOUBLE CIRCUIT
SINGLE PRIMARY SUPPORT 3 CROSSARM TYPE

Apr, 1963 DC-CIA




ITEM| NO. MATERIAL lirem| no. MATERIAL

a | 12 |insulator, pin type g | 4 |Crossarm,3 5/8"'x 4 5/8'x 8'-0"

cu | 8 |[Brace, wood, 28"

¢ | 4 |Bolt, machine, 0" x_req'd length i 8 |Bolt, corrioge,3/3“ x 4"

d |31 |Washer,2Yq" x 24" x 3ng" 135¢" hole i | 4 |Screw, lag,'2" x 4"

d | 4 |Washer, round, 1¥g" diam. 9" hole n |10 |Bolt, double arming Sg" x req'd Igth
t |12 |Pin,crossarm,steel, 8" x 10¥4" bs | | |Bolt single upset

g | 2 {Crossarm, ?')8" x 455" x 10'-0" ¢u | 2 [Brace, wood, 60" span

cm| | |Spool insulator ek Locknuts, as required

Max. tronsverse load:I000 lbs: per

Max. line angle within load limits:5°

DESIGN LIMITS

conductor

12.5/72 kv

3-PHASE CROSSARM CONSTR.-DOUBLE CIRCUIT
DOUBLE PRIMARY SUPPORT 3 CROSSARM TYPE

Apr, 1983

DC-CI-IA



———%

]

‘m&

Z_position of guy

-

when req'd.
n 3. - 8“

L i

o LINE #1 L
! Cu
w l
ek-dy | |
n{ -
: . : bs
L:N\‘}
ITEM | NO. MATERIAL ITEM | NO. MATERIAL
a 12 |lInsulator, pin type cu 4 |Broce, wood, 28'
i 4 |Bolt, carriage, 3" x 4V2"
¢ | 4 [Bolt, machine, V0" x reqd length i 2 |Screw, lag, 2" x 4"
d |21 |washer,2Va" x 24 “x 3¢, " hole n 7 |Bolt, double arming ¥g"x req'd I
d | 4 |washer, 134" diam, 96" hole bs | | |Boit, single upset
t | 12 |Pin, crossarm, steel, ¥g" x 103," cu | 2 |Brace, wood, 60" span
g9 2 |Crossarm, 353" x49%"x 10'-0" ok Locknuts, as required
9 | 2 [crossarm,3%g" x4 3" x 8-0" cm ! | Spool insulator

Max. transverse load: 1000 Ibs. per

Max. line angle within load limits:5°

DESIGN LIMITS

conductor

12.5/7.2 kV

3-PHASE CROSSARM CONSTR.-DOUBLE CIRCUIT
DOUBLE PRIMARY SUPPORT 2 CROSSARM TYPE

Apr., 1983

DC-C2



;/*\

910
poe |
a
|
[ ]
>

“Position of Guy L_.

ndek

° 5
J/n-d-ek ﬁ%‘"
4

/”(

v\
K NG,
ITEM RE MATERIAL ITEM MATERIAL
a |12 l|insulator, pin type cu | 4 [Brace, wood, 28"
¢ | | [Bolt,machine, 3" x req'd length i | 4 |Bolt, carriage, ¥g x4V,"
¢ |4 Bolt,machine, %" x req'd length j 2 [Screw, lag,%p" x 4"
d |21 |Washer, 2% x 274 x As", '3/J§hole n | 7 Bolt, double arming.5g x req'd length
d | 4 |Washer, roundﬂa dia., % ¢ hole cu | 2 Brace, wood, 60"span
f 112 |Pin, crossorm, steel, 5/; x |03/4 do | | |Brocket, insulated
g |2 [Crossarm,3 %" x4%“x10'-0" ek Locknuts, as required
g | 2 [Crossarm, 3% x 4% x 8'- 0"

DESIGN LIMITS

Max. transverse load: 1000 Ibs. per
conductor

12.5/7.2 kV

3-PHASE, DOUBLE CIRCUIT
CROSSARM CONSTRUCTION 2 CROSSARM TYPE

Max. line angle within load limits20°

Apr.,1983

DC-C2-I




Angle:20°-80°

- ~l—t r—-—-r"
.o']; O‘d'ek\ k- =:ll /Cd =_1L F= E:'.! /
—— —— - - e CEND SE— — -y - + — u—
- ﬁ%ﬁfﬂ* ik ‘m‘]»_;ﬂl !
. o e H
= | ¥ ' ' - I
o T T YT TN 2 an Sunhay
! /‘ | \Posmon of guys——/ = ‘ | | |
< : 0 |
, ' | i b |
¥ 0 UL
4 —--oacg — - ¢L-dacgti- - -
i || ] N
© | I o I |
N , | -' ! [
< | { <« ! [
| | ] |||
Lol o
|
R S B PR, —
o Ll s l |
(@)
- ' : NOTE: Items cd and ce are _: ' 'Position of guy
) _;_ | shown on assembly drawings < ]_1 __:
/ . M4i-l and M4i-10. SN
(IR o :
Position of : | ol 1 l/o-d-ek
guy | I ’ _4___-b+ _______
L L e
b : | :
| !
k_,(:) / L_/C" /
/,\ /
// Lon " //
VLAY P1 : /7 TN (e
o —— 3 Do S et
+ \ = \
\ \
\ \
\ PLAN \
\ /
lireM o MATERIAL TEM NO MATERIAL
d| 7 wdsher,z'g"x 24" x 36" 136" hole bo| 6 | Shackle, anchor
k | 12 |lInsulator, suspension cd ]| 6 |[Angle assembly primary
o | 7 |Bolt, eye, 5/p" x req'd length ce | | [Angle agssembly, neutral
] ek Locknuts, as required
DESIGN LIMITS
S 125/7.2  kV.
Max. transverse load: 4000 Ibs. per
conductor 3-PHASE,DOUBLE CIRCUIT

VERTICAL CONSTRUCTION

Apr., 1983

DC-C3




9“ |

4I- oll

b

4l - oll

o-d-ek\— m /co ‘
= —-Al, - ) =3
\ [+ 2]
o l
- I
S
ﬁ"“‘“’ §§Posmm of Guys
| ! o-d-ek

171 -$> Position of Guys
k-

R BN

7'- 0" (min.)

w0 '
="j;'_ﬂ_:1q~:|yl’osiﬁon of Guys
} /cc

PLAN NOTE: items ca and cc
| are shown on assembly
| drawings M42-3, M42-il,
= M42-13,and M42-21. 0-d- ek “fF
L 7-0" (min)
e
HTEM|NO. MATERIAL ITEM | NO. MATERIAL
d |14 |woshers,2 14'x2 14'x 36, B16" hole av " |Jumpers , as required 11
k 124 |insuotor, suspension bo | 8 [Shackie, onchor ‘
o |22 {Bolt, eye, 5/8" x req'd. length ca |12 |Deodend assembly, primary
p Connectors, as reqd. i cc | 2 |Deadend assembly, neutral !
aa | 8 |[Nut, eye, 5/8" ek Locknuts , as required

Angle 60°—-90°

12.5/72 kV

3-PHASE, DOUBLE CIRCUIT, VERTICAL CONSTRUCTION

T

Apr., 1983

DC-C4=l




Position of Guy

i ) A

-O When llreq dn‘ld-ellk I | (] " "

o ]s . 3-6 3-6 6"

| | i

o 9 %

T |

iy LINE ca

NOTE: {tems ca and cc
are shown on assembly
drawings M42-3, M42-II,
M42-(3, and M42-21.

PLAN
ren fro MATERIAL ITEM REQh MATERIAL
@ | 4 linsulator, pin type K | 24 |Insulator, suspension
n 9 |Eolf, double arming, g x reqd length
c 4 bolt, mochino,'/g" x req'd length 0 5 leon, eye, 5/i x reqd length
d |30 [washer, 24 x 2% x %¢", Y6 hole p Connectors, as required
d |4 |washer, rd, 1%" diom. %¢"hole aa [l 7 |Nut, eye
f_| 4 |Pin,crossarm,steel, 1% x 10 %" av Jumpers ,as required
g | 2 [Crossarm,39%"x 4% x10-0" bo | 4 [Shackle, anchor
2 |Crossarm,3%"x 4% x8-0" ca |12 |Deadend assembly, primary
cu | 4 |Broce, wood, 28" ce |2 Poodend assembly, neutral
i | 4 Bolt, carriage, 38" x 4%2" cu | 2 [Broce, wood, 60" span
i |2 Iscrewlog, 2 x4%" ek Locknuts us required
12.5/72 kV.

3-PHASE, CROSSARM CONSTRUCTION

DOUBLE CIRCUIT ~DEADEND (DOUBLE)
Apr, 1983 DC-C8




Pty

NOTE: items ca and cc are
shown on assembly drawings

4 3 et -7t 3 4
o fc-d-ek | c-d-ek |
9 o !

% L & /8 L &
! N4
fo \f ' |G 3-0"mi

o ” |

cu 2 c-d-ek Tap

Fs 7”_1_‘?“_ || ‘f—n-d-ek ca/
L2
fo
o Neutral

1
)

M42-3, M42-I1, M42-13,

' and M42-21.

1T EM{RY MATERIAL firemlES: MATERIAL

a_| 6 |insulotor, pin type k | 8 linsulator, suspension
c | 3 [Bolt, machine, ¥g" x reqd length n | 3 [Bolt,double arming, 98" x réqd length
c | 2 Bolt, machine, Y2 x req'd length o | 2 |Bolt, eye, 5/8" x reqd length
d {17 [Washer, 2Ya x2%"x %6’ '¥e" hole P Connectors as required
d | 2 |washer, rd., 15" dia., %¢" hole aa | 4 [Nut, eye, 3"
f | 6 |Pin,steel, crossarm, %g' x 10%4" av Jumpers or leads as re
g | | [Crossarm, 3%"x 458 x10-0" bo | | [Shackle, onchor

:g | 3 |Crossorm,3%"x 4% "x 8'- Q" bs | | |Bol, single upset
cu | 6 [Brace, wood, 28" . co | 3 [Deodend assembly, primary
i | 6 |Bolt, carriage, ¥8 x 42" cc | | |Deadend assembly, neutral
i | 3 |screw, lag, V2" x 4" cu | | |Brace,wood, 60 span

ek Locknuts , as required

em{ | |Spool insulator

DESIGN LIMITS

Max. tronsverse load: 500 Ibs. per

2.5/ 7.2 kV. 3-PHASE

CROSSARM CONSTRUCTION-DOUBLE CIRCUIT

3-PHASE TAP

conductor

Mox. line angle within load limits: 5°

Apr.,1983

DC-G25




H =9
<
S b
© | c eb —" l >ek-d
e -t
I ® | | |
'q.) :iz. | I
o N ,l\ Position of guy .
I when required ||
| cm _ I :_ I\f_eljf_rol
p ﬁ % |
|
[ 7 e |
S 2
. "1 \ | }
{ : d L/:J J : |
. i
Il Specify AIAP for ||
Laxd  offset neutral assembly -
NQ MATERIAL ITEMNQ. MATERIAL
¢ | 2 |Bolt ,machine , 5/8"x required length ec | | [Bracket,offset,neutral ( AlAP only)
d | 3 [wosher, square , 2 1/4" ek Locknuts, as required
bs | | |Boit,single upset (AIP only ) i {2 |Screw, lag, 1/2"x 4" (AIAP only)
ea | | insulator, post type cm| | {Spool insuiator
eb| | [Bracket,pole top
DESIGN LIMITS
Max. transverse load: 750 Ibs. per 12.5/7.2 kV |-PHASE
conductor
Max line angle within load limits: 5° SINGLE PRIMARY SUPPORT
Apr, 1983 AlP , AIAP




TN

50

per conductor
Max. line angie within load limits:

_ *~—eaq
. oY ~eb eb”” M
® [ c
ek -
] ™= i
G P
ol | Position of
(0o} i guy o
- -"—-T—':"‘/ when required P
| e ||
I S ..-( '——_"_'T@‘t'-—“_
/ﬂll- | N b
| : | I
| | I
I I b
L L1
- €C
jo P e cm
| | | | I N \ /
| I |
o || |
P I N
2 L
!
le> l_ed  Specify Al-1AP for
offset neutral assembly
ITEM| NO. MAT ERIAL fremMno. MATERIAL
| |washer,square , 2 14" | eb| 2 |Bracket, pole top
2 |Bolt,machine ,5/8" x required length ek Locknuts
bs | | |Bolt,single upset (Al-IP only) ec | | |Bracket,offset,neutral  (Al-IAP only)
ea | 2 |lnsulator,post type J] i | 2 |screw,lag,1/2" x 4" (AI-1AP only)
cm{ | [Spool insulator
DESIGN LIMITS 12.5/7.2 kV |-PHASE
Max. transverse ioad. 750 Ibs.

0° TO 5° ANGLE, DOUBLE PRIMARY SUPPORT

Apr., 1983

Al-IP, Ai-IAP




«—ea / / /
- - / /
< | eb ;] Il
z T c-ek-d Fo
1 ©0 d/(! odc - ek / ,’ " Neutral
z ' / /
T | | ' \
=(D _T I ' Guyl-___(’:: ."-
n : ! \: 4 \\do
o I | Position of guy \ \ \
| ! \
-5 VA
) - J T vy
c-d-ek/T ! "~da Vo
| '
I PLAN
by
I
[
o
b
| I
i |
l '
| |
;|
i {
| |
| |
€.
ITEMNO. MATERIAL NQ MATERIAL
¢ | 4 |Bolt,machine ,5/8" x required length ea | 2 [Insuiator , post type
d| 3 wOsher,square,ZI/@'r eb | 2 |Bracket , pole top
da| | |Bracket ,insulated ek Locknuts, as required
DESIGN LIMITS 12.5/72 kV, |-PHASE
|Max. transverse load: 1500 Ibs. per DOUBLE PRIMARY SUPPORT
conductor

JMax. line ongle within load limits: 20°

Apr., 1983

A2P




Position of guy
when required

e ————— e —

=3 3-g" | 3-g" 4
ea
P /. '_-_[_I Neutral \] ‘/o
% o n-d—ekN | ol f
AN

JTEMNO. MATERIAL NO. MATERIAL
a | 2 |insulator, pin type 2 |Screw,lag,1/2"x 4"
d |10 [washer,square 2 1/4" 3 |Bolt,double arming,5/8" x req'd. length
f | 2 |Pin,crossarm ,steel ,5/8" x 10 3/4" ea | 2 [insulator ,post type
g | 2 |Crossarm,35/8"x 45/8" X 8-0" ek Locknuts, as required
cu | 4 |Brace,wood ,28"
i | 4 |Bolt,carriage ,3/8 x4 /2"

DESIGN LIMITS

Mox. transverse ioad: 1000 Ibs. per
conductor

Max. line angle within load limits: 20°

12.5/72 kV , |-PHASE

CROSSARM CONSTRUCTION-DOUBLE SUPPORT

Apr., [983

ASP




|4] 31_8u 3"8“ m
, ea T a
FA Ao A
é | C-d-ek ||| Q f
et "\W — "%_ wl
‘“éﬁ = I T N, \ *‘I
(o)} ! [
| g
Position of Guy
when required I j
|1 ]
l | Neutrol—-{
| | I N i
| }?\ a |
’ ea-, i : e -(3-;)- - 9.\ ::l
I l td-ek \i I
I ]
| ' | |
| | I PLAN {
ITEMNO. MATERIAL ITEMNO. MATERIAL
a | I |insulator, pin type cu | 2 |Brace,wood ,28"
c | | |Bolt,machine ,5/8" x required length i |2 [Boit,carriage , 3/8" x 4 1/2"
d | 2 |washer,square ,2 1/4" j |1 |Screw lag,1/2"x 4"
f { | |Pin,crossarm  stee!l,5/8" x 10 3/4" ea | | |Insulator, post type
| g || |Crossarm,3 5/8"x 4 5/8"x 8'-0"
ek Locknuts, as required

DESIGN LIMITS

Max. transverse load. 500 Ibs. per
conductor.

Max. line angle within load limits’
50

12.5/7.2 KV, |-PHASE

CROSSARM

CONSTRUCTION - SINGLE LINE ARM

Apr., 1983

A9-|P




— e -

i’-"T’]

Max. ftransverse load. 500 Ibs.
per conductor

ITEMNOQ MATERIAL [rEmiva MATERIAL
o | | [insulator, pin type av Jumpers , as required
d | 5 |washer,square, 2 1/4" bs | ! |Bolt,single upset
c_| 3 |Bolt,machine ,5/8" x required iength ea | 2 |insuiator , post type
f | | |Pin,crossarm steel,5/8" x 10 3/4" eb } | |Bracket ,pole top
g | ! |Crossorm,35/8" x4 5/8"x 8'-0" fi Hot line connectors,as required
i |2 |Bolt,carriage,3/8" x 4 1/2" cm | | |Spool insulator
j || |Screw,lag,I/2" x 4" cu | 2 |Braces,wood,28"
p Connectors ,as required ek Locknuts, as required
DESIGN " LIMITS 12.5/72 kV

I-PHASE CROSSARM CONSTRUCTION
SINGLE PHASE JUNCTION

Max. line angle within load limits:

5.

Apr., 1983

A22P




wnl 3.-8“ : 1 - E " Ul
] 1 . T M
o 1 ——— it ———
5( d-elq l '_L' GO—bg .L
T — - H L
T = f“‘l_" — “~c-d
z g H b cu |
° / .
Y Position of guy I . )=
when required }
[ | —cm I
e -
a7l bs |
i il
. ec
cm
AE
]
Specify BIAP for
offset neutral assembly
ITEMINO. MATERIAL Nal MATERIAL
¢ | | [Boit,machine ,5/8" x required length bs | | [Bolt,single upset (BIP only)
d | 3 |washer,square, 2 144" cu | 2 |Brace ,wood , 28"
g | | [Crossorm,35/8"x45/8" x8 -0 ea | 2 [insulator, post type
i | 2 |Boit,carrioge,3/8" x 4 1/2" ek Locknuts as required
j | | |Screw,log,l/2"x 4" (BIP only) [ ec | | |Bracket offset neutral  (BIAP only)
j 1 3 [Screw,lag 172 x 4" (BIAP only) il cm] | ISpool insulator

DESIGN LIMITS

Max. transverse load: 750 Ibs. per
conductor

12.5/7.2 kVv,2-PHASE
CROSSARM CONSTRUCTION-SINGLE PRIMARY SUPPC

Max. line angle within ioad limits:

5.

Apr.,1983

BIP, BIAP




PLAN

3.-8" "

Position of Guy/
when required

2'_0"

d—

I

| cm
e
1§

Specify BI-IAP for
offset neutral assembly

FTEMNO.

MATERIAL NO. MATERIAL
d | !l |washer square,2 14" cu | 4 |Brace ,wood,28"
g | 2 |Crossarm ,35/8" x 4 5/8"x 8'-0" ea | 4 |Insulator, post type
i | 4 [Bolt,corriage ,3/8" x 4 /2" ek Locknuts, as required
i | 2 |Screw,lag, /2" x 4" (BI-IP only) ec | | |Bracket.offset neutral (B1-1AP_only)
n | 3 |Bolt,double arming ,5/8" x req’d length i |4 |screw,lag . 172"x 4" (B1-1AP only)
bs | | |Boit,single upset (B!-tP only) cm | | |Spool insulator

DESIGN LIMITS

Max. transverse load: 1500 Ibs. per
conductor

12.5/7.2 kv, 2- PHASE
CROSSARM CONSTRUCTION
DOUBLE PRIMARY SUPPORT

Max. line angie within load limits:5°

Apr., 1983

BI-IP, Bi-IAP




J1'-6"

°
7.
Y Position of guy |
4-._3\ ———
ek-c-d | I da
JTEMNG)] MATERIAL NOJ MATERIAL

¢ | | |Boit, machine , 5/8" x required length cu | 4 |Brace ,wood , 28"
d || |washer ,square,2 1/4" da | | {Bracket,insulated
g | 2 [Crossorm .3 5/8" x 4 5/8" x 8' -0" ea | 4 |insulator., post type
i |4 |Boit,carriage, 3/8" x4 172" ek Locknuts, as required
J |2 |Screw,log, V2 x4
n |3 |Boit,double arming ,5/8 x required length

DESIGN LIMITS

Max. transverse load: IS00 Ibs. per
conductor

Max. line angle within load limits:
20°

12.5/7.2 kV , 2 -PHASE
CROSSARM CONSTRUCTION

Apr., 1983

B2P




*—Neutrol |

u‘ 3' -8“ ||-3|l 2| - 5" wl
eo 4 ]
- rfooy
a2 w |11 Q"f 51
fr B — — B P —
v = I | N
[}]
. CuU
Position of Guy
when required |
L)

ITEM|NQ MATERIAL freMno. MATERIAL
a | 2 |insulator,pin type n | 3 |Bolt,double arming,5/8" x required length
d |I0 |washer,square,2 174" cu | 4 |Brace ,wood ,28"

f | 2 |Pin,crossarm steel,5/8" x10 3/4" ea | 4 |insulator,post type

g | 2 |Crossarm,35/8 x4 5/8 x8 -0 ek Locknuts . as required
i | 4 |Bolt,carriage ,3/8" x 4 172"

i | 2 |Screw,lag,1/2" x 4"

DESIGN LIMITS

Max. transverse load:I1000 Ibs, per
conductor

Max. line angle within load limits: 20T

12.5/72 kV, TWO PHASE
CROSSARM CONSTRUCTION - DOUBLE LINE ARM

Apr.,1983

B9P




C-d\*
9 cu () ! ea

Position of guy
when required

[TEMNO. MATERIAL JITEMINO. MATERIAL
g | | |insulator, pin type i | 2 |Bolt,carriage,3/8" x 4 172"
¢ | | |Boit,machine ,5/8" x required length i | ) |Screw,log,1/2" x 4"
d | 2 |wosher ,square, 2 174" cu {.2 |Brace,wood, 28"
f | | |Pin,crossorm ,steel, 5/8" x 10 3/4" ea | 2 |insulator, post type
g | | |Crossorm,3 5/8" x 4 5/8" x 8'-0"
ek Locknuts, as required

DESIGN LIMITS

Max. transverse load: 500 ibs. per
conductor

Mox. line angle within load limits:
5.

12.5/7.2 kV, 2 - PHASE
CROSSARM CONSTRUCTION SINGLE LINE ARM

Apr.,1983 B9-iP




NOTE:

is likely.

I
I
I Ny /n-d-ek
——< ===
) ]
\ !/
rows = @._o_-
_— * —
| h-d : | e
[ ! |
| ' |
4“ 4! -8" ll-7uJ 3I-l" "
s r 0 _
% LR L Q’ f_of B é 1
; — } - —-
L_‘FE = v v v—
Position of guy | cu
when required n-ek

This construction should be used where future conversion to three phase

ITEMNO. MATERIAL

—

[reMNo. MATERIAL
o | 2 |insulator , pin type “ n | 4 |Boit,double arming ,5/8" x req d. length
c | 4 |Bolt,machine , 1/2" x required length |l cu | 2 |Broce ,wood ,60" span
d |10 washer ,squore , 2 1/4" Il ea | 4 [insulator , post type
d | 4 |washer,round,!3/8" |
g | 2 |Crossarm,35/8"x45/8" x10'-0" || ek Locknuts, as required
f [ 2 |Pin,crossorm,steel {

DESIGN LIMITS
Max. transverse load:l00OQ ibs. per
conductor

Max. line angie within foad limits:
20°

12.5/7.2 kV, TWO PHASE

CROSSARM CONSTRUCTION-DOUBLE LINE ARM

Apr., 1983
k

B9-2P




|

i

c-d\ ] |
T\ : |
) A 9\ oo

Position of Guy
when required

NOTE:

This construction should be used where future conversion to three

phase is likely.

NO. MATERIAL NQJ MATERIAL
a | | [insulotor, pin type g | | |Crossarm.35/8 x4 5/8 x 10 -0
c | 2 |Boit,machine,5/8" x required length cu | | |Brace,wood ,60" span
¢ | 2 |Bolt ,machine,1/2" x required length ea | 2 |Insulator , post type
d | 3 |wosher,2 /4" x2 14" x3/6",13/16" hole
d | 2 |washer,round, | 3/8" dia.,9/16" hole ek Locknuts , as required
f | | |Pin,crossarm,steel,5/8" x I0 3/4"

OESIGN LIMITS
12.5/72 kv
Max. oyanaverse laad: 00 lbs. par TWO -PHASE CROSSARM CONSTRUCTION

SINGLE LINE ARM

Max. line angie within load limits:

5° Apr.,1983

B9-3P




Neutral —

fi or p~ av
fi or
| 1or P EELE |
PLAN

ITEMNO. MATERIAL NO. MATERIAL

g | | |insulator , pin type ay Jumpers and leads ,0s required |

¢ | 2 |Boit, machine , 5/8" x required iength bs | | [Bolt,single upset

d [ 5 [washer ,21/4 x21/4" x 3/16" x 13/16" hole | cm | | ISpool insulator

f | | |Pin,crossarm,steel, 5/8" x 10 174" cu | 4 |Brace,wood, 28"

g | 2 |Crossarm, 35/8" x4 5/8"x 8'-0" eo | 3 |Insulator, post type

i | 4 |Bolt,corriage ,3/8" x 4 1/2" ti Hot line connector, as regquired

i |2 |screw,lag, 172" x 4" ek Locknuts , as required

p Connectors , as required

5.

Max. transverse load. SO0 Ibs. per
conductor,

Max. line angle within load limits:

DESIGN LIMITS

125/7.2 kV

TWO PHASE ,CROSSARM CONSTRUCTION
SINGLE PHASE JUNCTION AT O° TO 5° ANGLE

Apr., 1983

|322P




Specify CIAP for
offset neutral assembly

TEMNQ| MATERIAL ITEMNO. MATERIAL

cm | | [Spool insulator

¢ _| 3 |Bolt,machine,5/8" x required length cu | 2 |Brace,wood,28"

d | 5 |Wosher,square ,2 14" ea | 3 |insulator,post type

g |1 [Crossarm,35/8"x 4 5/8"x 8-0" eb | | |Bracket ,pole top

i | 2 |Bolt,carriage,3/8" x 4 172" ek Locknuts , as required

) |1 [Screw,log, 1727 x4" (CIP only) ec | | |Bracket ,offset neut. (CIAR only)
bs | | |Bolt, single upset (CIP only)

j_ 13 |Screw,log,1/2"x 4" (CIAP only)

DESIGN LIMITS
Not fo be used with large conductor

Max. tronsverse load: 750 Ibs. per
conductor

12.5/72 kV,3-PHASE CROSSARM CONSTRUCTION

SINGLE PRIMARY SUPPORT

[Max. line angle within load limits: 5°

Apr., 1983

CIP ,CIAP




g eb
ol || s ] &
w “¢ ' e —— -——
2B A g ey B :
m. — e - £ 5 -
) _ —*- v T
ol e 6|  c-dek |
[ ]
™~ Position of guy cu c-d-ek
| when required cm = ‘/
/ Neutral |
d-ek bs |
L gy OQJ
M|No. MATERIAL JTEM|NO. MATERIAL
¢ | 2 |Boit, machine , 1/2" x required length ea | 3 |insulator, post type
c | 6 |Boit, machine ,5/8" x required length eb | | |Bracket, pole top
d | 2 |[Wosher round ,1 3/8 diameter ek Locknuts , as required
d |10 |wosher ,square , 2 1/4" cm | 1 |Spool insulator
g | ! |Crossarm,35/8" x 4 5/8" x 8'-0"
bs | |Bolt,single upset
cu | | |[Brace,wood, 60" span

Max. transverse load: 750 Ibs. per

Max. line angle within load limits: 5°

DESIGN LIMITS
12.5/72

conductor

kV,3-PHASE CROSSARM CONSTRUCTION

SINGLE PRIMARY SUPPORT
(LARGE CONDUCTORS )

Apr., 1983

CIPL




- s e o o of

-¥
%0
-|
n-d-ek
o'
]
o
—_
l I 2l S i) ec cm
| =y /
N 4=
- / .
L. J ' \J
=- ek-d )
Specify Cl-1AP for
offset neutral assembly
fTEMING MATERIAL NO. MATERIAL
¢ |2 |Bolt, machine, 5/8"x required length bs | | |Bolt,single upset
d | Il |wosher, square, 2 1/4" ea | 6 |insuiator, post type
9 | 2 |Crossarm,3 5/8" x4 5/8"x 8'-0" eb | 2 [Bracket, poie top
i_| 4 |Boit,corrioge, 3/8"x 4 112" ok Locknuts , as required
j | 2 [Screw,log, 1/2"x 4" (Ci-IP only ) ec | 1 |Bracket offset,neut. (CI-IAP only)
n | 3 |Bolt,double armiggLs/e“xrequm length j | 4 [Screw,log,1/2"x 4" (Ci-1AP only)
cu | 4 |Broce,wood , 28 cm | | |Spool insulotor

DESIGN LIMITS

Max. transverse load: 750 Ibs. per
conductor

Max. line angle within load limits:5®

[CROSSARM

12.5/72 KV, 3-PHASE
CONSTRUGTION-DOUBLE PRMARY SUPPORT

Apr,1983

Cl-IP, CI-IAP




Position of Guy
when reqd.

c-d-ek /

;u _ Qu - 3| -§Il ‘401
]
i
c-d-ek !
- . _
5 n-d-ek
_&_4 : - -
[}
| n-d-ek i |
I |
- B 5
- cd
: - c-d-ek e
. g QI q_ eb
———o o m—
— +—p— 4 -4
. K I -
[

NOTE:

This construction required for all
conductors having a breaking strength
of more than 4,500 pounds.

EM |NO. MATERIAL ITEM| NO. MATERIAL

c | 4 |Bolt,mochine,5/8" x required length | ec | 6 |insulotor,post type

c 4 |Bolt,machine, 172" x required length | eb | 2 [Brocket, pole top

d_| 13 {wosher 2 174" x2 114" x 3/6" 136" holg! cu | 2 |Broce,wood ,60" spon
[ d | 4 [wosher,round,13/8" diom,9/16" hole | do | | |Brocket . insuloted —_— ]
| g | 2 |Crossarm,35/8" x 4 5/8"x8'-0" ]

n_| 4 |Bolt,double arming ,5/8" x req'd. | K Locknuts. gs required

DESIGN 'LIMITS 12.5/7.2 kv

Max. transverse load: 1500 Ibs. per
conductor

Max. line angle within load limits:

3-PHASE , CROSSARM CONSTRUCTION

DOUBLE PRIMARY SUPPORT
(LARGE CONDUCTORS

50

Apr. 1983

Ci-3P




Neutral

—

ITEmM[NG, MATERIAL frrem Ino. MATERIAL
¢ | 2 [Bolt,machine , /2" x required length ea | 4 |insulator, post type
c | 8 |Boit,machine,5/8" x required length eb | 2 |Bracket,pole top
d | 2 [wosher,round ,1 3/8" diometer ek Locknuts , as_required
d |10 |wosher, square, 2 V4"
g | | |Crossorm,3 5/8° x4 5/8 x8 -0
cu | | |Brace,wood, 60" span
da { | |Brocket,insulated

DESIGN LIMITS
Max. transverse lood: 1000 Ibs. per 12.5/72 kV, 3-PHASE, CROSSARM CONSTRUCTION

conductor DOUBLE POLE-TOP SUPPORT
(LARGE CONDUCTORS )

| Max. line angle within load limits: 5°

Apr.,1983 Cl-4PL




NOTE:

Center phase wire or neutral wire may be locoted on the opposite side of the
pole where necessary to avoid crossing of wires in midspan.

ITEM |NO. MATERIAL fiTEM INO. MATERIAL
¢ | 4 |Bolt,machine, I/2" x required length cu | 2 |Broce, wood , 60" span
¢ | 2 |Bolt,machine ,5/8" x required length do | | |Braocket,insuloted
d | 4 |washer. round .| 3/8" diometer eo | 6 |insulator ,post type
d |21 |washer, square ,2 1/4" ek Locknuts , 05 required
g | 2 |Crossorm,3 5/8" x 4 5/8" x 10' -O"

i | 2 |Screw,log, /2" x 4"
n | 6 |Bolt,double arming,5/8"x req'd. length

- Max. line angle within load limits: 20°

Max. tronsverse load : 2000 Ibs. per

DESIGN LIMITS

conductor

12.5/72 kV,3-PHASE CROSSARM CONSTRUCTION

DOUBLE PRIMARY SUPPORT
(LARGE CONDUCTORS)

Apr.,1983

c2-2PL




Position of Guy
when required

NO. MATERIAL NO. MATERIAL

a | 1 |insulotor , pin type i |Crossarm,3 5/8" x 4 /8" x 10’ -0"
c | 2 |Boit,machine, 5/8" x required length ¥ cu | | |Brace,wood,60" span

c | 2 |Bolt ,machine,1/2 x required length ea | 3 |insulator, post type

d | 3 |wosher,21/4"x2 114"x 316", 13/16" hole

d | 2 |Washer,round, | 3/8" diometer,9/16" hole | ek Locknuts . as _required

t | | |Pin,crossorm _stesl, 5/8" x 10 3/4" 1

DESIGN LIMITS 12.5/T7.2 kV

Moax. transverse load: 500 Ibs. per 3-PHASE CROSSARM CONSTRUCTION
conductor ’

. - SINGLE LINE ARM
Max. line angle within ioad limits:5°

Apr.,1983 c9-IP




e /
———®) 4 = —{
qf.a..p |
- } - 1__-___(
—o _(TL 3 ‘é?f I
| PLAN 1™~ Neutral |
|
41 3| _ lu ||_7|| ll °7“ 3| - lu 11
c-d-ek o
ea - 17 /
g‘/ - E .05 F a4 W, /f E
Léa . —— - — —
6/ . % &
Position of Guy
N
Lk
ITEMNo. MATERIAL EMINO. MATERIAL
a | 2 |insulator,pin type cu | 2 |[Brace ,wood ,60" span
tf | 2 |Pin crossorm steel ,5/8" x 10 34" ea | 6 |insulator,post type
¢ | 4 |Bolt,machine ,I/2" x required length
d | 4 |Washer,round, | 3/8" diometer ek Locknuts .as required
d |20 |washer, square , 2 14" ¢ | | |Bolt,machine,5/8" x required length
g | 2 |Crossarm,35/8"x45/8" x 10'-0"
n | 6 |Bolt,double arming ,5/8"x req\d. length
DESIGN LIMITS
Max. transverse load: IQOO Ibs. per 12.5/72 kv THREE PHASE
conductor. CROSSARM CONSTRUCTION - DOUBLE LINE ARM
Max. line angle within load limils: ( LARGE CONDUCTORS )
50
Apr., 1983 C9-2PL

476-160 O - 85 - 4



ITEMINO.

MATERIAL

MATERIAL

insulotor, pin type Brace , wood , 60" span
Pin ,crossarm ,steel , 5/8" x10 3/4" ea | 3 |insulator, post type
Bolt, machine ,1/2 " x required length ek Locknuts, as required

Boit ,machine , 5/8" x required length

Washer, round , | 3/8°_ diometer

o lajajo |0o]~]0

e b R L bl b

Washer, square , 2 14"

Crossarm ,3 5/8" x 4 5/8" x 10'-0"

Mox. transverse load: 500 Ibs. per

DESIGN LIMITS

conductor

125/72 kV THREE PHASE

Max. line ongle within load limits: 5°

CROSSARM CONSTRUCTION-SINGLE LINE ARM
( LARGE CONDUCTORS )

Apr., 1983 C9-3PL




4l - oll

41 4 - an

E%? o L,
&

Position of Guy
when required

.h_
o P
XiillSow
‘*Cdmi_
I

Mox.

line ongle within lood limits: 20°

conductor

TEM|NO. MATERIAL iTEM|NO. MATERIAL
¢ | 6 |Bolt,machine, 1/2" x required length da | ! |Bracket ,insuloted
c |13 |Bott,machine,5/8" x required length eo | 6 |insulator, post type
d | 6 |washer, round ,| 3/8" diameter ek | | Locknuts, as required
d |22 |Washer, square ,2 1/4" i {2 |Screw,log, 172" x 4"
g | 2 |Crossarm ,3 5/8" x 4 5/8" x8' -0"
g | | {Crossarm,3 5/8" x 4 5/8" x 10' -0"
cu | 3 |Brace, wood, 60" spon It
DESIGN LIMITS 12.5/72 kv THREE PHASE
Max. transverse load: 1000 Ibs. per CROSSARM CONSTRUCTION -DOUBLE CIRCUIT

SINGLE PRIMARY SUPPORT

(LARGE CONDUCTORS)

Apr. 1983

DC-CIPL




/n-d-ek g
-+ 3@ ¥ ) ﬁ"‘: + ak
"
o e H L
Position of Guy ¢ 40
c-d-ek | j
L
0. MATERIAL frremino. MATERIAL
c {12 |Bolt,mochine, /2" x required length H n_| 12 |Boit,double_arming,5/8" x required length|
¢ | 2 |Bolt,machine ,5/8" x required length cu | 6 |Brace ,wood , 60" span
d |33 |washer, square ,2 14" Il da | | [Brocket, insuiated
d |12 |washer, round , | 3/8" diameter [| ea |12 |insulator, post type
g | 4 |Crossorm ,35/8"x 45/8" x 8'-0" jq ek Locknuts , as required
g | 2 |Crossarm,35/8" x 4 5/8" x 10' - 0"
i | 2 |Screw, lag, 172" x 4" I
N LIM
Vor rommm S b oo 12.5/72 kV THREE PHASE
' .conducfor pe CROSSARM CONSTRUCTION - DOUBLE CIRCUIT

Max line angle within load limits: 20°

DOURI.LE PRIMARY SUPPORT
(LARGE CONDUCTORS )

Apr., 1983

DC-CI-3PL




3.

.Other cccepted and equivalent

NOTES:

. Formed type grips may be used

only with suitable ottachments, (item
as recommended by grip
manufocturer,

{‘)

dead - end material (item u)
may be substituted for
the ones shown.

Lag screw should be used
when quy attachment \y

has provision for it,

Serve or Clip

and

Connact to
neutral conductor

ground wire

when present.

=T
Ei-1,EI-2
ASSEMBLY UNIT
See guide drowings W30 - | ond M30-2 Ei-1 El-2 EI-3
ITEM MATERIAL No. REQD.[No. REQ’D. |No. REQ'D.
¢ |Bolt, machine, 5/8"x required length ] ! i
d_|washer, curved I-2/4'x21/4"[ 1-3"x 3" i-4'x 4"
j |Screw, log, /2" x 4" |
p_ |Connectors os req'd as req'd as req'd
u_|Decdend for gquy strand 2 2 2
v. |Guy attochment(rating) 1-(5200 Ibs.) |1-(5200 Ibs.)|I-(8500 Ibs)
y |Guy wire, S.M.,7strand reqd length by 174" 3/8" 7/16"
ov__jJumper, No. 4 stranded Al alloy or equiv. req'd length | req'd length | req'd length
¢k [Clamp, anchor rod bonding | | |
ek |Locknuts, as required
12.5/7.2 kv
SINGLE DOWN GUY, THROUGH BOLT TYPE

Apr., 1983

El-{,.EI-2,.E|-3




" ek 7 T-E
PLAN "N f----f ab 12" ) : | d
OF POLE A | l | o~ Serve or clip
#f‘l’ T~ \Y
él!' : ' : 7 Staple here only av
/|
/ | : Connect to Neutral /\'"
4 T Conductor and Ground wire | | 1
/& bl when present. L
/ b i
/ 1, | 1
/ r Ly
/ : | F=T™
/ = I i
/ et ¢ [
/ o ; , !
/ L ]
/ Ll A
/ A |
4 by } -
4 | o
'@ 1 ! | :

|
|
%2

Note: '
Other occepted and equivaient items of deadend material may be
substituted for the 3-bolt clamp shown.

ASSEMBLY UNIT
E2-1 E2-2 E2-3
EM MATERIAL NQ. REQ'D. |NO. REQ'D. |N9-REQ'D-
d |Washer, curved o I-21/4'%21/4"] 1-3"x3" 1-4"'x 4"
u |Deadend for guy strand fight duty(2) |heavy duty(2)(heavy duty(2)
Guy wire, 7 sirand S.M. reqd length /4" 3/8" 7/16°
ab  INut, thimble type eye, 5/8" [ | !
00 _[Boit, thimbleye, 5/8"x req'd. length by 1 1 :
av_ lJumper ¥ 4 stranded AL. alloy or equiv. | \ ]
P |Connectors, as reqd.
ek |Locknuts, as required
125772 kv

SINGLE OVERHEAD GUY, THROUGH BOLT TYPE

Apr., 1983 E2-1,2-2 E2-3




NOTES:
I. Other occepted ond equivalent
(item u) guy clomps mdy be sub-
stituted for the 3 - bolt clomps
shown.
2. Assemblies EI-2 and Ei-3 (throughbolt
type) are preferred units.

%

Serve or clip_,_

v

Connect to neutral
Conductor and ground

wire when present. * /

N\, GUY MARKER

Yy —»

,\__
WV
| pu—

5 ’

R ¥4

ck ASSEMBLY UNIT
See quide drawings M30-1 and M30-2. E3-2  'E3-3 E3-10
Guy Marker

ITEM MATERIAL No. REQ'D | No. REQ'D

¢ |Bolt,machine,5/g"x req'd length I |

p |Connectors,as req'd

v |Clamp, guy 2-Heavy Duty|2 -Heovy Duty

y |Guy Wire, S-M, 7-strand Reqd length by 3/8" - 7/16"

ov |Jumper®4 stranded AL. alloy or equip. ' as reqd | as reqd

ot |Guy Marker, 8 min. length I
bj |Guy Hook,dJ 2 2

bk |[Guy Plate, 4"x 8" 14 gauge 2 2

bp |Nail, 8 penny, galv. 8 8

ck |Clomp,anchor rod bonding l (

ek |Locknuls, as required

12.5/7.2 kv
SINGLE DOWN GUY, WRAPPED TYPE

Apr., 1983 E3-2,E3-3,E3 "g




SINGLE OVERHEAD GUY, WRAPPED TYPE

|
1
& !
| 11
,/ | : Connect to NeutraL—T" ' ‘5
4§ 'h ConductorandGround | | !
/ " '. wire when present. bl
/ : [} I\_df_?‘
/ i Note: <t
// Ui I. Assemblies E2-2 ond E2-3 bl
/ 'fj 1 (throughbolt types) are pre- e
Vs ' ! i ferred units. R
t
,, ' | ! 2. Other accepted and equivaient | | |
/ ; : (item u) guy clamps may be : '
}S ) ] substituted for the 3 bolt ' !
)2 Ll clamps shown. '
5 Q TIRISTE 3. Assembly will develop full - ST
strength of guy strand. Pole A
_ ASSEMBLY UNIT
£E4-2 | E4-3
3/8'S.M___7/16"S M
ITEM MATERIAL No. Req'd |No. Req'd
¢ | Bolt,mochine, S/g “x req'd length I |
p | Connectors as req'd as req d
v ! Deodend for guy strond 2 2
Y | Guy wire, 7 strond as reqd as req'd
av | Jumper, #4 stranded AL. alloy or equiv.} as req'd as req'd
bj | Guy Hook,J 2 2
bk | Guy Plote, 4"x 8" 14 gauge 2 2
bp | Nail, 8 penny, galv. 8 8
ek | Locknuts as req'd as req‘d
125/7.2 kv

1 Ape, 19683

E4-2,E4-3




)

4

e
1,

ab
Serve or Clip \ :
N

- . Jﬁ;
- - .“).—
2,

R
‘-vﬂ i
rl______ﬂ_"_-’,_

-

~—— - ———

A}
—_—
’

B

—r-1t
4 L]
N ‘
1 1 - o
[ PO P iy
'\"."‘lt=’§'l-—-
A St
4L

E5-1]1/4" S.M. strand
E5-2| 3/8"S M strand

::,-'
3-11
£, 5.4

e I
e

Serve or Clip

P NOTE:

=<
"';

$o, I. This type guy to be used for crossarm construction
g 'I where the unbolonced loaded tension is more than 1000 Ibs.,
e o per conductor for 8 foot crossorms, 2000 Ibs. for 5-7"
s b crossarms, and 3000 Ibs. for 4 foot crossarms. When ' Connect to
P |. a third crossarm is added as shown on drawing C8-3 I | Neutral con-
IL o these loads may be increosed by fifty per cent. ; ' :duc'w and
/ ‘_.,--'.' 2.0ther accepted and equivalent deadend material (item | ground wire
v” p h u) may be substituted for the ones shown. : ! when present.
1
'7'7050 : ! \ 3. For conductors having a breaking strength of more : !
| ! )
|

/ l thon 4500 pounds reduce to 10° maximum, ond odd '
w7 MESHAY. an additional guy and anchor to pole strut. e g

4. Assembly is limited to conductors with ultimate strength
ratings below 9600 pounds .

ITEMRES MATERIAL IITEM Ngiv MATERIAL
d | 9 Masher, 2Vdx2%4 x e, 1¥g" hole ab | 2 INut, thimble type eye, 5/8"
n 12 PBolt, double arming,g"x req'd. Ig. ao | | Polt thimble type eye,5/e"xreq'd. ig.
) Connectors, as reag'd. av Jumper, ¥4 Alum. olloy or equiv.
u | 6 |Deadend for guy strand al | |Staple, ground wire
y Wire, guy, 7 strand, as req'd. bk] 2 JGuyPlate, 'x87 14 guage
¢ | | |Bolt,machine, /8 x req'd. length bj | 2 {Guy Hook,J
ek Locknuts, os required
bp] 8 |Nail, 8 penny, gaiv. ‘ 12.5/72 wv

DEADEND GUY
CROSSARM CONSTRUCTION

Apr, 1983 ES-I,ES-Z




NOTES:

. When two guys are attoched to one anchor
rod, use FI-3 or larger anchor.

2.Spacing between anchors shall be
sufficient to provide maximum holding
power of each anchor.

)

3.For loose soils,concrete or other pole
footings are recommended.

4.0ther accepted and equivalent (item
u) deadend material may be
substituted for automatic
deadend shown.

/T_

I
I
Il
|

- - -

Connect to neutrol
Conductor and ground

-+

) S

wire when present.

|

]

F1

5-0" ! ASSEMBLY UNIT
| min. l E6-2 Jg' GUY WIRE | E6-3 Tg' GUY WIRE
hrem MATERIAL No. Req'd No. Req'd
¢ _[Boit, machine, 5,8 * x reqd length 2 2
d |Washer, 3 x 3 x 5/6" curved 2
d |Washer, 218" x273" x 316" 316" hole 2
i |Screw, log, /2" x 4" 2
p {Connectors, as req d
u_|Deadend for guy strand 4 4
v_|Guy attachment, Mall. Iron, Heovy Duty 2
v_|Guy attachment, through boit type 2
Y |Guy wire, S, M,, 7-strond, Req'd. Length Reg'd. Length
av_|Jumpers, No.4 stranded Al alloy or equiv. as _required gs required
ck {Clamp, gquy bond, as req d
ek |Locknuts, as required
12.5/72 kV

DOUBLE DOWN GUY

Apr.,1983

E6-2,E6-




=
NOTES: 1
el ———

. Where three separate onchors are installed . L gy,
) _ —_T
the minimum separation shall be five feet. =
|\c-d-ek

2.Spacing between onchors shall be sufficient
to provide maximum holding power of each
anchor.

3.For loose soils, concrete or other pole
footings are recommended.

4.0ther accepted and equivolient (item u)
deadend material may be substituted
for 3-bolt clomps shown.

i | Connect to neutrol
Conductor and

| ground wire when

present.

VANNSLLZLANN L,

IT MATERIAL No. req’d No. req'd
c__|Bolt, machine, S/g" x reqd iength 3 3

d | Wosher, curved, 3'x3 x 5/16"_ 3 3

i |Screw, lag, 2" x 4" 3 3

p |Connectors as req'd as req'd

u [Deadend for guy strand 6 6

v | Guy attachment 1 3-5200 Ibs. {3~8500 Ibs.
Y | Guy Wire, S. M., 7-strand req'd length by z;/e"F 7/16 "

av |Jumpers, No.4 stranded Al. alloy or equiv as req'd as req’ d _
ck |Clamp, guy bond, as req'd. 12.5/7.2 kV

ek |Locknuts, as required THREE DOWN GUYS

(LARGE CONDUCTORS)

Apr., 1983 ET‘ 2 . E7" 3




4. Wrapped guys may be

Serve or Clip

NOTES: . -
I. Spocing between anchors shall be sufficient <3|-4-L3f."r91':1-|—-—-=q———

to provide maximum holding power of each

anchor.

2.For loose soils,concrete or other pole

footings are recommended.

3. Other accepted and equivaient (item u)/
dead-end material may be substituted £

for the ones shown. Formed type
grips may be used only with

suitable attachments (item v)
as recommended__by grip

manufacturer.

substituted for the
pole bands shown.

EB-2 | 3/8"guy strand
E8-3 | 7/16"quy strand

i
I II\ Connect to neutral
Lk Conductor and

P ,«‘-T'“a ground wire when

m— present.

'-4“. |
=t — ——
NN =
— m 4
_;m

freM MATERIAL No. Required

P |Connectors, as req d

u |Desadend for guy strand 8

v_[Guy attachment, pole bond type 4

Y [Guy Wire S.M. 7 strond req'd length
ov_lJumpers, No.4 stranded Al alloy or equiv. 08 required

ck |Clamp,guy bonding 2

12.5/7.2 kV

FOUR DOWN GUYS

(LARGE CONDUGTORS)

Apr.,1983

E8-2g 58-3




u SECTION Y-Y

Y P Y
Connect to neutral X bk 1 ~bp X
av

Conductor and
ground wire when
present. - —

™\

Eit| 174" guy strond

E12| 3/8" guy strand

brem | MATERIAL

NO. REQ'D.

C

[Boit, machine, 5/8'x req'd. length

|

u

'Deadend for guy strand

y

Guy wire, 7 strand, S.M.

Req'd Length
ck  [Clamp, onchor rod bonding P
bj Guy hook, J 2
bk IGuy plate, 4"x 8", 14 guage 2
bp |[Nail, 8 penny, galv. 8
av_ lJumper.®4 stranded AL. alloy or equiv.
p _ |Connectors. os reg'd.
ek |Locknuts, as required

12.5/72 kv

SINGLE LOOP GUY, WRAPPED TYPE

Apr., 1983

EILEID




Approx. ofter
strain is .

applied
<

P

Size of hole to be
saome @s onchor

CONE

FI-iC, FI1-2C, Fl1-3C
Rating is designdted maximum holding power in hardpan
ond rocky soil.

Approx. af ter
strain is

applied

SCREW
FI-1S, F1-28S, FI-3S, FI-4S

Rating is designated maximum holding power in ordinary
80il.

Roting is designated maximum
holding power in ordinary soil.

Approx.after
strain is
opplied

Size of hole to
be some as un-
expanded anchor.

Fi-I, FI-2, FI-3,.FI-4
Note: Projection of anchor rods above earth
moy be increased to a mox.of 12"in

cultivoted fields or other locations

Rating is designated moximum
holding power in ordinary soil.

Approx. after
strain is
opplied

v,

PLATE
FI-1P, FI-2P, FI-3P, F1-4P

where necessary to prevent burying ASSEMBLY UNIT
of the rod eye. Fi-| Fi-2 Fi-3 FIl-4
Rating (pounds ) 6000 8000 10,000 12,000
{ITEM MATERIAL NO. NO. NO. NO.
Rod, onchor, thimble eye t | 9a x7g | 53"17.-0“
Rod, onchor, twin eye i |%ax8-0] 1| |qx8-0" _
Z | ANChOf e e e type | 1 | !

LINE ANCHOR ASSEMBLIES

Apr., 1983

FI-ITOFI-4




_ S Y
I fiL_2
if 1
% ]
/ |
i l
' |
X H X
£ 11 !
s L }
=‘D | r— !
'a'. f : x
| :
] |
I
: Approx. ofter
J stroin is opplied
il
4 Il- 6"
g 0
:'~ :
N
¢ Normally 45°
4
)
/ SECTION X - X
) |
Y !

ASSEMBLY UNIT
F2-| F2-2 F2-3 F2-4
ITEM MATERIAL NO.| TYRE |NO.| TYPE |NO.| TYPE [NO.| TYPE
d_|Washer, 13/16" hole, (1 /8" min. for F2-4) | 1 |a%x&x1/2] 1 |akaxvZ] 1 jaxaxi2] | laxaxwe”
x |Rod, anchor, thimble type eye |_Is/ex7-0] 1 |3/4x8-0"| | 13/4%x8-07 1 {I'x9-0"
z__| Anchor, (creosoted log) | B'diaxd-0} | 19'dicxa-6] | JOBx50] | [2diex5-0
Designated maximum holding power in 8000 # 10,000#  ]12,0004 'IG,OOO#

ordinary soil

LOG ANCHOR ASSEMBLY

F2-1T0 F2-4

Apr., 1983




Note:

Projection of anchor rod above
eorth may be increased to a
moximum of 12" in cultivoted
fields or other locations where
necessory to prevent burying

Approx. ofter strain
is applied.

be some as un-
expanded anchor.

Approx.after strain
is applied.

Size of hole to

the rod eye.
F4-1E
EXPANDING ASSEMBLY UNIT
F4-1S F4-1 E
ITEM MATERIAL NO. NO.

X [Rod, anchor, thimble type eye i "}g" x6-0]

2 |Anchor, service | |
Designated maximum holding power in sand 2500* 2500

SERVICE ANCHOR ASSEMBLY

Apr.,1983

Z




18" min. for sou ‘
30" min. for stratified rock

XK =
—Hk-|3/4"

lid r

FS-1

Normally 45°

¢

Notes:

l.Only one guy shall be attoched to o
rock onchor. Where more thon one
guy is required spoce onchors 2 ft.

minimum ond where practical they
shall be in direct line with pole.

2. Do not anchor to any bouider
measuring less than Sft. in two
directions ot right angles to each

&
> other.
F§-3
ASSEMBLY UNIT
FS-I F5-2 FS-3
2 MATERIAL No.REQ'D |No.REQ'D |No.REQ'D
x |Rod onchor, thimbie eye |
Z |Anchor, rock [ |
bm | Thimbie, guy {
ROCK ANCHOR ASSEMBLIES

Apr., 1983

F5If 52753




. gt b5, T a A
o ::'~"’0 ""\

." ’ ‘ ‘l ‘loo.
YTNIEY e

’Il ,.Q',

'. 'alln‘. of ‘ e 9’

ASSEMBLY UNIT

F6-1 F6-2 F6-3
iTEMl MATERIAL NO.| TYPE |NO.|TYPE [NO.|TYPE [NO.,TYPE
z |Anchor, swomp | 10” | 12" ] 5"
Designated maximum holding power 6000* 8000™* 10,000*
Nut, thimible type eye | | |
Pipe, galvonized,as req'd

SWAMP ANCHOR ASSEMBLY

Apr.,1983 | . 6'2,F6"3




i Notes:
l. Designate G9 for conventional transformer with

' l tank mounted cutout and arrester, G635 for
' - transformer with double gap and internal fuse,
G105 for self protected transformer.
2.See guide drawings for details of transformer
secondory and service connections.

3. Do not disconnect transformer neutral without
first disconnecting primary.

-—7%
©
-l
]
~Neutral
©
_l
Y
=X
®
Y
Note: } -
ltem ax may be substituted ’
for items ae ond of.
EM|NQ MATERIAL L‘I‘EM NO. MATERIAL
c_ | 2 |Bott, machine, 5/8" x_req'd. length on || |{Tronsformer
d |2 |Washer, 21/4"'x 2 144"x 3116, 13/16" hole gp || [Clamp, hot line, tap ossembly
P Connectors, as required av Jumpers, stranded,as required
ae , Surge  arrester (G9 only) ‘ bv |1 |Rods, armor
of |Cuiout, fuse, open link (G 9 only) ek Locknuts, as req'd.
12.5/72 kV

SINGLE PHASE TRANSFORMER
AT 1-PHASE TANGENT

Apr, 1983 | 69-,665-G105]




Notes:

I. Designate G 10 for conventional transformer
with tank mounted cutoutand arrester, G66
for transformer with double gaps and internal
fuse, G106 for self protected transformer.

2. See guide drawings for details of

transformer secondary and service
connections.

3. Do not disconnect transformer neutral without
first disconnecting primary.

ap-bv
X
Neutral _
Note : —_————
Item ax moy be substituted Il
for items oe ond of ;l,..r }
I} -
ITEM MATERIAL JreM no. MATERIAL
¢ Bolt, machine, 3g " x req'd length an | 1 | Tronsformer
d Wosher, 274" x 2%4" x 3/|§",T3ns'hdo ap | 1 | Clamp, hot line, tap assembly
P Gonnectors, as required av Jumpers, stranded, as_required
ae Surge arrester (G10 only) bv | | |Rods, armor
of Cutout, fuse open link (G 10 only) ek Locknuts, as reqd
12.5/7.2 kV
SINGLE PHASE TRANSFORMER
AT DEADEND

Apr., 1983 G10-,G66-,Gl06-




Notes: |. Designate G39 for conventionoT

0 transformer with tank mounted

' cutout and orrester,G67 for

( transformer with double gap

( ond internal fuse and Gi36

{ for self protected tronsformec

$ 2. See guide drowings for

i detoils of tronsformer

i .secondary and service

| connsctions.

: 3. Reverse for connection
fo ofher outside phase.

o

| S
d ] &
& i R
. ' ' v - - . :-—--
- 4! & Fii
—————————— doi— — — oo o [ e by
iy clplomny % iyl mpig g
S I 7]
S
)
av
v -
_-¢—1-
]
©o
-l
- =% =
NOTE ! ©
4. Do not -
disconnect tfrans- ¥ N 3
-former neutral ]
. . 4
without first {4 :
disconnecting primory.qj Note:
) ltem ox may be substituted
for items ce ond af.
frem [no MATERIAL jEm o MATERIAL
€ |2 [Boit, mochine, 5/8" x_reqd. length ov Jumpers , stronded, os_required
d | 2 [wosher, 2 1452 14X 3116, B3/16 hole of |! |[Cutout, fuse, open link (G 39 only)
[ Connectors, os requwed o8 |} | Surge arrester (G 39 only)
on |1 |Tronsformer bv || |Rods, ormor
[ee__l! |Clomp, hot line, top oczsembly ok Locknuts as required
12.5/7.2 kV

SINGLE PHASE TRANSFORMER
ON THREE PHASE CIRCUIT

Apr., 1983 G 39-G67-G1364




— s o —— i a— g w—

hrEm |no, MATERIAL

|8t i " ]

Waother, 2 1M 21M" 1 316, 138"
Crossorm, 358" w 454" 1 8-0"
Bolt, corrioge, 3/8" x 4 12"
Screw, log, 1/2°2 4"

P o= (00 ] [ [t

Conneclors, compression iype

Conneclors, 08 requived

2 | Tronsformer, conventional, SO kWA [ 8

Jumper, secondory, ;‘M- ;ui
'e

2 | Cutout_ond lor, combinolion

2 | Broce, wood, 28
| | Bracket, tronsformer
ingulator, pos) fype, with 7" stud

] FERRRFFFFT

3 | Transformer, M!‘ brocket
Leckauis, os require:

120/240 V.

WIRING DIAGRAM

NOTE:

Do not disconnect transformer neutral
without first disconnecting primary.

12.6/7.2 kv
TWO TRANSFORMERS, CLUSTER MOUNTED

OPEN WYE-OPEN DELTA FOR
1207240 VOLT POWER LOADS

Apr., 1983 {6 210-




AN '"' /,,,;‘,"
> W
v
-IV
O O e I R
I H "ﬁ
|-. 'r <
t -n-d-ok
cu

e —d

— — frew |!~"‘,g-,;l MATERIAL
o) r‘ d | 2 |Wosher, 204 x 274 x " hole )\
,{11 9 | ! Jcrossarm, 39a"z 4h'x8-0"
I  — e i |2 |80t carrioge,3e” 144
/p a E' { } |4 [Scrowm logls"x 4"
~ o 4 g:i? P | 3 |Connector, comprassion type |
: ] Connectors, as required
I :: on |3 | Transformar, 100 kVA mox.conv.
| ‘g' av Jumper secondary, weather - proof
| ) oy Jumper, primory, bare stronded, o8 req'd
_ 3] _ _!Uoulrol ox }3 [Cutout ond errester, comb.
.\ vu | o [connector, transtormer grounding ¥
! cc | | Deadend, ossembly, neutral
H cu {2 |Broce, wood, 20"
} dm Brockel, tromslormer, clueter ond
_____ 1 adopter plotes os req'd
: I | Link, di
TANGENT LINE ASSEMBLY ot 2
Primer fo | 3 |Tronstormer secondary brockel
Li ] ) | Bolt, double qmln!,# 2rpgqd.length
n -
F . L]
‘m s \G':.o::\'?'d . Locknuts , as_required
| “Ungrounded
Neutrat
3 ¥Specify this Htem to be furnished by the
12072404 r-‘ tronsformer manufocturer.
WIRING DIAGRAM ¥

Notes:
1. AN tonks o be grounded.
. 2 Secondary neutrals of all
tronsformers excep? one

sholl be disconnectied from
tonks and not grounded.

3, When used for combined i-phase
and 3-phase load the transformer
for the 1-phase load shalinot be
iorger than fwite the copacity

of one of the others.

4. For transformers 50 kVA and

smaller,use one cluster brocket
with odapter plates and dimension
as shownon G 311

12.5/7.2 kv

Note: THREE TRANSFORMERS CLUSTER MOUNTED

For melering see drowing MB-6.

UNGROUNDED WYE-CENTER TAP GROUNDED DELTA
FOR 120/ 240 VOLT POWER LOADS

Apt, 1983

G310-.




mlm._&;.wm@ -
L2 1/4" 2 1/4"x /16", 13/I€ hole
ICrossarm 35/8'x 45/8'x6-0

A ]

m:v ;

fla.

faiy
2

Scrow,leg, /2% 4

!

S INegp—
e . -

,double orming, 5/8'x req d. Igth

2
t
2 |BoM, corrioge 3/6°x4
4
1
3

av

.F
‘T

Connectors, compression typs

Connectors, as reqd.

Eys nut

Transformer, 100 kVA max.

|dumper, bare , siranded, as reqd.

—— g T

av Jumper, secondary, weather —proof

—— e e s emee €% 7Y

(-]
=
(]

Cutout and_Asrester, combination

|Brace, wood, 28"

2
k fo | 2 [Tronsformer secondary bracket
3 3 |Connector, transtormer grounding ¥

M

1t

TANGENT LINE ASSEMBLY Bracket, transformer, cluster and

Wl 12.8/7.2 &V adagter plates, as reqd,

Primary — 2 [Link , grounding

' ) 7 Grounded | ek Locknuls, as req d.

h
> I { y Neutral

£ '
N TRl L 1 ) cutout S.A 1+1-Ungrounded
Y o W]— Neutral
{ —

e Py

JJ“ > 'hl /l'( ) Phase grounded b Gl or service
> o on secondory Y, ., . b 4 240 or 480 V.

fo bu
Link % Specify thess items 1o be (furnished

Link dm by the manufacturer.
= I /s

r————-—

%
] =
3
)
5
z

Notes:

P —— I. All tanks fo be grounded.

2.Secondary neuirols shall be disconnected
from tanks ond not grounded.

3. Grounded secondary phase wire must
be identified throughout circuit run.

4 For transformers 75 kVA and larger
use two cluster bracketa and dimension
as shown on G3I0.

|
av 1'

SECTION X-X

Note :
For metering assembly , refer to

N e o e e o e e e O ———

A ——— — —————— - —— v ———

v

N - —————— ————— e ————

; drawing M8-12 12.5/7.2 kV

- THREE TRANSFORMERS, CLUSTER MOUNTED

UNGROUNDED WYE - CORNER GROUNDED DELTA
FOR 240 OR 480 V POWER LOADS

Apr.,1963 G3ll-




e \ brem | wo MATERI
It+ | rﬂ; d |2 |wosher, 2 4"x 2 1a"x 3/16", 13/16" hole
A G Ty -: ' 4.4 o — 9 | ! |Crossorm 35/8"x 458" x 8-0"
e i =& ((d’ *15 At i |2 |BoM, corrioge, 3/8"x 41/2°
e i ) |4 |Screw, lag, 17271 47
Ll n | 1 |Bolt, double, arming, 5/8"x req'd. lengih
. 1| D |3 jConnector, compression type
? i [ Conneclors, os required
. . e |
3-8 | | on 13 | Tronsformar, 100 kVA mox.
] | . av Jumper, secondory, waglher-proof
n-d-ek /° | Pm and  secondory av Jumper, pri. bors, stronded, os req'd
. - 4 1 4 —— neutrals must be ox | 3 | Culout ond orrester, hination
h Tg_§ 7 T.2 gy interconnecied A bu | 3 | Connector, transformer grounding %
B
y u c cu | 2 |Broce, wood, 20"
'o N om Brocket, former, cluster ond adopter
L ; ), SA. & b plates o8 _required
I } . P ¢ ] 1 : fo | 3 | Traneformer sscondory brocket,
) 4 ! X insulated N
L B 3 1 Link ogrounding
Q ok Locknuls, as required
! 93— - - — 1
i 0 |
' I 4
l‘ | H ’ :w N
\‘q Tt 2R c
N
¥ ., [] A
| — on 08/120V.
" \ i b hasiazs | WIRING . DIAGRAM 208/120V- L

¥ Specify these items to be furnished
by the manufacturer.

Notes:

I. For tronsformers 50 KkVA ond lorger, use
two clusier brockets ond dimensions os shown
on G3i0.

2. Single bushing transformers moy be
used if desired. If used, do not

disconnect transformer neutral withou!
tirst disconnecting primary.

e - — - —— - — - - = g

o ——— . ——— — ——— - — ams —

SECTION X-X
Note: 3. Re-connect internal windings of
For metering, sse secondary as shown.
drawing MB8-Il,

25/72 kv
THREE TRANSFORMERS, CLUSTER MOUNTED
4-WIRE GROUNDED WYE-GROUNDED WYE

FOR 208/120 VOLT POWER LOADS

]

Apr.,1983 | G312~




JI10

5* 10 60° =ty
N JI2
30° to 60°
For use on Self Supporting
Service Cable
bTeEm Ino. | MATERIAL | MATERIAL i
c [Bolt, mochine, 5/8" x required iength [ be Bolt, single upset :
d Wosher, 2 1/4"x 2 144" x 3/16. 136" hole || bn Clamp, loop, deodend
04 Bolt, eye, 5/8" » required length %{ cq Sleeve, offset, splicing
P Connectors, qs required do racket, _insulgted
q Bolt, double “ fo Transformer secondory bracket
: Clevis, secondory, swipging, insyloted k knyts Os required
cm Insyl

SECONDARY ASSEMBLIES

Apr., 1983

JS to JI2




D\ R F——— o 33
%,-.—_—13 = -

ELEVATION ELEVATION

Note:

Service connectors to be insulated compression
type.

-K14-

[z F—=——
ELEVATION
TEMNO. MATERIAL Jremno. MATERIAL
¢ Bolt, machine, 58" x reqd length as Clevis, service, swinging, insulated
d washer, 214" x 2Va"x " Yie" ole bh Clevis, service , deadend,insulated
0 Bolt,eye, 5" x req'd length ek Locknuts as required
ar Wire holder

SERVICE ASSEMBLIES

Apr.,1983 | KIO,K“,K|4




tape

FORMED TYPE

| & \Armor tape
. Note:
(™ Groove diameter of
insulator | 3/4" min.
=\ - o
hize =
2
-t 3/8}-
‘ 144 5
LOOP TYPE WEDGE TYPE
bt w  prill 3/4"
-~ se——eeeee 1 QP @ dq
[oar ‘ f
min.
as
[
o J

BRICK OR MASONRY

Notes:

Wedge and formed type service dead-
ends in sizes shown on page di of the
List of Materials may be subst. for those

shown on KIIC, KI4C, KI5C, and KI6C.
This type construction should beused for

3 or4 conductor service cablies with bare
ACSR neutral. Service connectors to be

insulated compression type.

rem MATERIAL | MATERIAL
bt Wireholder, clevis type, insulated . dt Service deadend, wedge type.
#24 woodscrew, dt Service deadend, preformed type.
p Connectors, as required. dq Eye screw, elliptical, 172" x 6~
bn Clamp, loop deodend. 3/4"x 3 172" expansion shield
as Clevis, service insulated

SERVICE

ASSEMBLIES, CABLE

Apr., 1983

KIOC




ek

evreceratemenone

A =0 as
|l M Ja:c/p
=
PLAN
KIOL KIL
@
) os P
bt pmf
o] |
O\J k:_—_k
ELEVATION
c-d bh
- 6"
r—-T—-I [
\ 1 |/ NOTE

This type construction should be used
for No. 2 covered oluminum conductor
and larger.

NOTE 2:

Service connectors to be insulated
compression type.

ELEVATION
PTEM|NO. MATERIAL ITEM|NO. MATERIAL
¢ Bolt, mochine, 5/8"x reqd. length ar Wireholder
d Washer, 2 14'x 2 W4"x 316, B/6" hole os Clevis, service, swinging, insuloted
0 Boll, eye, 5/8"x reqd. lengh bh Clevis, service, deodend, insulated
p Connectors, as req'd. ek Locknuts, as required

SERVICE ASSEMBLIES
(LARGE CONDUGTORS)

Apr., 1983 !

}RW)L,KIIL,KML




]
Wy

-Kl4C-

NOTE

3-
|4

S

This type construction should be
used for 3 or 4 conductor service

cables with bare A.C.S.R. neutral.

Service connectors to be insulated
compression type.

Groove diameter of insulators
minimum for loop deadends.

MATERIAL

ew|

MATERIAL

Boit, machine, 3" x req d. length

bn Clomp, loop deadend

W 25 X2% Xk hole

da

Bracket, insulated

|Bolt, eye x req d. length as|. |Clevis, service swinging
Igﬁi; secondary, swinging, insul. p . Connectors, as required
Nut, eye de Service deadend

Locknuts, as required .

SERVICE ASSEMBLIES, CABLE

Apr., 1983

IKITC, KT4C, KI5SC



- -K16C-
Armor
tape 7 bn
AN n O A

_____

Groove diometer
of insulator 133"

1

mi

NOTE: This type constr. should be used
for three conductor service
cables with bare ACSR neutral.

L

-KI7L-
~

/P

NOTE: This type constr. should be used
for No.2 covered aluminum

conductor.

ds
-KI7-

"~

NOTES:
L Service connectors to be insulated
compression type.

2.For arrangement of service as-
sembly units see drawing M24-10.

(TEM| NO. MATERIAL ITEM| NO. MATERIAL
p Connectors, as req'd dr ’ Clevis, conduit insuloted
bn Clamp, ioop deadend ds Wireholder, conduit

SERVICE ASSEMBLIES
(FOR RANCH TYPE HOUSES)

Apr., 1983

Ki6 C,KITL,KI7




I

s,

=
0y
[

av
stranded

—e—=— — =

PUSHIES e p—— 1]

-y

-7

Voo o e e e e

) -
v
v
1]
s,

Copper UNIT M2-i1
similor to Unit M2-I

Ground Level :g except as shown.
-1 ‘ lﬂ
] H
- Z
St :;( I. Ground wire fo be located on some side as Neutral Conductor
- ' and in quadrant opposite climbing space or pole top pin.
3 b=+ JZ 2. Staples on ground wire snall be 2 gpart, except for o
g M.-$-.Z  distance of 8' above ground and 8' from top of pole
i 1.4 where they shall be 6" apart.
- ﬂ‘l’ 4 777 "
© % 3. Ground wire to clear all hordware by 2 min. and shall
; .
“© % al be stapled to maintain this position.
H ;/’l UNIT M2-I 4. For use wifh V and 3-phase assembiies refer to
K 7 guide drawings M30-! and M30-2.
ASSEMBLY UNIT
ITEM MATERIAL M2-1 M2-11
P__|Connector, compression as req'd. as req'd.
ai__|Rod. ground, 5/8" minimum_diameter ! I
6j [Clomp, ground rod wire [ I
al |Staples, ground wire (copper or steel to match ground wire ) as reqd. as req d.
al Ground wire clip |
cj |[Ground wire, minimum No. 6 copper or equiv. conduchvity as reqd. as reqd
av |Jumper,stranded, min. No 6 copper or equiv. conductivity as reqd as reqd
12.5/7.2 kV

GROUNDING ASSEMBLY - GROUND ROD TYPE

Apr.,1983 M2"|,M2‘“




P

Connector

when required

Compression

-

m.
3
5

Copper l J

o

' -
Cop paerweld ]

PLAN OF PLATE
TYPE GROUND

NOTES: | Ground wire to be located on saome side as
neutral conductor ond in quadrant opposite ciimbing

2.Staples on ground wire shall be 2' apart except for
a distance of 8 above ground and 8' from top of

ﬁ ! space or pole top pin.
K1 Trs
0y ~ | /\ N

pole where they shall be 6" apart.

3.Ground wire to cleor all hardware by 2" min.
and shall be stapied to maintain this position.

4 dn
Copper 4. For use with V and three phase assemblies refer
M2-2 to guide drawings M30-1| and M 30-2.

ITEM MATERIAL M2-2 M2-12
cj 1Ground wire K min. No. 6 Copper or equiv. conductivity 0s req'd. as reg'd.
dh |Grounding plate, butt type copper | [

ol 1Staples,ground wire{copper or steel to match ground wire) as req'd. as reqg'd.
p IConnector, compression as req'd
al |Ground wire clip ]
bp |Nails, gatvanized 17 4 4
12.57 7.2 kV
POLE PROTECTION ASSEMBLY - PLATE TYPE
Apr.,I1983 M2-2 ,M2-12

476-160 O - 85 - &




: > Compression connector
T when required

NOTES:

cj . ../

Soft annealed iron I
“c" galvanized _ || |
5/16"-3 strand 1 |
I

|

be 6" apart.
or copper l

|. Ground wire to be located on same side as
neutral conductor and in quadrant opposite
climbing space or pole top pin.

2.Stapies on ground wire shall be 2' apart
except for a distance of 8 above ground
and 8' from top of pole where they shall

3.Ground wire to clear all hardware by 2" min.
and shall be stapled to maintain this

6-——1-1" )}fd:“""' position
6" ——’?fj 4. For use with V and 3-phase assemblies
e o = il refer to guide drawings M30-l and M30-2.
g--—-ﬂ-f."l
ITEM MATERIAL M2-2A | M2-I12A
P |[Connector , compression as reqd.
ai |Clip, ground wire |
al |Staples ,ground wire(copper or steel to match ground wire) as raqg'd. as req'd.
¢j |Ground wire,min. No.6 Copper or _‘e_ggivolom conductivity as req’d. as req'd.
cj |Ground wire,soft annealed iron, 'C " gaivanized 5/ 16"-3 strand as req'd. gas reg'd.

12.5/72 kv

POLE PROTECTION ASSEMBLY
WRAP-AROUND TYPE

Apr., 1983

M2-2A,M2-12A




¢j

6" min] |

_.‘.-r

Soft annealed irony
"C" galvanized T
5/16"- 3 strand |

. —— — —
2
v

|
|
|
%
|
|
|

.
1

4‘3_

M2-12A2

NOTES:

|. Ground wire to be located on same side 0S
neutral conductor ond in quadrant opposite
climbing spoce or pole top pin.

o.Staples on ground wire shall be 2' apart
except for a distonce of B' above
ground and 8'  from top of pole
where they shall be 6" apart.

or insulated |__‘_J'/°' 3. Ground wire to clear all hardware by 2"
copper | | min. and shall be stapled to maintain
} | this position.
I : 4, For use with V and 3-phase assemblies
'l_ | refer to guide drawings M30-lond M30-2.
(-i'c:lv.d 2tee| -
ITEM MATERIAL M2-2A2 |M2-12A2
. dh |Grounding plate, butt type, galv. steel | |
bp |Nails, galvanized, | 4 4
p |Connectors ,compression as req'd.
cj |Ground wire ,min. No.6 Copper or equivalent conductivity as req'd. as req'd.
gl |Clip, ground wire |
ol |Stoples, ground wire({copper or steel to match ground wire) as reqd. as req’'d.
¢ j_loround wire, soft annealed iron, “C" galvgnized 5/16" -3 gtrond as reg'd. as req'd.
12.5/7.2 kV

PLATE TYPE

POLE PROTECTION ASSEMBLY

Apr.,1983

M2 -242 M2-1242]




—— s — Y —— ——

¢+
q.- -{b A
" i
cj l — al(clip) r';'f-]
(SOlid)\‘ I ) |
P g
______ + ]
al (chip) — |
p—e sJ
i)

vJ . cj
c:l (Aluminum
or Copper)

ALTERNATE B

P
ompression connector

when required)

50 l 50
" Icj(Copperret | T
! p X | Rock level

cj
Copper

Neutral_

Aluminum
or Copper)

Similar to M2-3
Except as shown

S NOTES:

E 1. Ground wire to be located on some side as
€ neutral conductor and in quadrant opposite
E  climbing space or pole top pin.

N

. Staples on ground wire shall be 2 feet

apart except for o distance of 8 feet
above ground ond 8 feet from top of
pole where they shall be 6 inches apart.

. Ground wire to clear all hardware by 2"

minimum and shall be stapled to maintain
this position.

GROUNDING ASSEMBLY

TRENCH TYPE

18" required 4. For use with V and 3-phose assemblies
ALTERNATE A whenever poss'ble fefaer to gulde drOWiﬂqs M 30-1 ond
M 30-2.
mM2-3
ASSEMBLY UNIT
ITEM MATERIAL M2-3 M2-13
p |Connector, compression as req'd. as req‘d.
ol |Staples, ground wire(copper or steel to match ground wire ) as req'd Qs req°d.
gl |Ground wire clip |
cj Ground wire, min. No. 6 Copper or equivaient conductivity as req'd. as req'd.
12.5/72 kv

Apr., 1983

|

M2-3 M2-13




J
s
- ; -‘

Ground wire

<
extemmﬂ-cl\it )‘*0' (clip)
]

.-
B

£

p (compression connector)

(U Sl B

e prac e e —————

i

—————V

p (Compression connector
when required.) !

UNIT M2-17
Noles:
L. Ground wire to be locoted on some side as Neutral Conductor
ond in quodrant opposite climbing space or pole fop pin.
2.Slaples on ground wire shall be 2-0"aport, except for o
\ distance of 8'-0" above qmd ond 8-0" from top of pole
where they sholl be 6 opart.
3.Ground wire fo cleor all hardwore by 2"min.ond sholl be
stapled fo maintain this position.

4.For use with V ond 3-phose assemblies refer fo guide
drowings M30-1ond M30-2.

5. Keep moximum separation between onode ond
anchor if present.

6. Underground connectors to be compression type
U si or welded type and sealed with tape or compound.

s

N |

S\

[
e e

L.

Wy

9'- 0"min.
\

_‘__.___4".&

See REA Bull. 16!-23 port TN Assembly  Unit
ITEM MATERIAL M2-7

M2-17

P |Connector,compression as reqd.

ol |Stapies,ground wirs,(copper or steel to match gnd wire) [as req'd as req'd
al |Ground wire clip _ |

ov |Conductor,M.H.D.orS.0,copper,. TW insulated ¥ [2 AWG min. | as req'd as req'd
i IGround wire 6 S.D.copper or equivalent as req'd as reg'd

cj |Ground wire,extension’ SD.copper orequiv. ]
U si |Anode, as specified, (See REA Bulistin 161-23 port I¥ page 7)

GALVANIC ANODE ASSEMBLY

Apr.,1983 M2-7,M2-I7




|
] F; SECTION Y-Y —-—T;q-j
A3y P

Ground wire

SECTION X-X

l X |
-

DEADEND ARRANGEMENT TANGENT ARRANGEMENT

NOTES:

l. Ground wire to be located on same side as Neutral Conductor ond in quadront
opposite climbing space.

2.Staples on ground wire to be 6" apart.
3. Ground wire to clear all hardware by 2"  minimum ond shall be stapled
to magintain this position.

4. For use with Vand 3-phase assemblies refer to guide drawings M30-1 and
M30-2.

brenfre: .. MATERIAL ITEMpEQ: MATERIAL
p | | [Connector al | ! |Ground wirg cilip
al Staples ground wire,0s required cj Ground wire , minimum No.6 copper
or equivalent conductivity,os req'd.

12.5/7.2 kV
POLE TOP PROTECTION ASSEMBLY

Apr.,1983 | M2-9




————
—e——s"

ool E
-4
- ._,i,_ — e —

o -

-Q- ¥
12" | =

/No. 2 Copper c?
™

i .
| (=)
-l
0
L),
it
SECTION X- X
SEE DETAIL (Detail of Ground Grid)
-+,-\
g 0
i ‘
‘ ‘ I
X | |
gmgnmrﬂ Clomp and braid !
- 2. I to be furnished { ]
“iz with controls Nl
': \ . ?‘ . 4
gl ~aj ¢l s
.:’.":’.7 2.
wllZ
rew pro] MATERIAL iTEM lnegp] MATERIAL
0i |4 |Rod, ground 5/8"dig. min.x 8-0"
gj |14 (Clomp, ground rod
ol Stopies, ground wrre (copper) |
¢j {Ground wire, *2 S.D.Copper it
p Connector I
Al
GROUNDING ASSEMBLY-GROUND ROD
TYPE FOR SECTIONALIZING
AIRBREAK SWITCH
Apr.,1983 M2-i5




-
i
N-
[ ]
m:

¥

I |

f

il J‘ -
i |
i l §
¥ cj !
I I(Aluminum . :
H or copper) o i

1 | | !

i . :
f

| |
¥ | P '
| : (Compression }
‘ 1 connector - X >

when req'd.) DETAIL OF PLATFORM

===k

EE DETALL /
dp oj

DETAIL OF
PLATFORM GROUND

- -
- T

p (Compressio
connector
when req'd.)

EEmeysyr=

:>~.| Clamp and broid i

cj .

(Gaivanized 9! ~3 to be furnished L' -

steel ) oi—1--J with controls i

DETAIL
ITEM|NO. MATERIAL liTEMNO. MATERIAL’

p Connectors, os required ci Ground wire, No. 2 copper or equiv.
ai | | [Rod, ground, 5/8" dic. x 8'- 0"(gaiv) conductivity, os required
oj | | IClomp, ground rod(gaivanized steel) dp | 2 |Grounding connector and lockwasher
al Staples, ground wire, os required(galv) | liron grounding platform_plate (gaiv)

1

GROUNDING ASSEMBLY - PLATFORM TYPE
FOR SECTIONALIZING AIR BREAK SWITCH

Apr...|983 M2 - |5A




exhaust blast is

Mount cutout sothaot

directed away from lineman.

w
o
%l gl
o i
(4]
PLAN
f , 6", 2'-0" B 2.-6"
n 1 - e
. 8
N1t i -
i ; t\l’.'g 1 l" 1,.c-d-ek Iy
) '—"4 C - —g - - \
* | }
| | |
R e
' (@] a
| : .lv ' ! | } .'?
|| i ™
' | l I '
I} |
|t 14 i \
N i
e <l M3-1A
M3-4 M3-4 M3-1A
ITEM MATERIAL NO. REQUIRED NO. REQUIRED ]

Bolt,machine, 5/8 x required length

|Locknuts, as required

[
d |Washer, 2 1/4 3q. x 3/16, 13/16 hole ] 2
g |Crossarm,3 58"x 4 5/8"x 5'- 0" !
i IBolf,carriage, 3/8"x 4 /2" 2
| 'Screw lag, 1/2"x 4~ ] I
p iConnector, compression type 2 2
af |Cutout, fuse, single shot ] !
gy iLeads or jumpers as required
cu |Brace,wood, 28" 2
fn |Bracket, extension, L type |
ek

12.5/7.2 kv,

I-PHASE

ONE SECTIONALIZING FUSE CUTOUT

Apr., 1983

M3-1A, M3-4




6"

Note:

For V-phase installations omit
switch and reiated items on center
phase. Designate as M3-2A.

Item cc is shown on assembly
drawings M42-3, M42-I11, M42-13,

,,__
g . J—
L
I [
.
| ¥
_'l,l]]]:f!.l..
L-—E' Y

1
|
and M42-21, IL j
T
HTEM |NO. MATERIAL MATERIAL
¢ |4 |Bolt, machine, 1/2'x reqd. length lJumpers. as _required
d |4 [washer, round, | 3/8" dia. Shackie, anchor
d | 3 |washer, squars, 2 178" Deodend assembly, neutral
g | 2 [Crossarm, 3 /8 x4 /8 x8 -0 ce, crossarm, wood, 60 _span
| | 6 |Clamp, deadend Locknuts, as required
n | 2 |Bolt, double arming,5/8"x req'd. igth. Switch, disconnect, |5 kV, with
o |4 t, eye,5/8"x required length mounting hardware
P Connectors, as required Insulator, suspension
ga | 4 [Nut, eye, 5/8

12.5/7.2 kV

TWO OR THREE SECTIONALIZING

DISCONNECT SWITCHES

Apr.., 1983

M3-2A. M3-3A, -



NOTES.
|. Mimimum conductor size is 4/0
2.Specify that extension n-d-ek
links are to be supplied
with switches
3.1tems ca and cc are shown
on assembly drawing M42-3,
\_ M42-11, M42-13 and M42-21.

G me onon en O s oS &5

+  PLAN
ITEMINO. MATERIAL ITEMINO. MATERIAL

qQ 3 _linsulator, pin type
b | | |Pin, pole top, 20" o |4 |Bolt, eye, 5/8 x req d. length
c<_| 4 |Bolt, machine, /2" x regd length P Connectors as _required
¢ | 2 |Bolt, machine,5/8 xreqd length aa |8 |Nut, eye,5/8"
d |14 |washer,2 1/4'x2 |/4 x 3/16, 13/16  hole’ av Jumpers and leads as req d.
d | 4 |washer, round, | 3/8 diam., 9/16 " hole bo | 2 |Shackie, anchor
f | 2t |Pin, crossarm, steei, 5/8 x103/4" ca | 6 |Deadend assembly, primary
g | 2 |Crossarm,35/8"x4 5/8 x B-0" cc | 2 |Deadend assembly, neutral
k | 12 |insulators, suspension cu | 2 |Brace, wood, 60 span
n | 4 [Bolt, double arming, 5/8 x reqd. length du | 3 |Extension Links
ek Locknuts as reguired 12.5/77.2 kV
sb| 3 | Switch, line tension

LINE TENSION SWITCHES

Apr., 1983 M3-3B




NOTE:

The terminal bushing
connected directly to the
coil should be connected
to the source. Where nec-
essary to provide for this
connection the recioser

may be mounted on the
other side of the poie and

the neutral deadended.

1
{ | 'i:\c-d-ek
|
! |
: ||\beorel ; :l,
[t I
L4t o)
ELEVATION SIDE ELEVATION
ITEMNO. | MATERIAL hrem{NOs MATERIAL
C_| | |Boit machine I8 x req'd length ae | | [Surge arrester
d || |washer, 214" x 205 x N6 e Nole bv_| 2 |Rods, armor
p Connectors, as required el || |Sectionelizer (M3 -41 only)
L1 Locknuts, as required
fi_| 2 |Connector hotline. tap assembly
av Jumpers, stranded. as requirad
be | | |Recloser, oil circuit (M3-10 only) ]

12.5772 kV

ONE SECTIONALAZER OR OIL CIRCUIT RECLOSER

Apc, 1983

M3-10,M3-4|




| ot | ITEMNG MATERIAL
be | | \:,"_- | 0 |2 |insulotor, pin type
\ ‘ -4- :o fl' T ) g
ro n-d-ek /00 w3 Cle f (# ¢_| 4 |Boii, machine. Va"* req'd_ig'th
) H S w3 sy d_| @ [Wosher, Rd. 1%y da ¥,s" hole
! A b -‘I;‘- d |10 |Washer, 2!!4‘-2&.‘-9..15)!'“.
S e ————— z il - ity - M ; f 12 [Pin,crossarm, steel %" 210 %a”
ntr X oyt IJ 9 |2 [Crossarm, 3% 'x4% *8-0"
3 7 y LI It - i - polienelh - Sllsandug h |2 |Brace, I¥2" x 1Ve" x e, 60 spani
I‘?. . . I
A { domy X e n_| 4 [Bolt, double arming. 5/8"x req'd. length
Hi: \oo c-d-ek it T .‘:_:. P Conneciors, os reqd.
] - Lyt
' 1
4 | Li-s | 99 Nut, eye, 379"
¢ ' I-}-s | o¢ |3 |Surge arrester
i Qv Jumpers, stronded, gs reg'd
be | 3 |Recloser, oil circuit
TION X-X 1
SECTIO ! bv | 6 [Rods, armor
PLAN
ok Locknuts, as required
fi |6 [Connector, hot line, top assembly
SOURCE
4 -b . NOTES:
| &::rzﬂb}}}-ﬂﬁ I. The recloser terminal bushing connected
3 8\ directly to the coil should be connected
Lt —_— to the source.
sl 2.For V-phase installation omit center
v phase;odjust material list and designate
| M3.01.
fr‘ 3. Each recloser tonk shall hove two
“’\ separate connections to ground.
el 5=
\
J 12.5/7.2 kv
- 2 OR 3~ PHASE, THREE SECTIONALIZING

OIL CIRCUIT RECLOSERS

Apr,, 1983 M3-11,M3-12




8'~ o-

dm

e
S ————

e e e

LOAD
-——

—+ Ruljur—==sp0{-

SOURCE
 po---atiale4—— -

N

bv-ti

——

_«‘_.', m_

——— e

-

T MATERIAL
' or , " 1}
1
i
p Connectors, as required ,
age Surge arresier !
av umpers , siranded, as _req'd.
Recloser, oil circuit
by | | Rods, armor

Braocket, cluster type

Locknuts, as required |

fi

Connector, hot line, tap assembl
Insulator, pin type |

NOTES:

I. The recloser terminal bushing
connected directly to the coil
should be connected to the source.

2.For V Phose installations omit
recloser and reloted items on center
phase. Designote as assembly M3-iiA

3. Each recloser fank shall have two

seporate connsctions to ground.

12.5/72 kv

2 OR 3SECTIONALIZING OIL CIRCUIT RECLOSE

Apr., 1983

M3-11A,M3-12A




| ™ MATERIAL
& c |14 |Bolt, machine, 5/8"x reqd. length
5:1. R AR BPUNE: 1 A |- Vﬁ ¢ | 2 [Bot, mochine, /2" x reqd iength
+ 'T = Staple | d 125 ‘Wosher, 214"x 214"k 316, 136" hole
. o . 4 d |4 [wosher,rd 138" do, 36" hoe |
D ) J ) . [ No 2 Cu 32 Comam 35071 B0
‘ k112 |isiolor, suepension |
NS ' \ 6 jClomp, deodend |
— e n_| 4 |Bolt, double orming, 5/8"x reqd. iengh| |
Clanp ond Broid / . bo |6 [Shocke, oncher .
- : fo be furnished with \ O ]2 D'“”‘““mmy'"_'i’,"i'w . —
controls. €9 |1 |[Switch, oirbreak, 3 pole unit ISKV -
PLAN VIEW with_operaling mechonism, ond insul. spocers
DETAIL OF A-A v | 2 |Broce, wood, 60
_wood, spon ]
OF SWITCH ARRANGEMENT ‘ o |1 aolt,zyo, 5/8"x required iengih
1} Locknuis, as required
ea |1 |Nul,eye 578" B T
Insulating
spacer /09 et T
c-d-ek
A\ £ .
4 a o) - —
2 0] ———-  —~~ g - —-- -8 4 S
4'; | |1"J 9
cu el 1| |
. , "
1 ° ] i
\ Insuloting  Spacer -l | : v . I
. (-] i
| -4 M |
s 1 @ - - YN ——
Sl :-?‘:' A L-‘.’T_"J,-” Not
w0 A cmw o
U|:l 124l For ground assembly, see
-—yH ! L drawings M2-13 and M2-15A.
‘=i=--}- 5= 0" s : Ses drawings M42-3, M42-11,
ly | | I M42-13, M42-2I for item cc.
....... i
. ol r _1 | uif
Operoting Pips _» " : / 2" '::h
||/2u S"d IPS I: | : No. 2 J ' ;E=|
| OIIF" ’id [)
I ' G? - LY
'/ Y “n
: ly !
[ .Y 1, :
' -
SECTION X- X |:ib' 12.5/7.2 kv
Tops of ground rods (Detoil of Ground Grid) Ly SECTIONALIZING AIR BREAK SWITCH
fo be 12" min. below nﬁt
ground line. § i e : ]
X -
N R LR RS Apr., 1983 M3-i15




Note:
1.The recloser terminal

ly to the colil should be
connected to the source.

2.Each recloser tank
shall have two separate

connections to ground.

Trrenpeds MATERIAL

Connectors, as required

d sh

9 Crossarm, 3% - ae | | |Surge arrester

h |4 [Brace 1% x %" x 28" ti_| 2 |Conn., hotline, tap assembly

i it, corriage, ¥ x 47" av Jumpers, stranded, as required

] {2 Fcuw, log, '/g' x 4" be | | [Recloser, oil circuit

n |3 |Bolt, double arming, 5/8"x req’d length ek Locknuts, as required

I ﬂsj I |Switeh, recloser by-pass

12.5/72 kV

ONE SECTIONALIZING OIL CIRCUIT REGLOSER
WITH BY PASS SWITCH

Aprc, 1983 M3- 23

bushing connected direct-'




.....

NOTE:

The terminal bushing connected
directly to the coil should be
connected to the source. Where
necessary to provide for this

may be mounted on the other
side of the pole and the neutral
deadended.

IS" Minimum

Neutral

NOTES: ELEVATION SIDE ELEVATION

. Mount cutout so that exhaust blast of arc is directed awoy from linemen

connection the recloser and cutout

2.At borrower’s option, cutout may be mounted on opposite side of pole.

ITEMRER MATERIAL “ITEM MATERIAL

¢ | 2 |Bolt, machine,5/8'x req'd iength ae | | [surge arrester

d | 2 |Washer, 2 174 x 2 1/4"x 3/16'x 13/16" hole .

P Connectors, os required bv | 2 (Armor rods

fn | |Bracket, extension, L type ek Locknuts, as required

fi | 2 |Connector, hot line, tap assembly F | |Screw lag, I/2 x 4

av Jumpers, stranded, as required at | {Cutout

be | | |Recioser, oil circuit

: 12.5/72 kV
OIL CIRCUIT RECLOSER WITH BYPASS CUTOUT

Apr,, 1983 M3-23A




[y

|

:.—_“'.F_ e —

= ) e =,
]

==
e
—

[na MATERIAL
c |8
d |16 B L™
d | 8 [Washer, Rd. 138" dia, ¥4 hole
9 [4 [Crossarm, 3% 5 4% +8-0"
h |2 |Brace, 1V 3173”1 ¥4 60"span
k|12 |insulotor; suspension
| |6 |Clomp, deadend
n_| 6 |Bol, double arming, ¥y xreqdig’th
[ Connectors, as required
a0 [4 |Nul, eye, 84"
ae |3 [Syrge arrester
av Jumper: requi
bo | 6 | Shackle, anchor
be |3 |Recloser, oil circuit
cc |2 Osodend ossembly, neuiral
cu |2 |Brace, crossarm, wood, 60 span
(8] |3 [Swifch, recloser by-poss
ti_|6 |Connector, hot line, tap assembly
[} . oye, ¥9" % reqd length
[1] Locknuls, as required
Notes:

LThe recloser terminal bushing connected

2.

directly to the coil should be connected
to the source.

For V-Phase instailations omit
recloser and reicted ilems on

center phase. Designate os

assembly M3-24.

Eoch recloser tonk shall have two
separaie connections to ground.

. See drawings M42-3,M42-i1, M42-13,

M42-21 for item cc.

12.5/7.2 kv

2 OR 3 SECTIONALIZING OIL CIRCUIT RECLOSERS

WITH BY-PASS SWITCHES

Apr., 1983

M3-24,M3-25




n-d-ek
rd

|
“_- = Nbe

ELEVATION

n-ok
LOAD d »~" SOURCE
- ﬁ' o-d-ef e
7 o W
Py bo o a0
¥ l -] =
s
| || -qa-d-ek
cC
/
Pl 72
e

'
\ e i

JTed NO MATERIAL

c|a |Bal.m " rea'd. lengt

414 24"x2 /4" x 3n6; 'Ne"

d | 4 |Wosher,Rd 178" dia, ¥ 16" hole
2 | Crossarm, 3%"x 4% "x8'- 0"

k |12 |insulgtor, syspension

| | 6 | Clamp, deadend

n | 2 [8oit,double arming, ¥8" x req'd.ig'th,

p_ Conneclors, as required

a0 | 4 |Nut eye "

ae i3 rrastar

av umpers , stronded, os 'd.

fi_| 6 |Connector, hotline, tap ussembly

be|3 |Recloser, oil circuit

bo | 6 | Shockie, anchor

cc| 2 |Deadend assembly, neutral

cu | 2 |Brace, crossorm, wood, 60"span __|

dm) |} Brochet, clusier type

8) | 3 | Swilch, recloser by-pass

o |4 |Boit eye, 58 xreg'd tength

ek Locknuts , as required

Notes:

I. The recloser terminal bushing
connected directly to the coil

should be connected to the source.

2.For V-Phase Instollations omit
recloser and reloted items on
cenler phase. Designate as
ossembly M3-24A,

3 Eoch recloser tonk sholl have

fwo separate connections fo ground.

4. See drawings M42-3, M42-11,
M42-13, M42-21 for item ccC.

12.5/7.2 kv

2 OR 3 SECTIONALIZING OIL CIRCUIT RECLOSERS

WITH BY-PASS SWITCHES

" Apr., 1983

[M3-24AM3-23A

e m—v. ———— =



-6 2-0" 3-0" 2"
H !
4 . A —
s
- A |
SECTION XX
s.l‘ 2"’- 2'-9' JG"
‘ cc-n-d-aa
Il ]
‘ > BH n-d-ek Neutral 2 \’
c-d-ok : i \'l
ti (R fi
: '
o | ¥
N X | 1" X
< A ae
|
48 =S

inverted arrester
bracket

/c-d-ck

_t//'
i) c-d-ek

reM o MATERIAL
¢ |3 Teon, hine, 5/8'x req'd. length
4 _|oit, machine, 172" x reg'. langth _
12 |wosher, 2 1/4" square
Washer, round, | 3/8" diomster
Crossarm, 3 5/8"x 4 5/8" 10'-0" i
Crossorm, 359" 458"x 8- 0"

Crossorm, 3 v8"x 458"« in—)""
Ingulotog, suspension =
clompn § deagen
»-948x_190'd langih
Bolt, double arming, 5/8" req'd length

Conneclor as _required

o [oiala o

TFF
W o IN = (NS

60 | 2 INut, eye, 5/8"
ae | 3 {Surge airegter
ayv Jumpers  sironded, as required
[ be } ) |Recloser, oil circuit - 3 phose
% | ) |Moynting brocket for 3 phase recloser
bo i 6 ki nchor
bu | | |Connector, solderless
cc | 2 [Deadend assembly, neutral
gu | 2 |Brace, crossarm, wood, 60" span
cu | 4 |Brace, crossarm, wood, 267

ok Locknuts, as roquired .
11 16 |Conneclor, hot line
| 8] | 3 ISwitch,recloser, by-poss

% Specify this item to be furnished by
recloser manufacturer

See drawings M42-3, M42-11,M42-13,
M42-21 for item cc

THREE PHASE OIL CIRCUIT RECLOSER
WITH BY- PASS SWITCHES

o o83 M3-30°




MATERIAL

M5-1[mM5-2 M5-5{M5-6 |M5-7 [M5-8

Insulator, pin type

Pin, pole top, 20"

Bolt, machine, 5/8"x req’d. length

Wosher, square, 2 1/4"

Pin, crossarm, steel, 5/8"x 10 3/4"

Insuigtor, suspension

Bolt, eye, 5/8"x req'd. length

I |N -

Connector

Nut, eye, 5/8"

Lightning orrester

ap

Clamp, hot line

av

Jumper

bo

Shackle, anchor

Insulator, post type, 7" stud

ek

Locknuts, as required

12.5/72 kV
MISCELLANEOUS PRIMARY ASSEMBLIES

Apr., 1983 M5-1 TO 8




+— —osour
q P

2 gv Specify this
?\’ + % unit to be
p

furnished with

switch blade.

M5-9 fuse tube or / »~Load
P

ce

<

L 5| -O“ l, 5. - ou J
M5-16 o
{iTEM MATERIAL NUMBER _REQUIRED
j— — — — —
MS-9 [M5-10 [MS-11 [M5-12 [M5-13 IM5-14 {M5-16
¢__|Bolt, machine,5/8 x reqd length I I ]
[ Bolt,mocgino,vz_" x req d length 2 2
d_|Wosher. 2 /4"x2 1/4"x ) IS'IQE“ { ] 2 2
d \(I:loshcr,rwnd. | /8 dig., M6 hole 2 2 '
9 rossorm, 358" x 45/8 ' x 8 -0
9 Cmmsrri'ﬁ%w 4 5/8 x10-0" 1
h__|Broce.flat . | 1M x x 28" |
h_{Broce, ongle, | I/12"x | V2"x 3/16".60" span I
i |Bolt,corriage, 3/8" x 4 172" ]
Screw, fag, 172" x 47 |
p[ConnecTor . 3 2
af [Cutout, single - shot |
av _|Jumper 2 2
‘Tax |Cutout and arrester combination 1
cu_|Brace, wood, 60 " span |
ek [Locknu¥s, as required
MISCELLANEOUS PRIMARY ASSEMBLIES
Apr, 1983 MS-9 TO Ie




/bo '

M5 - 23
ITEM MATERIAL {7IM5-18 M5-19 [M5-2QM5-2| M5-22M5-2
¢ |Bolt, machine, 5/8"x required length 2
d |Washer, 2 174" squore 2 \

i

Bolt, corriage, 3/8"x 4 1/2"

J

Screw, log, /2" x 4"

Kk

Insulator, suspension

insulator, post type, | 3/4 stud

eb

Bracket . for post type insulotor

ec

Brocket, offset, neutral, insuiated

ek

Locknuts, as required

Cu

Broce, wood , 28"

Eye nut

bo

Shackle, anchor

2]

Bolt, eye, 5/8" x reqd. length

fi

Connector, hot line

av

Jumper

p

Connector

eu

Link, extension .k insulated

MISCELLANEOUS PRIMARY ASSEMBLIES

Apr., 1983

M5-17TO2

et




ek

/

'M5-24 (PRIMARY )

~— o

M5-25 ( NEUTRAL ONLY)

MATERIAL M5-24 | M5-25 |M5-26
Washer, 21/4" square ! 1 |
insulator, suspension 2 '

Bolt, eye, 5/8"x req'd length

Locknuts as req'd

-

12.6/7.2 kV .
MISCELLANEOUS ASSEMBLIES |

|
Apr., 1983 M5-24 TO M5-26 |

. Ve e -



"Tem @""' MATERIAL

_SOURCE__* _LOAD gl-27, 2" 6"
' I_|insulator, pin type

* - Regulator By- pass

Eol!, mochine, %" x req’d length

switch. olt, mochine, J” x req'd langlh

[washer, round, 139 dia, g hole

[wosher, 2% x 2lg" x 314", " hole

Pin, ctossorm, 5/8 = 10 3/4

Crossarm, a A 4 % 8-0

olt, corrlage, Jg x 4%y

crew, log, jp x 4"

B LI LY Ll B 5 Rl B B

finsulotor, suspension

Rocknuts, as required

[Clamp, deodend

A Gt - Ed e Bd el B LY CY S G )

IConnectors os regquired

6e |1 |Surge arrester

»a ae || y - pOss arresier L]
o ov hﬂgﬂ. stianded, as uaukod
P * y br IChain link,5/8'x 3 /4

]
be |1 onnector, grounding ™
cu [ 4 [Broce, weed, 208°
se || [Roguloter, step type
av sk |1 Reguleter by-pess switch

L pestrat
Al

’I

2 Specify this item fo be furnished -
by the Regulotor monutacturer.

Note:

Where sirength of existing pole is
inadequate for reguiator weight,

use two pole structure as shown
on drawing VMT7-I.

Note:

4 .
8
Control box may P NPT E
be located on '\ : ; °
the pole below ! :‘ ®
ug:loior. 14 l'o, :E Control cobinet must be 12.5/7.2 kv
S e o auired ti | grounded when seporated ONE VOLTAGE REGULATOR
= ke from the regulator tank. o
trol cable. - ¥ © Increase to 16°- 0" min, POLE MOUNTED
| over rocdways.
L‘ﬁ?‘j“ Yo Apr, 1983 M7-11_|
A ol pr.,! M7-11




——— — e— g —— — —

‘it:

3

£
E
o
_l
@
Lood

(

—

l;'r;mgulour By- Poss Switch

S.

Ncu'rol-,

-
I: L

1

VIIRING DIAGRAM

Source

10'-0" min.

L

_'/

% br

ld-cll

|
|
|
1

\
0

»

b

e e dlae
g —

_g

4"x 6.25 "/M1. channel steel or
6"x 2.91 */f1. channel aluminum
moy be substituted for structuro!l
timbers shown.

“;T MATERIAL
[]

olt, mochine, ?' x_req'd. lenglh
4 |8oll, mochine, ¥4 1 uq'd lengih

20 Moasher, 2¥ 'z 2V, 2, |-' 34‘ hole

2 [Crossarm, 39" x 49y x 10'- 0"

Screw lag, Y% 2 3] os req'd.

crew log, Yu 18"

8
8 pnsulator, suspension
6 bomp, deadend

2

olf, eye, 5_.' x req'd length

P onnectors, 0s required
ce |3 ISurge orrester
os |3 Ey poss orrester =
av pumpers, stronded, o3 L9quired
br 13 [Choin link, % x 3},
bv | 3 [Connector, solderiess =
cc | 2 jDsodend ossembly, neutrol
sc 13 E.umm_-':uw
sk | 3 |Reguiator by-poss swilch
2 [structural timber, 4*x12"210'- O
lonks, 2" thick, fength as req’d.
ok Locknuts, a3 required
emote control kit wilth
ting hordware =
¢ |12 E'. mochine, 1/2"x req'd. length

% Specity this item to be furnished by

th

¢ regulator monufacturer.

Note' All structural timber and planks

to be treated as per REA
Specification OT-58.

See drawings M42-3, M42-1i,
M42-13, M42-21 for ilem cc.

12.5/T72 kv

THREE VOLTAGE REGULATORS

PLATFORM MOUNTED

Apr., 1983

M7-13 |




see RE A Bulletin

~ 1@%—1»———
” -A«.:.. p
\l {j‘ *‘z}_@ ___
L-" L 2
T P‘_______—sd
i A
I 5 e Note:
]
sh—> ) J—sm
| I
| !
| | 8B A
e || !
N
7o
)
J’:»(.
or ~
: 1 Service
gd \Q Head
!
Oh\
PE /“
- I

LY

N —— —

|

| |

'I TRIPLEX SERVIGE
| |

|

WIRING DIAGRAM

For more detailed wiring diagram,

161 - 12

To System
Neutral

o

{
\"_‘A.

EMNO. MATERIAL frem|No. MATERIAL
i |2 |screw, log, 1/2" x 4" sd | | | Tronstormer, current
P Connectors, as required sm Wire, No. 12, insul. for current
gec Conduit, | 1/4", as required sn || Wire, No. 14, insul. for potential
qd Strops, conduit, os required | | Service head
ge | | | Condulet, type e
gh | 1 | Meter box, meter ond test block

SECONDARY METERING GUIDE

SINGLE PHASE

120 / 240 VOLTS

Apr., 1983

M8




/I‘\\ f\\ﬁ?"]/ﬂ‘ !k‘
,———L"J ‘Lij—l .t . . S
= _—_-_—.? ..—.1.-—= = ~=? f === ==,~L
(i ; Ry G
T A Er T
i 1 |: N : 3
| L .
| L (] :: I —
! | | || A I
’ % _-4— 1£5fo-' =t | C.T cT
" & -+
' L T | N

WIRING DIAGRAM
FOR INSTRUMENT TRANSFORMERS

\ Note:

For more detailed wiring
diagram, see REA

Bulletin 161~ 12

-l e e

&,

Note:

CT. with 2 wires
should have twice
primary rating
of single wire CT.

This arrangement of metering equipment is
designed for use with the transformer drawings
G310

i MATERIAL lirem [wo. MATERIAL
j |4 |Screw, log, 172" x 4" gh Meter box, meter ond test biock
P Connectors, os required sd | 2 | Transformer, current

! | Service Head

g¢c Conduit, | 1/4" os_required sm Wire, No. 12, insul. for current
g¢ | | |Condulet, type “LB" {sn Wire. No. 14, insul. for potential
gd Strops, conduit, os required ‘;
fo [ | |Tronsformer secondary brocket ‘ |

SECONDARY METERING GUIDE
THREE PHASE 1207240 VOLTS
4 WIRE DELTA

Apr., 1983 MB—'G




) bt N o ik
S — '__l
T —— ———— =N — ——— —— —— 7
N .
Connector

Notes.
I. if over current
¥ . device is used ¢t this
! point UF cable may be
substituted for USE
cable underground.
2. Conductor sizes
will be in accordonce
1 with service lood.

f
i
' ]
: /_ Conduit or E.M.T.
"
)
ad
|| Y Type USE
: S XX Yo
: ////§\\\%é\\//\\\ ;?Jmpto
/I |Z&S Bushin /é\\ D o
\\\\\/\>////%<\\<////\ equipment
NI
N’

GUIDE TO YARD POLE METER INSTALLATIGN

(SHOWING PUMP SERVICE CARRIED
UNDERGROUND)

Apr. 1983 MB8—S J




Underground
to house

Underground to pump

<
’/\

2
/\
»

7
AN
.

,

N
S

Notes:
l. If over current device is
used at this point UF cable
may be substituted for USE
cable underground.
2. Conductor sizes will be in
aoccordance with service lood.
3 This installation may be
substituted for overhead

construction on loadside of
meter.

Underground
to barn

Conduit or E.M.T.

_\

7.
Vo w > o > o> -

~

L

N\NYAY

GUIDE TO YARD POLE METER INSTALLATION
(SHOWING ALL BUILDING SERVICES CARRIED

Type- USE cable to
pump service equipment

I

UNDERGROUND)

_

Apr., 1983

weio ]




Qv

See
Detail "A"
N N
9c \\:
gd\
Meter: 2 stator : Note:
2.5 ampere 120 | For more detailed
volt. Multiplier = | drowing ond wiring
E:c."lt’.ionomeplote I diogram, see REA > B
; ~2| | ge Bulletin 161 - 12 l |
L / k>
ey |
L DETAIL "A"
oh = Connections from C.T.’s. to Service Head
ITEM|NO. MATERIAL ITEM |NO. MATERIAL
i 4 | Screw, log gh 1 | Meter box, meter and test block
P Connectors, as required sd |.2 { Transformer, current
av Jumpers, insulated sm Wire . No.12 insul. for current
gc Conduit, | I/4", as required sn Wire . No. 14_insul. for potential
gd Strops, conduit, as required | Service Head
ge | 1 | Condulet, type “LB"

SECONDARY METERING GUIDE
THREE PHASE, 120/208 VOLTS
4 WIRE GROUNDED WYE

Apr., 1983

M8-IlI




\\_

Note:

REA Bulletin 161—12

Service
Head

- e .-y

WIRING DIAGRAM
— For more detailed wiring diogram, see

THREE PHASE 240 VOLTS

'
: N i IO
a4 DETAIL "A"
Connections from CT's. to Service Head
__lTEJM MATERIAL TEM{NO. MATERIAL
] |4 | screw, lag, /2" x 4" sd | 2 | Tronsformer, current
p Connectors, as required sm Wire, No. 12, insul. for current
, | | Service head sn Wire, No. 14, insul. for potential
| gc Conduit, | 174", as_required av Jumper
| gd Straps, conduit, os required
| ge | | | condulet, type "LB"
| ghjt | Meter box, mefer ond test block
SECONDARY METERING GUIDE

3 WIRE CORNER GROUNDED DELTA

Apr., 1983

M8-12




MATERIAL

¢ 118 It, machine, 5/8 x req'd. length
1 ¢ |29 IBoit, machine, 172" 5 req'd. length
‘L v d |22 |wosher, 2 1/4" square
€t P A~ - 4 |a h n /8" dio.
q 9 13 |crossorm 358"x 4 ¥8"x 8'-0"

i 12 |Bolt, carrioge, 3/8"x 4 12"

} 1 _|Screw, lag, 12"x 4"

n_ |1 |Bolt, double orming 5/8"x req'd. length
4

c tors, os required
a0 |t [Nut, eye, &8
gy - Jumper, primary, bore, os required
ox |3 JCutout and arrester combination
cc | | JDeadend assembly, neutral
cu_|2 |Brace, wood, 28"
cu | |Broce, wood, 60" span
gh Meter box, meter ond tes! block
ge Condulets, as required
| 9d 13 |Tronsformer, current
se | 3 | Tronsformer, potentiol
ok Locknuis, a8 required
| #* |6 [Mounting brackets
i " & Mefering coble as required
! =
ly o
\ {4\_‘ / -l
N P "' i
\ refs J
\ \,\L’— X\j 1 e A #* Specify this item to be furnished by
_{:“.3_{.‘2‘?'7'-';;;“:;:;_____ . H N A the tronsformer manufocturer
.- = ==
SN v d 7 ¢ " vt 9 Ses drawings M42-3, M42-13, M42-21
N "lr// o = for item cc
AN ." /4 'I J ¢ LOAD .
3 H v
b | ] ] 111
'::: .| \ " - p. N
i 4 i BRER
pefs _ 'z (!
{;t ? 11 |=| A B C N ABC N
e ) I h
it = }. |= WIRING DIAGRAM
K 18 8 conductor metering cable in
(,:lJl}' Y conduit
-yt
|h |" - gh i? : !
il 1
|=| ! | th
Hi| 12.5/7.2 kv PRIMARY METERING GUIOE
{!} ¥ THREE PHASE 4- WIRE WYE
oo 2P
Apr, 1983 M8-15




NOTES:
I. Specify number and kVAr
required.
2. Load Break cutouts for
installations over 75 kVAr.

—h
~

] 3 Specify insulating cops for

\
—

4l- o“

primary terminal bushings.

M MATERIAL MATERIAL
¢ [ ! |Bolt. machine, 5/8" x req'd. length p Connector, compression type
d |2 |wosher 218"'x214"x 36" 136" hole p Connectors, as required
9 |! |crossom, 31/2"x 4 1/2" x 8'-0" e Surge _orrester
| cu |2 |Broce, wood, 28" aof Cutout, fuse
i {2 [Bolt, corrioge, 3/8" x 4 112" av Jumpers or Leods os required
] |t [Screw, log, 1/2"x 4" dp Clomp, ground wire
_;ck Copocitor. . ... .. KVA each td Capocitor Hanger, pole mounted

Locknuts

12.5/7.2 kv

SINGLE PHASE CAPAGITOR ASSEMBLY

Apr,

1983

MO-Il




o
[ g
e e

. -

w ]

2| |4 TS

g d-

2 I

S I

~ |

. S
4 1\ ¢
3 |
)
|
i h

]
|

>
4'-0"

> ax

| okl

fe

~Na
J===
R ———— A

. ———— o — —— -
M e o s = - e = e ————

A i e e e e —
N e —— o — ——

=

SUGGESTED FUSING TABLE

k_VA_r Connected 1o euch Culout
~ Fuse Size (_Am_p:)~ o

25 [s0[75 Joo[150
- 7 |15 [2525 [0

PR

Note: Care must be igken fto coordmolo fuse th sectionalizing plan.

SECTION X-X

TEM | NO. MATERIAL

¢ | | Bolt, machine, 5/8 x reqd. |onth_

d |2 wmzvuzm-sns 13/16" hole

s | c.omrm. ss/d'- 45/9"x 8'-0"

| V|2 |Bolt, corrloge 3/_!_1 4!/2 N

1 |a 30", iog, 172" b

P | 3 [Conneclor, compression lype

R Cennector, as required )

oy Jumpers, mondod os uqulud _ _
#jox |3 JCutout ond orrester combinati

€4 |2 |Broce, wood, 26"

dp | 2 | Ciamp, ground wire N

¢a | 2 |insulolor, post type, with 7" siud _

fe Copocltor _ _ _ _.__. _kVAreoch| |

td |t |Honger, cluster type o

ok Locknuts , as uqmu& o

Notes:

1. Specify number ond kVAr required.
% 2 Load Breok cutouts for

instoliations over 75 kVAr /phase.

3. For V-Phase instaliations omit
capacifors ond related items on
conter phase. Designate os
assembly M9-2.

4. Specify insulating caps for
primory terminol bushings.

insulated jumper

b

12.5/72 kv
TWO OR THREE PHASE CAPACITOR ASSEMBLY

ey

983 |

M9-I2 M9-13 |




"TOLERANCES

i 2080 - SIZES OF HOLES
;51 e ——- —— -_o-g'ﬁ»-} Nominall Go_| Vo Go
S8 470 ".‘;‘f‘%:"ﬁ"" Q) [ 76" | %" %~
", /-4-—.4 ’//‘II J/‘u yzu
‘-o i Type Ol @ 9/15 - I/’z_’ 5‘/8 “

TYPICAL
ENLARGED

%Z;D ' : Bt
- :|4'|-'—‘ -z/x—l-/‘z/i I-J /=J;r— /-zz.; 27 f?\:

8-054- 1 Type 04
Lo 09 %0 ﬁ? -__;_.2 ©@ Q9
4% '? "“P l{i '
— 2 , a-i f— 6 1
’M? 4214; —/ 54, e 64: & —]T—‘/ 7iA— /-6* /sé,-l f-7
. : Type 05

I

CROSSARM DRILLING GUIDE

M9 __1




Through-bolt holes must be parallel and in
the some plane.

HOLES : Drill 11/16" diameter.

8" 43l

9" 3
1] 1
6'
1 '
6"

GAINS: Gains are to be flat with plane at
right angles to boit hole.

Neutral bolt hole must be at 90° angle

with through-bolt holes. \
All poles shorter than 50 feet must be bored,
roofed and gained before treatment, except
that Class 7 and smaller poles need not be
gained unless requested by purchaser. Roofs -~

may be flat or at o 15° angle at the producer's
option.

/’

% Bottom of brand or csnter of metal disk shall be 10t 1"
from pole butt, 14't " mark for poles 55' and longer.

It insured warranted pole, Brond "IW"

(Month and Year).

-4 Manufacturer's Mark and Date of Treatment,
/ Brand with proper length and class.

obo \Brond with species, preservative code and retention.

Tolerance :
Holes

On the gain * I/8" from the centerlines of the
holes.

<9
On the side opposite the gain t 1/4" from the l
!

centerlines of the holes.

See note *

Location - measured from roof
Gain side * 1/4"
Opposite side + /2"

Diameter * i/16"
; Gains out of paraitel t I/2" '

v x% Optional, anti-split bolt hole to be driiled oniy when so specified
‘@ by the purchaser.

Brand butt with proper
length and class

POLE FRAMING GUIDE

Apr.,1983 M20




Notes:

For angles in the opposite direc-
tion interchange the position of con-
ductors 2 and 3 on the angle pole.

If used for transposition add an
extension link to neutral support to
locate the neutral ot the saome dis-

tance from the pole as the phaose
conductors.

For 60° to 90° ongles use similor con-

ductor arrongemement with pole top
assembly unit C4-1 gt angle pole.

ANGLE CONSTRUCTION GUIDE
CROSSARM TO VERTICAL GONST.- 30° TO 60° ANGLE!

Apr., 1983 M 21




‘92u04008ddD DO WWAS YiIM 994} @ADS| p|nhOyS bulwwidy

"Buism usdo woly ,0-.9 Uoy) Jesojd aq pinoys 8seJy 40 sjiod ON

Aoy buom Aoy 1oLy

90N

buywaryy 210428

TREE TRIMMING GUIDE

M22-1

Apr,1983




- Cut "4
(flush with frunk)

- Cut '3
(Flush with trunk)

Bark will strip down
the frunk here

Right Way | Wrong Way
for:wm// t‘)'raﬁc/:e.f
omit Cuts */ and *2 PEMOVAL OF HEAVY SIDE LIMB

Cut? unt*2
(Slope for good drainage)
Bark will strip down
thelrunk here
Kloht Way Wrong Way

FEMOVAL OF VERTICAL L/IMB

NOTE: Coat final cut with tree paint.

TREE TRIMMING GUIDE

Apr.,|983 M22-2




/ \
‘L\--- +ee 7 Plastic wire guard

S U S A S

e SR S5 N

guard ond

i {50 Max. span
>

[SO' Max. span

aw

Plastic wire g

tape or spacer

(item er)

Notes:

|. Services as short as possible are preferred.
2 Refer to secondary and service assemblies for construction details.
3.Service connectors to be insulated compression type.

[ il .
Clearance A minimum

To bottom of drip IooplIO'
To service assembly and

service drop conductor_i
span | 12

CABLE SERVICE ASSEMBLY GUIDE

Apr., 1983

M24




KI4G (\F KISG
1

¢ i
!
! /Nj}lfral K10
rr\ \
L [
o [
Service Assembly KIC{
P 4?’% i \ %
o Spacing -6 'if possible
! minimum spacing 8 |
! 1
|
by Connector ~
| !
A
! :\Line Pole
vl
I )
e
' |
' I
t |
]
P
t t
l\z::’ ""'-AV
:///ﬁ///:
150' Max. Span
NOTES :
Service connectors to be insulated Insulatiorr on covered conductor thot is

compression type.

under strain should not be cut.

Clearance from final grade to bottom In brick orconcrete walls use 3/8"

of drip loop, to service assembly,and expansion bolts or shields in 3§  holes at least
to service drop conductor in span ok deep, or wedge expanded eyebolts.

shall be 12' minimum.

OPEN WIRE
SECONDARY OR SERVICE ASSEMBLY GUIDE

Apr.,1963 M24-|




ol

Stud -

Construction N

Notes :

I tf length of conduit exceeds ten feet, coupling will be permitted on end adjacent to meter.

2 172" Conduit
]

Conductor Teniion
(See note *3)

35" max. for
*4 and "6
23" max. for 2

. Not over 3-6"

h

2"x 4" blocking between
Must be

| DO ——

R
:
!
:

s uBILIRINRRTIILY

Block Construction

2 1/2" reducer to size i
of meter socket 3

furring
Meter :
Ground wire to ground rod .
Clearance A" Minimum

To bottom of drip Ioopl 10’

To service assembly and service
drop conductor in span | o'

2. Meter to be located 5-6" from ground level,

3. Maximum

tension of conductor

4 For service assemblies see drawings KI6C, Ki7, KI7L.
5.Service connectors to be insulated compression type.

i et R it

Pipe strap

4
=

% These dimensions apply to both drip loop and span.

not to exceed 50 % of ultimate strength,

Sheet metal or lead
pipe flashing

'~ Bolts in block joints,
embedded in mortaor

21/2' Conduit,_ ">,

ﬂr——\\

. Not over 3-86"

Brick Veneer
Construction

Wood
Blocking

ASSEMBLY GUIDE OF SERVICE MAST
FOR RANCH TYPE HOUSE

[Apr,1983] M24-10




| | = |
e
Gbround to .=q]-— -t
racket \'l—" .
Dupiex cable | tD!
- | —— __x_
Tape | [
| |
Neutral Conductorl |
| I
|
k-4
o D n m —
| -’} . Lmse i Load sndg _J&_
: g K
| e ~IE
| i
| | | Ground to -
| | brocket
| | V2
|
bl F— ‘“ :
I
: I !l |
! I Q
I | 1€
MG
| I i
|| ‘
| I q:t%
! ! Jk 7; ‘!: '! .Ground Line
)
NEW POLE EXISTING YARD POLE

SECURITY LIGHT INSTALLATION GUIDE
(UNMETERED)

Apr., 1983 M26-5




Note:
Tronsformers may be mounted in alternate positions

950

PLAN

PLAN

For multiphiase primary line construction with the crossarm
in the revised lower position,change this dimension fo 12 inches.

PRIMARY TANGENT
SERVICE TAKE-OFF AT
TRANSFORMER LEVEL

and quadrants as practical in order to facilitate
services in directions not shown.

i1

(_,<;4

PRIMARY TANGENT
SERVICE TAKE-OFF BELOW

TRANSFORMER

PRIMARY DEADEND
SERVICE TAKE-OFF AT

TRANSFORMER LEVEL

PRIMARY DEADEND
SERVICE TAKE-OFF BELOW TRANSFORMER

TRANSFORMER CONNECTION GUIDE
OPEN WIRE SERVICES




For multiphase primary line construction with the crossarm

in the revised lower position,increase this dimension to 2"

PRIMARY TANGENT

SERVICE TAKE- OFF AT
NOTES ® TRANSFORMER.

PRIMARY TANGENT
SERVICE TAKE -OFF
BELOW TRANSFORMER.

I. Secondary bushing not to be used for bi- metal connection.

2. Transformers may be mounted in alternative positions and quadrants as practical in order o facilitate

services in directions not shown.

3.For more detail see Guide Drawing M27-1A.

PRIMARY DEADEND
SERVICE TAKE-OFF AT

PRIMARY DEADEND

SERVICE TAKE-OFF BELOW
TRANSFORMER.

TRANSFORMER.

TRANSFORMER CONNECTION GUIDE
TRIPLEX CABLE SERVICES

[ Apr., 1983 M27-1

koot




Cover secondary terminals
with moisture seal or
dress conductor ends downward ——
to prevent entry of moisture. [ ‘1
Minimum bending radius is six times l

the overall cable diameter.

NOTES:

I. Use compression type connectors.
2. Stranded aluminum alloy or stranded

soft -drawn copper is recommended l
for the grounding loop conductor.

3. Secondary bushing not to be used
for bi-metal connection. -~

-~

DETAIL OF ALTERNATIVE TRANSFORMER
CONNECTION

(PRIMARY TANGENT, SERVICE TAKE-OFF AT
TRANSFORMER)

Apr.,1983 M27 - |A




PLAN

in the revised

For multiphase primary line construction with the crossarm

lower position, increase this dimension fo 12inches.

PRIMARY TANGENT
SECONDARY TANGENT

PRIMARY TANGENT
SECONDARY DEADEND

!
(l4
—_

PRIMARY DEADEND

SECONDARY DEADEND

TRANSFORMER CONNECTION GUIDE

SECONDARY UNDERBUILD

Apr.,1983

M27-2




P - WL

.

NOTES:
. Use compression type
connectors.

2 .Stranded aluminum ‘J'—L
alloy or stranded soft-

drawn copper is
recommended for the

grounding loop Iﬁl:]]

conductor.
3. Secondary bushing not

l PLAN

X

to be used for bi-metal )
connection. Spades or | !
copper studs may be used. |

~ff--

1 |
l:—- Th J
i | TRIPLEX CABLE

TRANSFORMER CONNECTION AND SERVICE
TAKE-OFF GUIDE FROM SECONDARY

Apr., 1983 M28




Notes:
I. Maintain 2" minimum spacing between ground wire and
hardware associated with energized conductors.

2.Where ground clearance permits mount all neutrols

"
.,

4-6"

2'-0" 1

t
B
9% 1-3"

F{\Su Note 2

z
(2]
Ll
"
X sutrol Tap__
]
i
COMPLETE ASSEMBLY COMPLETE ASSEMBLY
A5-2 AND BI AS-2, AS-2A ond Bl

bil
e
o Ll
! =
i " COMPLETE ASSEMBLY
Neutral
L \ "5_“‘.-_'#'.‘ e AS-3 AND A 4
L
COMPLETE ASSEMBLY
A3-3 AND B4-I

)

40_ ol

at lower level.

COMPLETE ASSEMBLY
Cl, A7 and M5-5

S 4-@1 g A—L-_S_Nﬂtrol Tap
.+_]_V

W

GOMPLETE ASSEMBLY
A5-1, M5~ 7 ond AS

|

|

I

I

| ™
|

I

TAP ASSEMBLY GUIDE

Apr, 1983

M29-1




"

] , L Il_3

4'- Q'

Neutral tap

COMPLETE ASSEMBLY
A5-2,C1 AND MS-7 (if Needed)

] 9

’ ZI—O'I‘L‘Z‘-O"‘I _41‘ o

41 - on

m

EJ

_ COMPLETE ASSEMBLY

J s
ll
!vlg
H)

AS5-3 AND C4-l A5-2 AND A3

Neutral tap

COMPLETE ASSEMBLY
AS-2,A%-2A,Cl, AND M5-7 (If Needed)

Neutrol top _

COMPLETE ASSEMBLY

Notes:

I. Maintain 2" minimum spacing between ground wire and
hardware ossociated with energized conductors.
2.Where ground clearance permits mount all neutrals

at lower levei.

|
:ﬁ [ Top |
: l; | i i
£ =3 = } ! z
. i %
o k | : -
o | i Neutral tap [
3 ' '
g 1 L
SR 4 S
- | I
:” l-lD
.’:’ Alternate location I’.
—d ZSee note [ "
LR '
4 o~ | [
i 1
-nd COMPLETE ASSEMBLY
GCl, B7 ond M5-3
/
’
A
Croatelciee -
\
PLAN W
TAP ASSEMBLY GUIDE
Apr.,1983 M29-2




" j__@-'-@([):nﬂq-——
. —
-
e
=/ i
AT SINGLE PHASE ANGLES AT SINGLE
AND DEADENDS PHASE ANGLES

AT V-PHASE ANGLES
AND DEADENDS

AT V OR THREE PHASE
NOTES: TAP ASSEMBLY
I. A solid conductor should be used for the pole top
extension wire.
The jumper wire on system grounding assemblies
should be stranded.

2.
| 3. Position of staple is important. Maintain 4" min.
AT THREE PHASE ANGLES dlsfronc?e frc:.:m stogle or c!up to lag screw or eyg bolt.
AND DEADENDS 4. Maintain 2 min. spacing between ground wire
and hardware associated with energized conductors.
S. An M2-12,12A,12A2 or M2-1l ground assembly
may be added if desired.

12.5/7.2 kV
GUIDE FOR INSTALLATION OF GROUND WIRE
ABOVE NEUTRAL ON GUYED POLES

Apr.,1983 M30-|




AT SINGLE ARM ASSEMBLIES WITH AT SINGLE ARM ASSEMBLIES WITH-
POLE TOP PIN OUT POLE TOP PIN

NOTES:

. A solid conductor should be used for the pole top
extension wire.
The jumper wire on system grounding assemblies should
be stranded.
Position of staple is important. Maintain 4" minimum
distance from staple or clip to lag screw or eye boit.
Maintain 2" minimum spacing between ground wire and
hardware associated with energized conductors.

» o WP

~ M
-t}

AT DOUBLE ARM ASSEMBLIES
WITHOUT POLE TOP PINS

AT DOUBLE ARM ASSEMBLIES
WITH POLE TOP PINS

12.5/72 kV
GUIDE FOR INSTALLATION OF GROUND WIRE ABOVE

NEUTRAL ON POLES WITH BUTT WRAPPED OR
DRIVEN GROUNDS

Apr., 1983 M30-—-2




Note:

With tope still on one end of rods and other end threaded through
wrenches so they open between the same two rods, center on conductor
over point of support and close around conductor os shown obove.

Twist rods enough to give permanent set. Remove tape and slide wrenches
half way to ends ond repeat. Move wrenches to end of rods ond twist
Attach clips and tighten before removing so end of rods will flare

ofter removal. Rods should bs twisted snugly with o smooth lay
in some direction as loy of conductor- For further information and

method of installing rods on angle see monufacturer's instructions for
Constructi

Conductor Support
Size Single | Double
Twists
4 ACSRIGAVISDA(ZAIASL) | 5-6 | 7-8
| "ZACSR(EA/IStIa(zaiSt)] 6-7 | 8-9
*170 A.C.5.R. (6AI/ISt) 4-5 | 6-7
~ $2/0 ACS.R. (6A1/1St) 5-6 | 7-8
 ¥3/0A.C.S.R. (6A)/1St) 5-6 | 7-8
| ¥4/0 A.C.S.R. (6A1/1St.) 5-6 | 7-8
'." '
KRMOR RODS
A.C.S.R. CONDUGTOR
Apr,1983f M40-I1|




Use suspension clomp item m
for conductors with armor rods
exceeding 344" overoll diometer.

ANGLE

c-d-ek|
Lag screws N Except ot
required only , §|i \\
when necessary :.;'L —
to develop the s »iiN /
full strength of da

the bracket.

‘ R
NEUTRAL AND SECONDARY
ASSEMBLY ‘“ce"

ce
Except at crossings of railroad tracks
and limited access highways.

FOR TELEPHONE CROSSING
ANGLE ASSEMBLY "cd"

with 2-bolt suspension clomp

PRIMARY
ASSEMBLY “cd "
teiephone crossings

A MR
NEUTRAL AND SECONDARY

ANGLE ASSEMBLY “ce"

Except at crossings of railroad tracks
and limited access highways.

ITEm INo. MATERIAL lirem [no. MATERIAL
c Bolt, machine, 5/8" x regd. length bo Shackle, anchor
m Clamp, suspension do Bracket, insulated
ci Clevis, thimble, side opening
S Clevis, secondary, swingng, insulated
ek Locknuts, as required
d Wosher, square, 2 /4" NG £ ASSEMBLY GUIDE, VERTICAL GONSTRUCTION
} Screw, '_09: /2 x 4 30° TO 60° ANGLE, COPPER TYPE CONDUCTORS
0 Bolt, eye,5/8"x req'd. length WITH FORMED TYPE ARMOR RODS

Apr., 1983

M4l-1




Armor rods
and clips

% ANGLE ASSEMBLY "cd\  Cogek
ex

= N railroad fracks and limited
ﬁUTRAL AND SECONDARYNCGSS highways.
ANGLE ASSEMBLY ‘“ce"

. )
< .h"%‘.‘.-.-)
-4
I). '\

I'4

) ANGLE ASSEMBLY "cd"
with 2-bolt suspension clomp

cept at telephone crossings

/%EUTRAL AND secouom&
ASSEMBLY ‘“ce"
N except at crossings of

except at crossings of railroad tracks
and limited access highways.

M MATERIAL ITEM |NO. MATERIAL

c Bolt, machine, 5/8"x req'd. length bo Shackle, anchor

m Clamp, suspension do Bracket, insulated

s Clevis, secondory, swinging, insulated o aon,veye, 5/8" x required length
ek Locknuts, as required

Washer, square, 2 174"

Screw, lag, 1/2"x 4"

ANGLE ASSEMBLY GUIDE, VERTICAL CONSTRUCTION

30° TO 60°ANGLE,ACSR CONDUCTORS WITH
STRAIGHT OR FORMED TYPE ARMOR RODS

M4i-10

Apr., 1983




A
| I
! |
I | |
| | - PN
| / /i
N Lot ™7 LT
-q:r-f—ﬁ\\\;il ;", T (€=
vkt T~ i -
-)]' I ST See Note 2
| } Pigtail Down Pigtail Up
I
| : PRIMARY
! | DEADEND ASSEMBLY "ca"
{ | Note:
| : For solid conductors
: Lo use third connector at“x"
I : A in lieu of serving.
| l N:Il
p |z
—d::l-— - ——{<” B> 3= 0N AN ~ 3 T D Y
RN
|
I | J See Note 3
! | NEUTRAL & SECONDARY
! | DEADEND ASSEMBLY “cc”
D LSIZE OF CONDUCTOR A
il et No. 8D Copperweld - Copper 20"
No. BA Copperweld - Copper 18"
No. 6A Copperweld - Copper 20"
No. 4A Copperweld - Copper 22"
No. 2 Copper, 3- Strand 22"

Notes:

|.- For alternate method of deadending primary conductors, see
Drawing M 42 -21.

2 - Bend pigtail away from line conductor to avoid chafing.

3- Wrap free end of conductor along line conductor using some lay. Extend
one strand of free end (for copperweld- copper this is the copperweld
strand) against line conductor. Serve the other two strands six
turns each ond cut them off. (Always serve copper strand (s) first.)
Bend extended strand oway from line conductor and cut off.

ITEM | NO. MATERIAL ITEM{ NO. MATERIAL
| Clomp, deodend S Clevis, secondary, swinging,insui.
p Connectors, os req'd

|
i

IDEADEND ASSEMBLY GUIDE - DEADEND CLAMP METH,
| COPPERWELD COPPER & COPPER CONDUCTORS
i

 Apr, 1983 M42-3




Notes:

| /’l ~ |
A Lot T “;/ : /
— =gEmegeal G i~ C

y R \/
| : N N
! | PRIMARY
| | DEADEND ASSEMBLY
I l Ilcoll
l I
| o
| I
I l " . "
| | 1.7 min. 6

| Armfr Tape

! Y D S —

NEUTRAL AND SECONDARY
DEADEND ASSEMBLY "“cc¢"

l.- Armor tape wrapping to extend not more than two wraps beyond the mouth
of deadend clamp or spool insulator.

2. For 1/0 and*‘harger use spool of 3"min. groove diameter on neutral and
secondary deadends.

ITEM MATERIAL TEM| MATERIAL
[ Clamp, deadend
s Clevis, secondary, swinging, insuloted
bn Clamp, loop deadend

DEADEND ASSEMBLY GUIDE
DEADEND CLAMP METHOD

A.C.S.R. CONDUCTORS

Apr,, 1983 M42-| |




r=t-1

I '

I 1

{ I |

]

poo | A /

PR --J’"'}‘{ |r-~.- '

N R AN

. !

| ! PRIMARY

H 1]

b Deadend Assembly "ca'
e,

' di

! )

| t

] §

l l |

r! ! :l“ /

etz —_-_;'_:'- T e e T T T e T T T T S S S

RUEERE S

1 | -

! :

e

vl

s NEUTRAL

F-’. . Deadend Assembly “cb"

o I

| 1

I 1

b l

LS

.a'_ u'.v'"{' H

- -:_:‘ =3 L_'_'—_'_'t( égi—:— e T . e e e e e e e T — T

B RN

i |

| |

: ! : "'

bl YSECONDARY

R Deadend Assembly “cc"

NO. NO.
brew e MATERIAL brempedo MATERIAL

Clamp, deadend

)

DEADEND ASSEMBLY GUIDE
(LARGE CONDUCTORS)

Apr., 1983

M42-13




Note:
Item "by" may be substituted

-'| for item "cp" shown.
|
| | cp
| . \¢
| /;:.__'f" ! : "-r :{'\
P C A o !
SR S0 g SOV S
-4

\
4L " Minimum )

PRIMARY
DEADEND ASSEMBLY "ca"

==
NEUTRAL anp SECONDARY
DEADEND ASSEMBLY ‘“cc"
e MATERIAL MY MATERIAL !
s Clevis, secondary, swinging, ihsulaléd cq Sieeve, offset, splicing
cp Sleeve, deadend, compression
]

DEADEND ASSEMBLY GUIDE-COMPRESSION METHOD
COPPER TYPE CONDUCTORS

Apr, 1983 M42-2]




15" min. R
5" fi bv
!
. D /
B A A R I o SE R Bt S A A /2 = -z zz==ccz==:=
i >~ g A
'_‘:"ﬁ"" Top l Formed type tap armor rod
-
B TAP FROM PRIMARY LINE
'.r!'.--.-_--r:"h_ Note:
:JI ” To be used on existing construction where
k=9 full length armor rods were not installed.

TAP FROM NEUTRAL OR SECONDARY LINE
WITH CONNECTOR

PR
j l
| |
e fheen |
i I
| |
' ' type tap
| ’,‘,_:J TAP FROM PRIMARY DEADEND armor rod
~ r__\ WITH HOT LINE CLAMP
Notes: =1 Add third connectors at “X" for solid
| I copper conductors.
l. Arrangement | I X
shown on __..._... 1~ %
M42-1l may
be used for :
neutral and  L__k773 TAP FROM NEUTRAL OR SECONDARY
secondary deadend DEADEND

if preferred.
2. When installing armor rods on existing lines, both conductor and armor rods should
be wire brushed to provide clean contact surfaces. A corrosion inhibitor should be
applied before or immediately after brushing.
3. Taps to be slack.

| Size of solid conductor _LX
" No. 6 Copper |1 8"
| No. 4 Copper g_O"_
irem Ino. MATERIAL ~_limem [No. MATERIAL
P _Connectors, as required ' bv Top ormor rods, bronze
fi 'Connector, hot line, tap assembty ! i

TAP ASSEMBLY GUIDE
COFPPERWELD-COPPER AND COPPER CONDUCTORS

| Apr,1983 | ' M4&3-4




SEREEE: RS SRS NSRS A ISP So SN STt e B
o) (\ Use extra length armor
qf’:r Tap rods as specified for
”'_-T—-' double supports.
i
-gr-r—l- TAP FROM PRIMARY LINE
l
¥ WITH HOT LINE CLAMP
_Hl-__-_b-
r“<:>|

T oo EESENS AT AERST ﬁ‘i&i*&##ﬁjf“?

WATD G RN VA Do e
A A
NPy

- TAP FROM NEUTRAL OR SECONDARY LINE

sy WITH CONNECTOR
! 3" 5" fi bv
X -

TAP FROM PRIMARY DEADEND

= WITH HOT LINE CLAMP

For tap without hot line clomp omit
armor rods and extend pigtail.

-
- PN T~
R W e ERSETIDES

‘o “JAP FROM NEUTRAL OR SECONDARY DEADEND
otes:

I. On new construction, top may be made directly over armor rods provided conductor
is thoroughly cleaned aond inhibitor used before installing rods.

2. When installing armor rods on existing lines, conductor should be wire brushed
thoroughly and inhibitor used before installing rods.

ITEM | NO. MATERIAL ITEM | No. MATERIAL
p Connector bv Tap armor rods, formed type
fi Connector, hot line, tap .assembly

TAP ASSEMBLY GUIDE
A.C.S.R. CONDUCTORS

Apr., 1983 M43-10

(e



AN\

!

BI_ 0 "

May be placed

IA23

M52-3

Numbers ond letters shall:

a) be of cutout aluminum or electrogalvanized soft
steel, fastened to pole with galvanized or
aluminum barbed 1" round head nails; or

b) be either die stamped or printed with a
reflectorized background on individual pieces of
aluminum and mounted in an aluminum holder
and fastened to pole with aluminum barbed
round head nails. If numbers smaller than I-1/2"
are used, they shall be reflectonzed

Pole legends to be I-1/2" to 3" hi h Reflectorlzed
numbers and letters may be 1" to 3" high.

“CN"to be 2" high.

Pole to be staggered 30° from direct facing highway.
When line crosses highway or R.R., legend
should face same.

On poles having limited climbing space due to
special equipment, pole legend should be so
located as to leave climbing space quadrant
unobstructed.

mstead of as shown

NOTES:

TETE /j::;_: /-__%round Line

ITEM

NO.

MATERIAL

MATERIAL

az

Poie numbers and letters as required

ee °

Letters

"CN" with | nails

NEUTRAL IDENTIFICATION AND
POLE NUMBERING GUIDE

Apr, 1983 M52-3, MS2-4




TR
VC TN )
= ‘.

PN
X --,\‘
>

),

g
F2% 1!

A
Ve

iy
Y

oF
. A

Mey:

J
X
)

~ |

BEFORE CLEARING

CLEARING RIGHT-OF-WAY GUIDE

Apr,1983 |

Rl

U.S. GOVERNMENT PRINTING OFFICE :

1985 O - 476-160

Sarie cereame s - B T U e e e - —n




	Title Page
	Specifications for Construction
	Index of Construction Drawings
	Single-Phase
	A1-1, A1-1A
	A1,A1A
	A2
	A3
	A4
	A5
	A5-1,A5-2,A5-2A
	A5-3,A5-4
	A6
	A7,A7-1
	A8
	A9
	A9-1
	A22

	Two-Phase
	B1,B1A
	B1-1,B1-1A
	B2
	B3,B3A
	B4-1,B4-1A
	B5-1,B5-1A
	B7,B7-1
	B8
	B9
	B9-1
	B9-2
	B9-3
	B22

	Three-Phase
	C1,C1A
	C1-1,C1-1A
	C1-2
	C1-3
	C1-4
	C2
	C2-1
	C2-2
	C3
	C3-1
	C4-1
	C5-1
	C7,C7-1
	C7A
	C7-2
	C8
	C8-1
	C8-2
	C8-3
	C9
	C9-1
	C9-2
	C9-3
	C22
	C24

	Three-Phase Double Circuit
	DC-C1
	DC-C1A
	DC-C1-1A
	DC-C2
	DC-C2-1
	DC-C3
	DC-C4-1
	DC-C8
	DC-C25

	Single-Phase (Post Insulator)
	A1P, A1AP
	A1-1P, A1-1AP
	A2P
	A9P
	A9-1P
	A22P

	Two-Phase (Post Insulator)
	B1P, B1AP
	B1-1P, B1AP
	B2P
	B9P
	B9-1P
	B9-2P
	B9-3P
	B22P

	Three-Phase (Post Insulator)
	C1P, C1AP
	C1PL
	C1-1P, C1-1AP
	C1-3P
	C1-4PL
	C2-2PL
	C9-1P
	C9-2PL
	C9-3PL

	Three-Phase Double Circuit (Post Insulator)
	DC-C1PL
	DC-C1-3PL

	Guy Assemblies
	E1-1, E1-2, E1-3
	E2-1, E2-2, E2-3
	E3-2, E3-3, E3-10
	E4-2, E4-3
	E5-1, E5-2
	E6-2, E6-3
	E7-2, E7-3
	E8-2, E8-3
	E11, E12

	Anchor Assemblies
	F1-1 TO F1-4
	F2-1 TO F2-4
	F4-1
	F5-1, F5-2, F5-3
	F6-1, F6-2, F6-3

	Transformer Assemblies
	G9-, G65-, G105-
	G10-, G66-, G106-
	G39-, G67-, G136-
	G210-
	G310-
	G311-
	G312-

	Secondary Assemblies
	J5 TO J12

	Service Assemblies
	K10, K11, K14
	K10C
	K10L, K11L, K14L
	K11C, K14C, K15C
	K16C, K17L, K17

	Miscellaneous Assemblies
	M2-1, M2-11
	M2-2, M2-12
	M2-2A, M2-12A
	M2-2A2, M2-12A2
	M2-3, M2-13
	M2-7, M2-17
	M2-9
	M2-15
	M2-15A
	M3-1A, M3-4
	M3-2A, M3-3A
	M3-3B
	M3-10, M3-41
	M3-11, M3-12
	M3-11A, M3-12A
	M3-15
	M3-23
	M3-23A
	M3-24, M3-25
	M3-24A, M3-25A
	M3-30
	M5-1 TO 8
	M5-9 TO 16
	M5-17 TO 23
	M5-24 TP M5-26

	Voltage Regulators
	M7-11
	M7-13

	Metering Assembly Guide
	M8
	M8-6
	M8-9
	M8-10
	M8-11
	M8-12
	M8-15

	Capacitor Assemblies
	M9-11
	M9-12, M9-13

	Guide Drawings
	M19
	M20
	M21
	M22-1
	M22-2
	M24
	M24-1
	M24-10
	M26-5
	M27
	M27-1
	M27-1A
	M27-2
	M28
	M29-1
	M29-2
	M30-1
	M30-2
	M40-11
	M41-1
	M41-10
	M42-3
	M42-11
	M42-13
	M42-21
	M43-4
	M43-10
	M52-3, M52-4
	R1


